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���������7 6��	6
 
��6�������� 
��8� �� ���� ���4��� !���,
�	���	6
� �� �����	 � ���
��
���	 ���6��� ���� ��	�	 ����������� 
��9� ��5�	

�6�94� � 
���9�������
 �	� 
����� �����4��6 ���:	 
���������7 ��������	
���
���;���	�� 6��	6
 ����
 < =��	
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� ���	�������� �
$�$ ��������� �	���� ��8��6���� � � � � � � � � � � � � � � � � � � � $

$�$�$ A����
��� 	����
�� ���
����� � ��8��6���� ����	6�� � $
$�$�& ����4 ��6
��������� � � � � � � � � � � � � � � � � � � � )
$�$�0 ���	6��>7 �����	��	9� ����4
 ��6
��������	9� ����

���	���	��	 � ��������
 � � � � � � � � � � � � � � � � � '
$�$�) ����4 B�
������� � � � � � � � � � � � � � � � � � � � � /
$�$�' ����4 ��	�������
�� � � � � � � � � � � � � � � � � � � � $%

$�& �������� �	���� ��8��6���� � � � � � � � � � � � � � � � � � � � $C
$�&�$ ?���� �������	 � � � � � � � � � � � � � � � � � � � � � � $/
$�&�& ?���� B�
�������	 ���� 8��6����6 6���	��� ����������� &&
$�&�0 ���	9��� 
����������� 	�	6	��5� �
�������� � � � � � &)
$�&�) ���	9��� 
����������� ���� ����5� B�
��������� � � � &D
$�&�' ����4 �������� � � � � � � � � � � � � � � � � � � � � � 0%
$�&�D ���	��4���	 ��8��6���� ��������	� ����4	6 ��������6 0D

� ������
�� ��������
� �	���

��� � ������
� ���������
� � 
&�$ .��������>7 ������5� 
��	6��>�� � 6���6���	� 	����
�� ���,

>��� � ����4��� ����������� � � � � � � � � � � � � � � � � � � � ))
&�& B���	 ��������	 ���� ��6���� �
������� � � � � � � � � � � � � '%
&�0  ����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � '$

&�0�$ E������6�� �������� ��������� � 	�	6	�������� 
���,
�4����� ����45� � � � � � � � � � � � � � � � � � � � � � 'D
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�

&�0�& F�	���>7 ��	��������	9� ��
6
� ��	�� 8��6
4� �	���,
�������� ������� � � � � � � � � � � � � � � � � � � � � D&

&�0�0 ���� ���������6 ���	6��	6 9���	9� ���������� �
4��
�
������� ��	����������	9� � � � � � � � � � � � � � � � � D/

&�0�) ����4� � ��	��6� �������6�� �

	����������>7 �	,
9
���������	9� ������
 
��	6��>�� � � � � � � � � � � � C/

&�0�' ε , �

	����������� ε⊗ ε� ε� � � � � � � � � � � � � � � /%
&�) F�����	 
������ � � � � � � � � � � � � � � � � � � � � � � � � � � /C

 � �����! �����������" # �$��� ������
�� � ������
� %�"�#
������
� &'
0�$ E����� �������>�� � ����������� ��	�������
���� ����4��� B�
�,

�������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � (%
0�& ������>7 �����6���� ��� ��8��	�5� 6��
��������� � � � � � � � ($
0�0 ��6��� ��6������� � � � � � � � � � � � � � � � � � � � � � � � (0
0�) B���	 ��������	 � �6�	����� ���94��� � � � � � � � � � � � � � ()
0�'  ����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � (D

0�'�$ G��	���� ������� 4�6���	 ������ �������>�� � ��������,
��
6� � � � � � � � � � � � � � � � � � � � � � � � � � � � � (C

0�'�& =�	������� ����5� �������� � 
�����>7 �����6�����

���
������	 �����5���	� ���9� �� 4�6���� ������ ��,
�����>�� � � � � � � � � � � � � � � � � � � � � � � � � � � $%)

0�'�0 ?��	6�� 9���	9� ���������� ��	�	���
������
���6�� �
6������ � � � � � � � � � � � � � � � � � � � � $%C

0�'�)  
4�� ��
6
� ��� ���	�� �� 	��
	��6	��5�H � � � � � $$$
0�D F�����	 
������ � � � � � � � � � � � � � � � � � � � � � � � � � � $$D

� (������� ����" �������)� �� ����
�" �����" Γ ��'

����"������� �� 

*��	��)��+� ��,
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�

log ≡ log2 < ��9����6 
��� 
�������	 2

ln < ��9����6 ���
�����

i < �	������� 
������

R < ���5� ����� ��	����������

Sp(2n,R)<���5� 6���	��� ��6
�	��������� ���6���
 2n×2n � 	�	6	�����
��	����������

f ◦ g < �4�:	��	 8
����� (f ◦ g)(x) = f(g(x))

[M ]i,j < 	�	6	�� 6���	��� M �����
���� ��� �� 
��	�����
 i,�	9� ��	���� �
j,�� ���
6��

X < �6�	��� ������

pX , pX,Y , pX|Y < ����4��� 
�����
�����	;����� 
�����
�����	;���� 4���,
�	9� � 
�����
�����	;���� ���
����	9� �����	����� �6�	����� ��,
������ X, Y �
� ��
���	���	 9����>�� ����4��5� 
�����
�����	;����
��� �6�	����� ���94���

px = P (X = x) < 
�����
�����	;���� �����	���� :	 �6�	��� ������ X

����6�	 �����>7 x

E(X) < �����>7 >�	���� �6�	��	� �����	� X

σ2(X) = E(X2) < ��������� �6�	��	� �����	� X

Fn < n,	�	6	����� ����4�� �	��������(
n
m

)
= n!

m!(n−m)!
< ��6��� 3	�����
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������ � ��������

(
n

m1,...,mw

)
= n!∏w

i=1 mi!
< 
�95������ ��6��� 3	�����I

���4��� ���� :	
∏w

i=1mi = n,mi ∈ N+

ΓA,ΓB,Λ < ����4� ��6
��������	

Si < ������� � �
6	��	 i

E = {Si}ni=1 < ���5� ���������� ������5�I 9���	 n �� ������ ������5�

R < ��������

XA
i < �	�>��	 ����4
 ΓA �����������	 
��	� i,�	9� �������

xAi < ��6��� 
��	��4��� 
��	� ������� i 
��	� ����4 ΓA

XS = {Xi}Si∈S < �	�>��� ����4
 �����������	 
��	� ������5� ���	:�����
�� �����
 S

xS = {xi}Si∈S < ��6���	 
��	��4��	 
��	� ����4 
��	� ������5� ���	:�,
���� �� �����
 S

Wji < ��6
����� j �� ������� i

Y A , ���>��	 ����4
 ΓA

AWi
< ���5� ��6
�����5� 
��	��4����� 
��	� ������� i

AXi
< ��8��	� ��6���� �	�>������� ����4
 �����
���� ��� ������� i

AY < ��8��	� ��6���� �� ���>��
 ����4


H(X), H(X, Y ), H(X|Y )<	����
�� ��������� 1?�������2� 	����
�� 4�����
���� 	����
�� ���
�����

S(ρ) < 	����
�� �������� 1#�� 3	
6���2

g(ρ) < 	����
�� ����
 B��������	9�

I(X : Y ) < ��8��6���� ����	6��

χ < 
��	6��>7 !��	#�

C < 
��	6��>7 ���������



��

C(n) = 1
n
C < �	9
���������� 
��	6��>7 ���������

R < ������ 
��	6��>�� ��������	�
R(n) = 1

n
C < �	9
���������� ������ 
��	6��>�� ��������	�

R̃ < ������ 
��	6��>�� ��������	� 
������� ��� �����	9� ����4��
 
���,
��
�����	;���� ��6���� �	�>�������

R < 
�����>7 �����6���� ����9��� � ����6 
�������	

Ri < �������
���� 
�����>7 �����6���� ����9��� � ����6 
�������	 
��	�
������� Si

RS =
∑

i∈S Ri < ����	���� �
6������I S ⊆ E ������� �
 
�����5�

������5�

RT =
∑

i∈E Ri < 4����� 
�����>7 �����6����I E �� ���5� ����������

������5�

Q < 
��	6��>7 ��������
P < �9������	��� �� >�	���� 	�	�9�� ��6���� �	�>������� 
���
������� ��
�	��� 
:���	 ����4
 1�9������	��	 �� >�	���� 6�� �� �	�>��
 ����4
2

H < 
��	����	; !���	���
⊗ < ������� �	�������
|ψ〉 < �	���� � 
��	����	�� !���	���
〈ψ| < �	���� �
���:��� �� |ψ〉
〈ψ|φ〉 < ������� �������� �	����5� |ψ〉 � |φ〉
{|0〉, |1〉, . . . , |n〉}< ���� ����������� � n ��6�����	� 
��	����	�� !���	���
|ei〉� |fj〉 < �	����� � ���� ����������	�
X, Y, Z,A,B < �
	������ � 
��	����	�� !���	���

X† < �
���:	��	 !	�6�������	 �
	������ X



��� ���
 
������ � ��������

��X < >��� �
	������ X

��AX < >��� ���>����� �
	������ X 
� 
������	6�	 A

U < �
	����� 
�������

W < �
	����� 
��	�
������ 1�
	�����  	���2

I < ��	�������>7 1�
	����� ��	�������>��2

{σX , σY , σZ}, {X, Y, Z} < 6���	��	 ��
��	9�
σi ∈ {I, σX , σY , σZ}
Ei < 	�	6	��� �	
�	�	������ ���
���

|ψ+〉, |ψ−〉, |φ+〉, |φ−〉 < ����� J	���
ρ < ���� 6�	�����

ψ, ei < 
���	����� �� ���� |ψ〉, |ei〉
{pi, |ψi〉} < 6�	������� ����5� ��������
a†, a, N = a†a < �
	������ ��	����� ���������� ���� ������ 8����5�

|α〉 < ���� �
5���
|ξ〉 < ����� >��>�����
|ψr〉 < ���� >��>����� ���4
: �����	� �������
��
γ < 6���	�� ����������� ����
 B�
�������	9�

d < 
��	�
�����	 ����
 B�
�������	9�

X < �����8��6���� �	����� 
��	�
������ ���������� 
��	� ����4 B�
�,
������

Y < ��
6 �
��������� 
��	� �������� ����4 B�
�������

��� < �	������� ���>�� ��8��6���� 6�	����� 
��� 
:���
 ��9����6
 ���
���,
�	9�I 1 *���- = log2 e *���5�-
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K	6����� 
�������� � �	� ���
����	 �����:�; �
��
�	 ��� � ��
�����������
� ������ LD% �
�� ����;� ��������� ������������� 
�4��5� ���������� ����
��>���� ��8��6���� ��������	�� 3����:��	���	 
������ �������	 � �	� ���	���,
��	 ������� ���>�� ��8��6����� ���� ��������7 6�:�� � ����� 
�4��
 ����,
���	9� *D'-I 	8	�������� �
����5� ��������� � ������������ �	� ��8��6����
*'$� '0� C'- ���� 
��	6��>�� ��������	� C ����4
 �������	9�� ����� 6����,
6���	� 
�����>��� � ���� 6�:�� 
��	��4�7 ��8��6���� 
��	� �	� ����4� M�5�4�
��6�	������� ��:	� 
���; ����	N7 6�:�� � ��9����	����� ����������� ���
��	6��:	 �	�
�>�	���� �� ���������; 
��	6��4����� ��� �
� ��������	 ��,
8��6���� ��������	� � ����� �
5��	 >����4� 	6������	 
��	� ���	� *)D� C/-
���� �����6���� ��8��6���� 
��	� �
�����	 ����4� ��6
��������	 *D$-� J�,
9��� 
��	9��� ��9����	; ���� �	�
����5� � ����	�
 �������	� ��6
�������
����	N7 6�:�� � 
���� *(%-�

����5� �������	� ����� ��6
������� 
��������4 ��� �� �8��6
4������ ��,
���� ��	���>��� 
��	6��>7 
������� P *&$� 0)-� ���	>������ 6����6����

�����>7 �����6���� 
��	� ����4 � 
���
���
� 9�� ��6
����� �	�� 
�����

��	� �����	��	6 ���� 
��	6��>7 �������� Q *$'- �������� � ���6���	6

��	����	�� !���	��� ����5�� ��5�	 6�:�� 
��	��4�7 �
5���	 
��	� ����4� G�,
���
 �� ������ �����5� � 
������ ����5� ��	������������ ��� �
� ����� >��,
>����	 >����4� ��� ����� �
�����	� ���4 ��� �6

��	6 ��� �����:�; ��� ��6�
��� 6�:���	 �	�� 
��	�����	��	 8
���6	�������� �9������	; ��� ����; ��6
,
����������� �8��6
4������� �� ����	 ��������	� �	���� ��8��6���� *($� $&� ''-�
G� ����	95���	 �����9
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�� �6�	��	� �����	� X � ����4����	 �	��������6 ��� �����	6 m,
	�	6	�����6 ������ H(X) = m logm�
������	 	����
�� ?������� 6�:�� �����	���7 �� ������� ������ �6�	�����

���������

-�+��
�� �.� !
��� X, Y, . . . �2�4 ����
�	���
 3�
�����
 �������
 � ,4�3�
��� 
�3�,��3
� �
���������
�5�	�� pX,Y,...6 19��3�� ��	
��
� ,4�3�� ��
�8�
�
2 *����

H(X, Y, . . .) = −
∑

x∈AX ,y∈AY ,...

pX,Y,... log pX,Y,.... 1$�&2

A����
�� 4����� ����9� �����>7 6����6����� 9�� �6�	��	 �����	 X, Y, . . . ��
��	���	:�	�  4����>7 �� �� �
����������>7 	����
���  ���:� ��� ��� 8��6
4��

H(X, Y, . . .) ≤ H(X) +H(Y ) + . . . . 1$�02

������� 	����
�� 
������ �5���	: �4����>7 ����	� �
����������>��� G�� ��,
������� ���	�� �6�	����� �������� X, Y, Z ���������

H(X, Y, Z) +H(Z) ≤ H(X, Y ) +H(Y, Z). 1$�)2

?�

6� ��� �	��� �� 
���
���
 ��5�� �6�	����� �������� X, Y � A����,

�� 4����� H(X, Y ) 6�	��� ��4������ ��	
	���>7 ����>��	 �����>�� �6�	�,
���� �������� X, Y � A����
�� �6�	��	� �����	� Y � �	>�� ����� �	�� �����>7
�6�	��	� �����	�X = x� ������H(Y |X = x) =

∑
y −pY |X=x log pY |X=x� ?��,

�
��� �� 
�����	 6�:�� �
�������7 	����
�� ���
������ ��5�� 6�	��� >�	����
��	
	���>7 �6�	��	� �����	� Y 
��� ����	� �����>�� �6�	��	� �����	� X �

-�+��
�� �. (�	
��
� ��
������ 3��:�
����� *��	 �3�
���

H(Y |X) =
∑
x∈AX

pxH(Y |X = x) 1$�'2

= −
∑

x∈AX ,y∈AY

px,y log py|x, 1$�D2

��3
� px *��	 �
3������ 
�3�,���� �
���������
�5�	�� 3�
����* ������* X6



���  ��
����� !����� ��"�����#� $

 ����>�� �6�	��	� �����	�X ���������H(X) ���5� ��8��6���� � 
���	 �6�	�,
���� �������� (X, Y )� A����
�� ���
����� H(Y |X) ����:�� ��	 ��8��6����
����
�	 �	����	 �� 
	4�	9� ���	>�	��� �����>�� 
��� (X, Y )� S��� �	� 6�:��
��
���7 ����	6�

H(X, Y ) = H(X) +H(Y |X). 1$�C2

G����
 �� ������ ��8��6���� �6��	���� ����� ��	
	���>7 ����>��	 �6�	��	�
�����	�� �� 8��6����	 ����:� ��� � 
�������

H(X|Y Z) ≤ H(X|Y ), 1$�/2

9���	 X, Y, Z �� �6�	��	 �����	 � 4�����6 ����4����	 
�����
�����	;����
px,y,z�
P��>7 ��8��6����� ���� ��	��	 �����>7 �6�	��	� �����	� X � �����>�� Y �

���� �	�� 
��	� ��8��6���� ����	6����

-�+��
�� �.� )���
���*� �3�*���� �
2�3� 3�
�����
 �������
 X 
 Y ���

�8� �
2 �3�
���

I(X : Y ) =
∑

x∈AX ,y∈AY

px,y log
px,y
pxpy

. 1$�(2

P�8��6���� ����	6�� ���	>�� �	�
���� ��	
	���>�� �6�	��	� �����	� Y ������
�����6�>�� �����>�� �6�	��	� �����	� X � �����

I(X : Y ) = H(Y )−H(Y |X). 1$�$%2

P�8��6���� ����	6�� �
	4��� �����

���� �	9
4� 4�;�
������

I(X, Y : Z) = I(X : Z|Y ) + I(Y : Z), 1$�$$2

9���	 I(X : Z|Y ) = H(Z|Y ) − H(Z|XY ) �� ���
����� ��8��6���� ���,
�	6���
.����9�	6 
������ 	����
�� ��� ���94��� �6�	����� �������� �	�� 	����
��

�5:�������

-�+��
�� �., (�	
��
� 
98�
���� �
4�,�* 3�
����* ������* X � �2�	�-�
 
�3�
�,��� �
���������
�5�	�� px ��� 3�
�
�� AX �� ���	�.�

h(X) = −
∫
AX

px ln pxdx. 1$�$&2

���������	� 
��	���� 	�
� 
��������� 
����������� ���� ������� ��� ��
���� ����� ���
������	� 	��� 
������ �������	 ��
�
�	 Y � 
������� X



% ������������

A����
�� �5:������ ��� m ��6�����	� �6�	��	� �����	� � ����4����	 ���6��,
��6 � 6���	��� ����������� γ �������

h(X) = −
∫ +∞

−∞
dmx̄px̄ ln px̄ =

1

2
ln 2πe det γ 1$�$02

������� �5:�����	� 	����
�� 4����	�� �5:�����	� 	����
�� ���
����	� ���� ��,
8��6���� ����	6�	� 6�:�� ��	O�����7 ��� ���94��� �6�	����� �������� �
�
��5� �����9������ ��� 6� �� 6�	���	 � 
���
���
 �6�	����� �����	������

����� �
�
� �����	�
�����

 ��6 
����������	 
�������6� ��� 
���	���� ��6
������� 
�6����� �������
1.�����2 � �������� 1J��	62� �	�	6 �	9� 
���	�
 �	�� �	��4���	 
��	����,
��	 ��6
�����
 �� ������� �� �������� � 6�:	 �� ��4���7 ��� � ����
 	��,

5�� ��:�� � 	��
5� ���
������ ��� �� ����������� ��6
�����
 � �������
��	���>7 O������ X 1�
� ����:	��	 
��� 	�	����6�9�	�����	9�2� �� ������,
����
 �����

�	 
��	��������	 ��9��4
 �� ������� �� ��������� �� ���:	
��� � ���	>����6 ��������	6 O������6 1�
� 
��
�9���� 8�� 	�	����6�9�	,
��������2� ��5�	 �	���
�	 � 8��6�	 ������������ 
�6����� X � �����6���

��	� J��� ��	���>��� Y � 3� 
�������	 �����>�� Y � J�� ����� ��� ���	>��7
���� ��6
����� ����4� .������ ����	� O������ ������� �� 
��	������	6 ��,
9��4
 6�:	 �
�������7 ��	�����������	 � �����	 ���45�	��� 1�
� ���45�	���
���������	 � 
��6�	�������� �4�� ���
�������	 8��� 	�	����6�9�	�����	� ��

��	��������2 �� 
������� �� ���	�����4�	��� ��6
�����
 ��	����	9� 
��	�
J���� �	>�� .����� � J�� �9������ ��� ����>��	 �� �	9� ���� ��6
����� �����4
������� �5����� ��6
������� ��;��� ��� �
��	�	6�

0���, �����
����*�� �	�� 6��	6�������6 6��	�	6 ��	�	�	�6��������,
�	9� 
���	�
 
��	��������� ��9��4
 O�����	9� �� .����� �� J����  ������

��	� .����� ���5� ��9��45� ������� ��8��	� �	�>����� AX ����6���� �������
��5�	 6�:	 �����6�7 J�� �� ��8��	� ���>����� AY �  ����>7 ��9��4
 x 
��	,
��4��	9� 
��	� .����� �� ������ ��*-�
���� �����>7 y �����6��� 
��	� J���
�� ������ ��*-�
����  
���� �����:��	 �� ����� 
���
���� ��6
������� �
�����	 �����	���6� ���� ����	 � ��5���� ������ 
:�7 ����4
 � ��4�6 
���	��	
��6
������� �	�� ���;������

-�+��
�� �./ 0���, �����
����*�� Γ : AX �→ AY 	� ���3�
����
� �	�����
�	��3�� ��
���� �
3�3 	
9*�2� (AX ,AY , py|x) ��3
� AX *��	 ������	�� ��*-�
��
���7 AY *��	 ������	�� ��*-�
���� � py|x ��
�-�� �
���������
�5�	�� �	
3��



���  ��
����� !����� ��"�����#� &

���
� ������� y7 *�-�
 ������ 3��	�, ������ x6 pY |X ��3���. �2�3
��� �
���
�������
�5�	��� �
3�*-�
�6 0���, ��3����� ��3���
2�
����7 *�8��
 �
���
�������
�5�	�� �	
3����
� �� ��*-�
� ������� y �
� 3���8� �� 	���7 *��
�
������� ��,� �
3���,��� ����3�� ���
3���
�� �8�. ����,�6 ;�-�
 AX �
�3 AY

�4 3�
�
��
 ���5�3����
7 	� ����, ��3����� ����,�� ����
�	��� <����,��
� 3�
������ ����
�	����=7 *�-�
 ��	��
��	 AX �
�3 AY �4 
3���
:�3�� 3�
3�
�
�� �
�3� 
3��3��
�	��� R7 	� ����, ��3����� ����,�� �
4�,�� <����,��
� 3�
������ �
4�,���=6

-�+��
�� �.0 !
��� ΓA,ΓB �2�4 ����,��
 ��3���
2�
����
6 AXA7 AXB 	�
������	� ��*-�
���7 AY A7 AY B 	� ������	� ��*-�
��� � pY A|XA, pY B |XA 	�
�
���������
�5�	�� �	
3����
� ��
�-������ ������� ��*-�
����� �
3� 3��
����� ������� ��*-�
���� ��� ��8���� 3 ����,9�6 ��,4�3��
� 
9������,�
ΓA ⊗ ΓB ����,9� ��3���
2�
����� 	� ����, � ���	��
�

ΓAB = (AXAB = AXA×AXB ,AY AB = AY A×AY B , pY AB |XAB = pY A|XApY B |XB).
1$�$)2

 	�>��	 � ���>��	 ����4
 ΓAB �������� 
��� �4�:��	 ��
���	���� � ��6,
���� �	�>������� � ���>������� ����45� ΓA ���� ΓB�  �	O����� ���4���6��
:	 
������ 
���	�
 ��6
������� ������� ��	 ������	 :���	� ��8��6���� �����,
�	� �� ��������� ��4���	��	 �5����	94	 n ��
�� �	9� ��6	9� ����4
 Γ �����	
��������	 
��	� Γ⊗n�

��
����� �.� 1�
����3��� �
3�� ���
�4 ��*2�
� �8�*��� �� ��
�� 	
����
�
�*
 �����,� �
��
���� �
3�3 -�
�	,��9� *����������6 >�,�� 	��
 ��8��
��������. 3� �����4 ����,� �
��
���� ?"@A6  �����	 ��*-�
��� 
 ��*-�
���
�� � 	�� �
3������ ���	�. AX = AY = {0, 1}6 0���, *��	 ����	
��3���
3 �
���������
�5�	��� 1 − p 	
����
�*� �
3��
��� ��3�,2��
� 
 ����, 
���
�
3�*� ���3�
����
� y = x7 ��	��
��	 3 �
���������
�5�	��� p ����, 3��
�
��
� ������ �� �
3��
��� y = 1− x6 1 �
3������ 	
����
�*
 3 �
2���-�
4
10[Gbit/s] �� ���
��� 100[km] �����
� ��
4�� �
2 �
���������
�5�	�� �,2�� p
�� ��3
��
� 10−207 ��	��
��	 �� ���
��� 160[km] �
���������
�5�	�� �,2��
�3
��	� �� 10−2 ?&BA6

����� ��������� ��������� � �
�
�� �����	�
����� �

��
� �
	������	� � ����

�	�

K����6���� 
��	� ��	�	�	�6���������� ����4 ��6
��������� 6�:	 ����;���7
��� �
��	�	6 < �������� 1J��2 ���� ������� 1.�����2 �9������ ��� �� �� �	9�
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���
�	� $�$� ?��	6�� �����6���� ���������	9� ��6
�����
 W 
��� 
:���

n ��
� ����4
 Γ� ��6
����� ��	�������� 
��	� �������� �� Ŵ � ?����4��

����
�� ��	�
�	� �����6�����

���� ��6
����� �����4 
��	�4��� 
��	� ����4 < �
� ��	
�����	��	6 < ��

�������	 ��	����	9� ��9��4
 J�� ������ :	 .����� ���4�4� ���� ��6
�����
��: 6��4� �� 6�	���	 � ��	��������>��� �	�	6 .����� � J��� �	�� 6���6��������

�����
�����	;���� ����	9� �����	���� F���9��� �� 
�
��	� �����������	

���	�
�� �������	� ��������	6 1
��5���� *&'-2�
3�	�� AW = {Wi} �����	 �����	6 ��6
�����5�� ��5�	 6�:	 
��	��4�7

�������� ���6��� �����
 AW ������ M � E��4���6�� :	 ��:�� � ��6
��,
���5� �	�� 
��	��4��� � �5���6 
�����
�����	;���	6� K����6���� ����,
�����	9� ��6
�����
 ������ ��� 
�
��	� n ��
� ����4 Γ � ��4��� ��� �
�����

������ 	��
5� 1
���� ���� $�$2�

$� F����������	 �� 
�6��� 8
����� ���
���	� f : AW �→ AX⊗n ��6
��,
���
 ������� � n 	�	6	����� �	��	���� ��6���� �	�>������� ����4

Γ� ?	��	���� f(Wi) �� �,��� ������� E��5� ���������� �45� ��������

:������� 
������ �����6���� ������ �,���
� ������ � ���6����	 M �

&� K����6���� �4��� �����	9� 
��	� ����4 Γ⊗n�

0� G	��������	 �� 
�������	 �	��	���� ��6���� ���>������� ��6
�����

�	�>����	9� �� 
�6��� 8
����� g : AY ⊗n �→ AW �

���	� 
������
�	��	6 �� �����6����� ���	 ������ 
������� 
����7 8
����� f, g
���� �����
 ��6
�����5� AW �



���  ��
����� !����� ��"�����#� (

-�+��
�� �.& 0���� (M,n) ��� ����,� Γ ��3����� 	
9*�2 3,�8��4 3 (f, g,AW )6

?4����� ������ ���	>�� ���
����� ����4�� 
�����
�����	;���� ��6,
���� 
��������� �� ���>��
 Γ⊗n � 
���
���
� 9�� ������ ��6
�����W � �	,
�	6 ��������	 �	�� 6���6�������� 
�����
�����	;����� :	 � �����
 �����,
6���� ��5�� �5:���� ��6
�����5� �����6�6� ���� ��6� �	��	���� ��6����
6� ���>��
 Γ⊗n� �	� �	� ����9��� �	�� ������ ���6������>�� ��8��6�����	�
���
� ���6��� �4������ �����	9� �	�� 6��	���� �� ������ ���������� �	��	�,
���� ��5�	 6�:�� 
��	�4�7 
��	� ����4 Γ⊗n� � �4��� �����	 �� �� ��	��	 ��
���	 ���	94	� :	 
�����
�����	;����� �: 
������ �����6���� ��� �4��� �����	
������� 
��	�����4���	 � ���� ��6 ���9 ��6���� �	�� 6�4	�

-�+��
�� �.' �
2���-. 	
����
�*
 R ��� ���� (M,n) ���� *��	 �3�
���

R =
logM

n
?�
	9� C ��*���5�3� �8��
� ����,�A. 1$�$'2

-�+��
�� �.�1 ���������� �
���������
�5�	�� �,2�� λ(n) ��� ���� (M,n)

 ����,� Γ ��
�-�� ��
��,��

λ(n) = max
W

P (g(Γ⊗n(f(W ))) 
=W ), 1$�$D2

��3
� ��������
3��*� ������ �
2 �� ��,�� 3�
�
3� �����
��	9�6

λ(n) �� 6����6���	 
�����
�����	;���� �����	���� :	 �������� � �������
��	 �9������ ��� �� �� �	9�� ���� ��6
����� �����4 
��	�4����

-�+��
�� �.�� �
2���-. 	
����
�*
 R *��	 ��
4����� *�8��
 
�	�
�*� �
4� ���
�9� (2nR, n) 	��
��7 8� ���������� �
���������
�5�	�� �,2�9� λ(n) → 0
�
�3 3 n→ ∞6
 �	���>��� �������	���
���� ����4 ��6
��������� �	�� �	9� ��*����-. 
��

��
����*�� C�
-�+��
�� �.�� ��*����-. ����
�	���� ��3���
2�
����� ����,� �����
���
��*���� ���� *��	 �3�
���

C(Γ) = max
pX

I(X : Y ). 1$�$C2

)���
���*� �3�*���� I(X : Y ) �
�3��� *��	 ��� 
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���� ���5� �������� ����9������� ��,
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6 �	�6����� � ����������� � ������������� 
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��	 	�	����6�9�	�����	 �4� ��
� ����4� B�
�������	 ��	 
�������� �� �
��
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 9�� ��9��4
6�:	 
����6���7 �����>�� � 
	��	9� 
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 Γ : AX �→ AY 7 ��3
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B�� AY = R� ������� 6�:	 �����7 �������	 �
:� ��8��	� ��6���� �	�,
>������� ���
������� �� ��	��	 �������	 ���	��� ���� ���;�����6 
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6
 σ2

szum� 
�����
�����	;���� �4���	� ���	�
�	����� ��6���
 �� ���>��

����4
 6��	�	 �� �	��� ��	9� �	�
����	6 �	�� ��	���;����� 
��	6��>7 ��,
��4
 1
���� ��� 1$�$C22� .�� ����7 O�����	 �����	��	 
��	6��>�� ����4
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�������	9�� 6
��� ���	6 �����7 ��4�:��	 
	��	 �9������	��� �� ����4��

�����
�����	;���� ��6���� �	�>�������� �����	����	 ����
�	 ��� �9����,
��	��	 P �� >�	���� 6�� 1>�	���� 	�	�9�� 
���
������� �� 
:���	 ����4
2
*&'-�

P : σ2(X) ≤ σ2
we. 1$�&$2

F9������	��	 �� 6�:�� ���
6�	7 ���� >�	���� ���>7 	�	�9��� ��5�� �������
6�:	 ����������7 � 
���	��	 ��6
������� 1���>7 	�	�9�� ����������	� 
��	�
	�	��������2 �
� ���� ������6�4�>7 ����4
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��	�����	��	 �9������	��� ��
>�	���� 	�	�9�� 6�:	 
�������7 �� �������	��� ����4
2� ���	6��>7 ����4
 Γ
� �6�	����� ���94��� �����	6� ���� ���
6�	�� �����

C(Γ) = max
pX :σ2(X)≤σ2

we

I(X : Y ). 1$�&&2
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1 +

σ2
we

σ2
szum
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E(X) = 06

P����� SNR = σ2
we/σ
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 ����45� �����	������ ��������	 (M,n)� ������>7 �����6����R ��� ��,
������� (M,n) ���� ����9����>7R� ��������	 6
�� �
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�� �� ��� P : σ2

we7 �
2���-. 	
����
�*
 R *��	 ��
4����� *�-�
�

R < C(Γ). 1$�&)2

!
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 ��	���������� ���,
�	6���� ��� �
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� �	��
����	��3�� Γ : AX1 × . . . ⊗ AXn �→ AY 7 ��3
� AXi

*��	 ������	�� ������
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43���� 3 ��*-�
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3�3 ������2 Si6 F����*� �
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���������
�5�
�	�� pY |X1,...,Xk
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})6 fi 	� �����*� ����*4�� ������� Si � AWi
	� 3�
9


*��� �����
��	9�6 F�3�
�
 3�
�
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(f1(W1), . . . , fk(Wk))7 ��3
� Wi *��	 �����
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λ(n) = max
(W1,...,Wk)

P (g(Γ⊗n(f(W1), . . . , f(Wk))) 
= (W1, . . . ,Wk)), 1$�&'2

�
3� �3�� ����
��� �
�3��� �� ��3��	�
�� �������*��� (W1, . . . ,Wk) ∈
AX1 × AX16 G�
9.�� ����27 8� �,4� ����3�� 	
����
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 ���	2��*� �	���7
��� �
3���*��
�* *���� �����
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� ���������� �
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���
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E ���	6 ({Mi}, n) ���:	 ��� �	���� 
�����>�� �����6���� (R1, . . . , Rk)� 9���	
Ri = logMi/n� �	9� ����9����>7 �	O��
�	 ��� �����9�����	� ��� � 
���
���
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-�+��
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′
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�����
� �3
����

�
� �3��� �3���3� ����2 �
2�3� ��������
 S1 
 S27 8� ����3�� �
�
��3���
t1 �8�. ����,� �2�4 ��
3��	��
 3 ���� �
�
��3���7 �
3�3 ���	2��� t2 3 ����
�
��
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α)R′

1, αR2 + (1− α)R′
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F����� 
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����� � 
������ *&� DC-� ����:	�� ��� �	����� R ∈ Rk ����
,
�	6� ���5���� ������� RS =

∑
i∈S Ri� 9���	 Ri �� 	�	6	�� �	����� R �

S ⊆ {1, . . . , k}�

2�����
���� �.� <H �������
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S 3�����3
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RS ≤ I(XS, Y |XSC), 1$�&D2
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 ������5� S
�
	4����	 �� ��	�5���>�� *&'-�

RS ≤ I(XS, Y |XSC , Q). 1$�&C2

3� 6��� ���	���	��� ������	�����	9�� �6�	��� ������ Q 
����6
�	 �����,
>�� q ∈ {1, . . . , k + 1}� E6�	��� ������ Q 6�:�� ���	�
�	����7 ���� �����
������������ 
���	�
�� ���	�	��� ����
�  �	���>7 RT =

∑k
i=1Ri ��������

�	�� ��4������ 
�����>��� �����6�����
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���
 ����4
 � ���6� �������6�� ��	�5���>�� 1$�&D2 �	�
�
��

��	 �� 
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R1 ≤ I(X1 : Y |X2) 1$�&/2

R2 ≤ I(X2 : Y |X1) 1$�&(2

R1 +R2 ≤ I(X1, X2 : Y ). 1$�0%2
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����� �.� I
��
�� ����, ΓXOR 3 ����� ��������
6
0���, ΓXOR ���
��� ��� ��*-�
�7 �
3�3 �	9
� ��8�� �
3���,�. �	���

3 ������	� AX1 = AX2 = {0, 1}6 1�*-�
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� ����,� �
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Y = X1⊕X27 ��3
� ⊕ �3���3� �������
� ������ 26 1�
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2 � ���3�
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O : R1 ≤ 1, R2 ≤ 1, R1 +R2 ≤ 1. 1$�0$2

�
3������� �
2 	�
�37 8� ���3�
� 	� ���
���*4 �
26 ����	� (Rmax
1 , 0) = (1, 0) 


(0, Rmax
2 ) = (0, 1) �4 ��
4���� �����
���
� �
3�3 
�3�,��� P (X1 = 1, X2 = 0) =

0.5, P (X1 = 0, X2 = 0) = 0.5, P (X1, X2 = 1) = 0 �
�3 P (X1 = 0, X2 = 0) =
0.5, P (X1 = 0, X2 = 1) = 0.5, P (X1 = 1, X2) = 06 ����	 (0, 0) *��	 ��
4����
� ��3��
�	� ����9� � ��	���*
7 ��� ��8�� 3 ������9� �
3���,� 	���� *����
��	����� ������6 O *��	 �	��3�4 �����,4 
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�	4�7 �� ���� E�6 &6J �	
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��	 R(ΓXOR) = O6

3�	�5���>�� 1$�&C2 ���������� ������ 
��	6��>�� R̃Q = RpX1,...,Xk,Q
(Γ)
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������	9� ����4��
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�����	;���� pX1,...,Xk,Q� G�� pQ = δ(Q = 1)�
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��	� R̃� F����� R̃Q 6� 
����7�

R̃Q = {R ∈ Rn : ∀S⊆E RS ≤ I(XS : Y |XSC , Q), ∀i∈E Ri ≥ 0} 1$�0&2

�	����	 
�6����� �������6� 
��	6��>�� R � R̃ 
��	������� ���� $�&�

R1

R2

R1

R2

a) b)

���
�	� $�&� �2 F����� 
��	6��>�� R̃ = RpX1,...,Xk
���������� ��� ���,

�4��
 ����4��
 
�����
�����	;���� ��6���� �	�>������� pX1,...,Xk
� �2 R

���� ������� ��

�4� ������5� 
��	6��>�� RpX1,...,Xk
�

��������6� ��� �	��� 
	���6 9	�6	�������6 �4����>���6 ������
 R̃Q�

-�+��
�� �.�' !
��� E = {1, . . . , k} �
�3 f : 2E �→ R+∪{0} �2�3
� �����*4
���3�
�
9� E6 1
���-�
���

B(f) = {x ∈ Rk : ∀S⊆E xS ≤ f(S), ∀i∈E xi ≥ 0} 1$�002

*��	 ���
��	
�
��� �	��� 
 	���� �	���7 ��� �����*� f ���,�
�� <
= f{∅) = 07
<

= S ⊆ T ⇒ f(S) ≤ f(T )7 <


= f(S) + f(T ) ≥ f(S ∪ T ) + f(S ∩ T )6

2�����
���� �., H��3�
 ��*����-�
 R̃Q ��� ��	������� 
�3�,��� �
�����
�����
�5�	�� ������
 ��*-�
����� *��	 ���
��	
�
��� ?JBA6

-��3�4

������������ f(S) = I(XS : Y |XSC , Q) �� ����
 1$�002 �����6
�	6� ��,
����6���� �	O����� ������
 
��	6��>�� R̃Q� .�� 
�������7 ���	���	��	 ��,
�	:� ���	6 �
������7� ��� ��� ������ 8
����� f(S) �
	4��� ���
��� 1�2,1���2�



�% ������������

 ��
�	� 1�2 �������� :	 ��8��6���� ����	6�� � 
���
���
 ����
 ������5�
������ 0� �� �������� � ��������� �
��5��

���������>7 ���
��
 1��2 6�:�� 
�����7 � �����

���� �
��5��

f(T ) = I(XT : Y |XTC , Q) 1$�0)2

= H(Y |XTC , Q)−H(Y |XT , XTC , Q) 1$�0'2

≥ H(Y |XSC , Q)−H(Y |XS, XSC , Q) 1$�0D2

= I(XS : Y |XSC , Q) 1$�0C2

= f(S). 1$�0/2

3�	�5���>7 1$�0D2 �����6
�	6� ��������6� � S ∪ SC = T ∪ TC = E ���� �
8���
� :	 ��������� ��8��6���� 6�:	 �� �����:	� �6��	����7 	����
�� �6�	�,
�	� �����	� 1S ⊆ T ⇒ TC ⊆ TC � 
���� ��� 1$�/22�

����:	6� �	���� :	 ���
�	� (iii) �5���	: �	�� �
	4������  ��6 �	�

������	6� �� ����:	��� ��8��6���� ����	6�	� 
��	� ��
���	���	 	����
�	�

f(S) + f(T ) = I(XS : Y |XSC , Q) + I(XT : Y |XTC , Q)

= H(Y |XSC , Q)−H(Y |XS, XSC , Q) +

H(Y |XTC , Q)−H(Y |XT , XTC , Q)

= H(Y,XSC , Q)−H(XSC , Q)−H(Y |XS, XSC , Q) +

H(Y,XTC , Q)−H(XTC , Q)−H(Y |XT , XTC , Q).

����������� � �	9
4� 4�;�
����	� ��� 	����
��� ���� � ��	���	:��>�� ������5�

�� ���
���	6 Q� 6�:	6� 
��	�����4��7 
�
��	���	 ����:	��	 �� 
�������

f(S) + f(T ) = H(Y,XSC , Q)−
∑
i∈SC

H(Xi|Q)−H(Q)−H(Y |XE, Q)

H(Y,XTC , Q)−
∑
i∈TC

H(Xi|Q)−H(Q)−H(Y |XE, Q).

�H(X1, X2, X3, Q) = H(X1|X2, X3, Q) +H(X2|X3, Q) +H(X3|Q) +H(Q)
�H(X1|X2, X3, Q) = H(X1|Q)



���  ��
����� !����� ��"�����#� �&

�� ��
���	���6 
��	9�

�����
 �����5� �����6�� :	 6�:	6� ���������7
�
��� � ����	� �
����������>�� 	����
����

f(S) + f(T ) = H(Y,XSC , Q) +H(Y,XTC , Q)

−
∑
i∈S

H(Xi|Q)−H(Q)−
∑
i∈TC

H(Xi|Q)−H(Q)

−2H(Y |XE, Q)

≥ H(Y,XSC∪TC , Q) +H(Y,XSC∩TC , Q)

−
∑
i∈SC

H(Xi|Q)−H(Q)−
∑
i∈TC

H(Xi|Q)−H(Q)

−2H(Y |XE, Q)

= H(Y,XSC∪TC , Q) +H(Y,XSC∩TC , Q)

−
∑

i∈SC∩TC

H(Xi|Q)−H(Q)−
∑

i∈SC∪TC

H(Xi|Q)−H(Q)

−2H(Y |XE, Q)

�������	 ������ 
:��	� � �	9
4� 4�;�
����	� ���� ��	���	:��>�� ������5�

�� ���
���	6 Q� �� 
�������	 �������	� 8��6
4� �����6
�	6��

f(S) + f(T ) ≥ H(Y,XSC∪TC , Q) +H(Y,XSC∩TC , Q)

−H(XS∩T , Q)−H(XSC∪TC , Q)

−2H(Y |XE, Q)

= I(XS∩T : Y |X(S∩T )C , Q) + I(XS∪T : Y |X(S∪T )C , Q)

= f(S ∩ T ) + f(S ∪ T ),

�� ��;��� ���5��

�

E��5� ��	�����4�5� k ��6�����	9� 
���6������
 1��� ����	9�� :	 E =
{1, . . . , k}2 
������ ������ 
:��	���� �4����>7� F�5: ��������	 �	9� 	�	6	���
6�:�� ��������7 
��� 
:���
 �������� �	� 
���5��	; �	 �����
 {1, . . . , k}
*0/-� 3�	�� π �����	 
	��� �������� �	� 
���5��	;� F�
������ �	� ��	�����,
4	� v � ��
54��������� vπ1 = f({π1})� vπi

= f({π1, . . . , πi})−f({1, . . . , πi−1})
������ 6
� )7�$* H(A,B) + H(B,C) ≥ H(A,B,C) + H(B)� .���� A =

XSC\(SC∩TC);B = Y,XSC∩TC , Q;C = XTC\(SC∩TC)



�' ������������

���� ∀i/∈πvi = 0� ?���
��� �	9
4� 4�;�
����� 1
���� ��� 1$�$$22 6�:�� 
���,
��7� :	 
�����>�� �����6���� ����9��	 � ��	�����4�
 v ��������

Rπi
= I(Xπi

: Y |Xπi+1
, . . . , Xπn, Q). 1$�0(2

E��576� 
��9�� :	 ���	 �5:�	 �������	 6�9� 
�������7 �� ��	�����4�5� �
����6� ��6�6� �	�����6� 
�����>�� �����6�����
 
���
���
 ����4
 &,��,$ ����� ��������� �	� 
���5��	; � 
������	:,

��6� ��; �	�����6� 
�����>�� �����6���� �� 1
���� ���� $�02�

π = ∅ :

(
0
0

)
,

π = {1} :

(
I(X1 : Y |X2, Q)

0

)
, π = {2} :

(
0

I(X2 : Y |X1, Q)

)
,

π = {1, 2} :

(
I(X1 : Y |X2, Q)
I(X2 : Y |Q)

)
, π = {2, 1} :

(
I(X1 : Y |Q)

I(X2 : Y |X1, Q)

)
.

S��6
4� 1$�0(2 �� 
�����>�� �����6���� ����9��	 � ��	�����4�
 v �
9	�
�	
��	������� 
���	�
�� �	��������� 1��9� �
��	���#	 ����	������� �	�����92�
3�	�� π �����	 �������� �	� 
���5��	;� ��5�� ��
������ ��	�����4���� v�
E��4���6�� :	 π ����	�� k 	�	6	��5�� 3� 
�������	 ��	����	9� ���9
 ��6,
���� ���>�������� �������� �	���
�	 ��6
����� 
��������� �� ������� Sπk

�
F��������� ��6
����� �������6� 
��	� mπk

� E�����mπk
�������� 
������,



�	 �� �	��������� ��6
�����
 
��������	9� �� ������� Sπk−1
� 3����
��	


��� ��4�:	��
� :	 ������� Sπk
���� Sπk−1

���4��� ��
���	���� ��6
������
mπk

� mπk−1
� ����� ��� ���	>��7 ��6
����� �� ������� Sπk−2

���� =�:�� 
�,
����7� :	 
���	�
�� ���� �	�� �
��6���� *&-�

-�+��
�� �.�1 0���, ���������
7 �	9
� ���
��� k ≥ 2 ������9�7 � *���
��*-�
� 
 ��*-�
� �
48� 
����*��

Y =
k∑

i=1

Xi + Z, 1$�)%2

��3���. �2�3
��� ���������
� ����,�� �
������	2����6 Y 	� 3�
���� ���
���� 3�
43��� 3 ��*-�
�� ����,�7 ��	��
��	 Xi 3 ��*-�
�� ����,� ����84�
��� �� ������� Si7 Z ������*� �3�� � 
�3�,��3
� ������ 3 E(Z) = 0 �
�3
σ2(Z) = σ2

szum6 !� -
���
4 ���
�
2 �
3���,��4 �
3�3 ����, ���,��� �
2 3�
9

��
��
�3�5�

P : {Si : σ
2(Xi) ≤ σ2

we(Si)}, 1$�)$2



���  ���!��� !����� ��"�����#� �(

R1

R2

R{1}
R{1,2}

R{2,1}

R{2}

I(X1:Y|Q)

I(X1:Y|X2,Q)

I(X2:Y|Q) I(X2:Y|X1,Q)

���
�	� $�0� F����� 
��	6��>�� R̃Q ��� 
������	9� ����4��
 
�����
���,
��	;���� ��6���� �	�>������� � ����������6� ��	�����4��6� Rπi

�

��3
� σ2
we(Si) �����
 �
2 �� ��*-�
� ���	
��������� �
3�3 ������2 Si6

2�����
���� �./ 1��	�
 �
2���-�
 	
����
�*
 (R1, . . . , Rk) ����8� �� ���
�3�
� ��*����-�
 R(Γ) ����,� ���������
��� Γ �	��� 
 	���� �	���7 ��� ���
��8���� ���3�
�
� ������9� S 3�����3
�

RS ≤ 1

2
log

(
1 +

σ2
we(S)

σ2
szum

)
, 1$�)&2

��3
�� RS =
∑

Si∈S Ri, σ
2
we(S) =

∑
Si∈S σ

2
we(Si)6

��� ���
�
�� ��
��� �
�
������

?���	6� �������	 ���
�������	 � 
���� �����	6� ���	��7 �� ���	 ���	9���	�
����	6� � �6�	����� �����	����� ���� ����	6� � �6�	����� ���94���� G�

�	����	� � ���	9���� ���	:� �	 
�4��� �������	� ��5���� 
��	����	; !���	���
6� ��6��� ���;������ �����4��	6 �	�� �
 �����5��� �������	� �	���� ��8��,
6���� , ��� �������� 1+���2 , ��5�� �
��
�	 
��	����	; !���	��� ���6��O����
� C2� S������	 �	�������	 +���
 �� 6����� ����6�� �
�� 	�	�����
� 
����������
8����
� G�
9� ���	9���� �������� 
�4���� ��5���� 
��	����	; !���	��� ��	 6�
���;����	9� ��6���
� P�
������� �	�� �
 n,6����	 
��	 	�	����6�9�	�����	�
 
���
���
 ����	65� � �6�	����� ���94��� ����	� 
���� �9������� ���



�) ������������

�	����	 �� ����	65� ���������� � �����6���� ��8��6���� ��������	� 
��	� ��,
��4� B�
�������	��  �����	� ���>�� �������4
 �������	 �
��������� ��
�,
��	��� 8��6����6� 
���������� � 	8	������ �
��5� �
���7 �	� ������ �����,
6����� F6������� ����� B�
�������	 �����	6� ������ ������7 ��� �� �
����
�������	�� 9���	 ����� �	 
�������� ��� � �
��5� ���
������

����� &�
�� �

���
�

?��� ������ ����	6
 �������	9� S 1���� ���� �	
�	�	��
���� 
	4�� ��	��� �
����	6�	 S2 �
����� �	�� 
��	� ����6��������� �	���� |ψ〉� ���	:��� �� 
��	,
����	�� !���	��� HS�  	���� �
���� �� |ψ〉 �	�� ��������� ���� 〈ψ|� P������
�������� �	����5� ����5� |ψ〉 ���� |φ〉 �� 〈ψ|φ〉� G�� ������	��� �
	������
��
�
 1
���	�����2 �� ���� |ψ〉 
������� ����	���� ψ = |ψ〉〈ψ|� E��	:��>7
6����� ����	6 
���������6 |ψ0〉 � ����	6 ��;����6 |ψT 〉 	���

���	9� �
�����	� ��������	9� ����	6
 O�����	9� ���� �	�� �5�����	6 |ψT 〉 = U |ψ0〉�
9���	 U �	�� �
	�����	6 
�������6� UU † = U †U = I�
@������� ���� �������6���� � 
��	����	�� !���	��� H ������� ��32 �	���

��
���4 �	� 
��	����	���  
���
���
 
��	����	�� n ��6�����	� 6� ��� 
�,
���7� {|0〉, |1〉, . . . , |n〉}� ����	6� ��� ������	��� 	�	6	��5� �	� ���� ���������
�����	 �������� |ei〉, |fi〉� J��� ����������� +���
 ��4��� ��� � �	����5��

|0〉 =
(

1
0

)
, |1〉 =

(
0
1

)
1$�)02

 ����	��	��
 �� 	�	6	��5� ���� ����������	� �����	6� 
:���7 ���	>�	���
�	��
�	� ��� 
����	>��7 8���� :	 6�6� �� �����	��� � ���	���6� � 
	4�� ��,
�5:������6� �� ��	��	� K	�6�� 	����	�� �����	 �5���	: ��������� 
��� �
���	
����
 
�4��
 ��������	9� � ��6��� 8��6����6
 6	������� �������	��

�	�� �
��3��� 6��	�
�	 ���
����� 9�� ���� �	�� 
	4�	� ��	��� � �����	
����	6
 �������	9�� G� 
��	������	��� ����
 6�	����	9� 
:��� ��� ���
��
	�
� <���
�
3�= �2�	�-�
 ρ : H �→ H� F
	����� 9����>�� �	�� �� ��	 
�	6��
�
	����� !	�6������� � >�����	 1� G�� ����
 �����	9� |ψ〉 6� �� 
����7 
��,
�	����� |ψ〉〈ψ|� E��5� �����>�� �4������ �
	������ 9����>�� ������� ����4��

�����
�����	;�����
=�	������� ����5� �������� {pi, |ψi〉} �
��
�	 ����	6� ��5�� � 
�����
�,

����	;���	6 pi �����
�	 � �	���6 �	 ����5� �������� � 
������	9� �����


��������
����� ��������
 ���� �+��������� ��
� +�����
 	��� �������
 ��������	�
���
�����	 � �
����
�	 �������
��� 	�
� ����� 
 ������� "5#� 55%�



���  ���!��� !����� ��"�����#� �*

{|ψi〉}� 3��	:� 
����	>��7� :	 
�4�� 
����6
�	 ����� ����� �	 �����
 {|ψi〉}�
P����	��	 �����
 {|ψi〉} ���5:��� 6�	������� ����5� �� ����
 6�	����	9��
F
	����� 9����>�� 6�	������� ����5� �������� {pi, |ψi〉}6� 
����7 ρ =

∑
i piψi�

9���	 ψi �� 
���	���� ψi = |ψi〉〈ψi|� �5:�	 6�	������� ����5� 6�9� 
������7
���� ��6 �
	����� 9����>���
?���	6� � ��5��6 6�:�� ���5:��7 �� ���6��	� ���	 O������	 �����	��	

���>��� �������� �	�� ���	���� 3,�8����� �����4��	6 ����	6
 �4�:��	9�
�	�� ���6 �����
 ������4������� � �	���6�����6 
��	6 	�	����6�9�	,
������6� 3�	�� ����	6 �4�:��� S ��4��� ��� � 
������	65� S1, S2, . . . , Sn�
���	����	; !���	���HS ���������� � ����	6	6 S �	�� 
���
��	6 �	�������6

��	����	�� !���	��� �	9� 
������	65�� HS =

⊗n
i=1HSi

� �	>�� 
������	6� Si

�� 
���9������	 � ������� �������� |ψi〉� �5����� ���� ����	6
 S ��������
�	�� �3��	�� �	���� �
����	���� � 6� 
����7� |ψ〉 = |ψ1〉 ⊗ . . .⊗ |ψn〉� G��
�����4�>��� � �����	� ���>�� 
����� ���� �������
 �	������	9� �����	 �

��,
����� 
��� ��
���	 �������� ����5� 
���
�������� ����	6 ���� 
���
�����
����	6
 ��4������	9� ��� � +���5� �����	 ��
������� � 
������� |010〉� ?����
�����	� ��5���� ��	 �� ��� 
��	������7 ���� ����� 
���
����	 �������	 ��
�3��	��
 �	����
 ���4	����
�
G�� ����5� 6�	������� �
������� ��� 
�����	 �	
��������>�� ����5��

-�+��
�� �.�� �	�� �
��3��� ρS ��,��� S ��� �
3��	
3��
4HS =
⊗n

i=1HSi

��3����� *��	 �	���� ����
������� *�-�
 ��8�� �� �
3���	��
. � ���	��
�

ρS =
∑
j

pjρ
j
1 ⊗ . . . ρjn, 1$�))2

��3
� pj 	� 
�3�,�� �
���������
�5�	��6

?���� 
���
����	 �� �����6� �	
��������6� ����6���� ����� �
�����	 ��	 ��
�	
�������	� ����	��: � �	� 
���� ���6
�	6� ��� ���������� �����6���� ���,
�5� ��������� ����	����� �����	�	�����	9� �95��� �	���� �
������� ����4�6�
�� 
���� *D%-�

2�����
���� �.0 <H 
�3�,��3
� ����
�	�=� !
��� ���	�� AB ��,��� �
2 3
������	��9� A 
 B6 19��3�� ��� ��8���� �	��� �3��	��� |ψAB〉 ∈ HA ⊗HB

���	��� AB 
�	�
�*4 	��
� 3�
�
� �	��9� �
	���������� {|ai〉}, {|bi〉} ����84��
�����
���
� �� �
3��	
3��
 HA 
 HB7 8� �	�� |ψAB〉 �� �
2 �
3���	��
. �
���	��
�

|ψAB〉 =
r∑

i=1

λi|ai〉|bi〉, 1$�)'2



�+ ������������

��3
� {λi} 	� 3�
9
 
3��3��
�	��� ����	�
�� ���9,�3���
�9�7 �
3� �3�� 3��
����3
�

∑
i λ

2
i = 16 r 	� �
�3�� ����
�	� �	��� |ψAB〉6

2�����
���� �.& �	�� �3��	� ��,��� ����32-�
����� *��	 �	���� �
����	��
��� *�-�
 �
�3�� ����
�	� 	��� �	��� �����
 r = 16 1 �
3������ ��� r > 17
�	�� *��	 �	���� ���4	����6

�	>�� ���� ������ |ψAB〉 �	�� ����	6 
���
�����6� �� �����	 �����	�	 
���
����5� |ψA〉 ∈ HA, |ψB〉 ∈ HB ������� :	 |ψAB〉 = |ψA〉|ψB〉�

-�+��
�� �.�� �	�� �3��	� |ψAB〉 *��	 �	���� ���������
� ���4	����7 *�-�

*��� �
�3�� ����
�	� ���,�
�

r = min(dimHA, dimHB). 1$�)D2

���	����	; ����5� 
�4��
 ��
 +�����	9� 6�:�� ���
��7 �� �	������� �

�������

|φ+〉 =
1√
2
(|00〉+ |11〉) 1$�)C2

|φ−〉 =
1√
2
(|00〉 − |11〉) 1$�)/2

|ψ+〉 =
1√
2
(|01〉+ |10〉) 1$�)(2

|ψ−〉 =
1√
2
(|01〉 − |10〉) 1$�'%2

����:��	 ����� �� ����� J	��� 1�������	 �5���	: �����6� A��2� ?� ��	
6����6����	 �
�����	 � �������� ���5� ����5� ����9��������� ��5�� ����,
���� �	�� ���� J	����

-�+��
�� �.� <K��� �32-�
����= !
��� AB �2�3
� ���	���� 3,�8���� 3
������	��9� A 
 B �
�3 �
��� {ai}, {bj} �	����
4 ��3� �
	�������� �����
�
���
� � �
3��	
3��
 HA 
 HB6 K��� �32-�
��� ���
�	�
� �2�	�-�
 ρAB ��
������	��
� B 	� ���3�
����
� �
�
��� � ���	��
�

	
B[ρAB] =
∑
i,j,k

(
〈bk|〈ai|ρAB|aj〉|bk〉

)
|ai〉〈aj |. 1$�'$2



���  ���!��� !����� ��"�����#� ��

F
	����� 9����>�� ρAB ����	6
 AB ��	�
������ �� 
������	6
 A ���� �	��
����	6� ρA = ��B[ρAB]�

���
�
 ���9��
��� <���6 �HL�= ��4��� ��� �	 �����
 ��	
�	6���� �
	,
�����5� !	�6��������� {Mm} �
	4��������� �	�����

∑
mMm = I� ������,


�����	;���� 
�������� �����
 m 
������ ����������� 
�6���
 �FT ��
�
	������	 9����>�� ρ ���	 �	�� ����	6 pm = ��[Mmρ]� ��6��� #�� 3	
6���
� ����	 {|em〉} �	�� ����	95���6 
���
����	6 
�6���
 �FT� � ��5��6 Mm

�	�� 
���	����	6 �� �	���� ����
 |em〉�
A����
�� ��������� 6�	��� ��	
	���>7 �� �� �����>�� �	�������� �6�	�,

�	� �����	� X � @�95���	��	6 �	9� 
������ 
����������6 6�	���7 ��	
	���>7
����>��	 ����
 ����	6
 �������	9� ρ �	�� ��	
��
� ��� !������ S(ρ) ��	,
O������� ����	6�

S(ρ) = −��[ρ log ρ] 1$�'&2

A����
�� #�� 3	
6��� �
	������ 9����>�� ρ � �����>����� �4������ {λi} ��,
����� S(ρ) = H({λi})� 3�	��5�	 � ��������� �4����>�� 	����
�� #�� 3	
6���
�� 1
���:	� ���4���6� :	 ρ, ρi �� �
	������ 9����>��� ����6���� pi �� ����4��

�����
�����	;����2�

• G�������>7� S(ρ) ≥ 0� �5���>7 �������� ��� ����5� ���������

• F9������	��	 95��	� S(ρ) ≤ log d 9���	 d �	�� ��6���	6 
��	����	��
!���	���� �� ��5�	� ��	O������	 �	�� ρ�  
���
���
 �6�	����� ���,
��	����� �5���>7 �������� ��� ����5� �

	4�� �6�	�������� ���� ����5�
� 
������ 1

d
I�

•  ����4�>7� S(∑i piρi) ≥
∑

i piS(ρi)

• ?
����������>7� S(ρAB) ≤ S(ρA) + S(ρB)� �5���>7 �������� ��� ���,
�5� 
���
������� ρAB = ρA ⊗ ρB�

• 3�	�5���>7 ��5����� 1��	�5���>7 .����,��	��2� S(ρAB) ≥ |S(ρA) −
S(ρB)|�

• G�� ����
 �����	9� ρAB ��������� S(ρA) = S(ρB)�

• G�� ����	65� � �6�	����� �����	����� 	����
�� �	�� 8
����� ���94��

• S(
∑

i piρi) ≤
∑

i piS(ρi)+H({pi})� �5���>7 �������� 9�� ����� ρi 6���
��>���� �� 
��
��	����	����� ����	6��	 ����9���������



�� ������������

• @������� ��	�6�	������>7 	����
��� ��� ��:�	9� �
	������ 
������	9� U
�������� S(UρU †) = S(ρ)�

• ?���� �
����������>7 	����
��� S(ρABC) + S(ρB) ≤ S(ρAB) + S(ρBC)�

����� &�
�� "
����
��	� ��
� ����
$	�� �
�	���� ���



�	
���	

3�	�� S �����	 n,6�����6 ����	6	6 ��������6 1� 
���� �����:��	 ��
����� 
�4��� � ���;����	� ������	 6��5�2� ��5�	9� 
��	����	; !���	��� 6�
���
��
��� HS = H1⊗ . . .⊗Hn� Hi �� 
��	����	; !���	��� �
��
���� i,�� 6��

�4��
� {|ni〉} ������� ���� S���� 1���� ����5� n,8���������2 � 
��	����	��
Hi� ����6���� a

†
i , ai �� �
	������ ��	���� � ���������� � �	� 
��	����	��� ?���


�5:��� ����� ���� 
��������� 
�4��
 �������	9�� ��������� �	�� 
��	� |0〉�
0����
�3�� ���
�	�
� ��,�8��
� 
 �2�� ��� 6��
 i ��	O������	 �� �����

Xi =
1√
2

(
ai + a†i

)
, Pi = − i√

2

(
ai − a†i

)
. 1$�'02

����	��: �
	������ ���������	 �� !	�6�������	� �����	6� ��� �� ���� ��,
����7 
:������ �5���	: �8��6
4������ ����
����� �����
�3��� G	O����� $�'0

������� �� �	����� ��6
������ [Xi, Xj] = [Pi, Pj] = 0 ���� [Xi, Pj] = iδi,j�  
�����	� ���>�� 
���� �
	������ ���������	 ���� �����	 9�

����	 � �	����
R = (R1, R2, . . . , R2n)

T = (X1, P1, . . . , Xn, Pn)
T � �	����	 ��6
����� 6�9� ��7

��
����	 
��� 
:���
 �	����� R � 
������� [Ri, Rj ] = iJ
(n)
ij � 9���	�

J (n) =

n⊕
i=1

J, J =

(
0 1
−1 0

)
. 1$�')2

��:�� ���� ρ ����	6
 �������	9� S 6�:�� 
��	������7 � 
������ *//�
)0-�

ρ =
1

(2π)n

∫
R2n

dξ2nχρ

(
J (n)ξ

)W (−J (n)ξ
)
. 1$�''2

W (ξ) = exp
(
iξTR

)
�� �
	�����  	��� � χρ �� 8
����� �������	���������

����
 ρ� ?������ ��� �	
�	�	������ ����
 ρ � 
��	����	�� 8����	� ���	� 
��	�
�
	������ ���������	� �	� 
����7 6�:�� �������7 
:������ 8��6
4��

χρ (ξ) = �� [ρW (ξ)] 1$�'D2



���  ���!��� !����� ��"�����#� �$

-�+��
�� �.�� �	��� ���������
� 	� �	���7 �	9
��� �����*� ���
��	�
��	��3��
�� ���	�. �����*
 �������

χ (ξ) = exp

[
−1

4
ξTγξ + iξTd− c

]
, 1$�'C2

��3
� γ > 0 *��	 ����	
��3�4 ���
�
34 
3��3��
�	47 d ∈ Rn7 c > 0 *��	
�
�3�4 
3��3��
�	4 
 ���
��� 
��2 �3���
�� ��
���
3�*4����6 �	��� 	��
� �2�4
�3���3��� �
3�3 ργ,d6

 	���� di = ��[ρRi] ���	�
�	�
�	 ��� ���� 
��	�
�����	 ����
 ρ � 
��	����	��
8����	� � γ ���� 6���	��� ����������� ����
�

γij = 2�� [ρ(Ri − di)(Rj − dj)]− iJ (n). 1$�'/2

����:��	 ���	���	��	 �������	���
�	 6���	��	 ����������� ����5� O��������
���� 
������ ���	>��7� ��� ��� ���	� 6���	��� ����������� �����	�	 ���� B�
�,
������� K��	���	��	 �� �	�� 
��	
�����	6 ������ ��	���������>�� �� �����
6���	��� ������������

2�����
���� �.' ���
�
3� ����

���*
 γ ��
��*� ��,�� :3��3�� �	��� 
 	����
�	���7 ��� 3�����3
 ��
����� γ + iJ (n) ≥ 06

?��� ρ 6�:	 ��7 �	
�	�	������� � 
��	����	�� 8����	� 
��	� 8
�����  �,
9�	�� */(- Wρ� @:���	 8
�����  �9�	�� 
������ 65��7 � �����	 ρ � ���	,
9������ ����4��
 +
���,
�����
�����	;���� � 
��	����	�� 8����	�� S
�����
 �9�	��Wρ ���� �	�� 
��	� �����8��6��� S�
��	�� 8
����� �������	��������	�
χρ�

Wρ(ξ) =
1

(2π)2n

∫ +∞

−∞
d2nηe−iξTηχρ(η) 1$�'(2

G�� ����
 B�
�������9� ργ,d 8
�����  �9�	�� 6� 
����7�

W (ξ) =
1

πn
√
det γ

exp
[−(ξ − d)Tγ−1(ξ − d)

]
. 1$�D%2

����4�� 9����>�� 
�����
�����	;���� �����5� 
�6���
 �� �����	 ρ ���	�,
����� ���������	� Rj 6�:�� ���	>��7 
�
��	� ��4�� 8
�����  �9�	�� Wρ 
�
��
54�������� 8������� ξi ��� i 
= j� 3
� ��� 
�4��
 �	���6����	9� �
�����	 ρ� ����4�� 9����>�� 
�����
�����	;���� �����5� 
�6���
 ���	������
���������	� X ������ pX =

∫∞
−∞Wρ(x, p)dx�



�% ������������

3�	�� ρAB �
��
�	 ���� 
�4��
 �4�:��	9� � ���>�� A � B� S
����� ���,
����	��������� ξA ����
 
�4��
 ��	�
�����	9� ρA = ��B[ρAB] �����6
�	 ���
�4���� � 8
����� �������	��������	� χAB ����
 ρAB �����>7 ξB = 0� 9���	
ξB ������� �6�	��	 ��������	 ��� �� 
������	6
 B�  
���
���
 
�4��

��
6����	9� ��9���� �� �����

����� χA (ξA) = χAB (ξA, ξB = 0)� U����
��
��:�7� :	 �
	����� >���
 ���>����	9� ������
�	 B�
������� �������	�
����
�
3�	�� γ(i), d(i) ��������� ��
���	���� 6���	�� ����������� ���� 
��	�
���,

��	 
�4��
 n 6����	9� ��	�
�����	9� �� 6��
 i� �	:	�� d(i) = 0 �5�����
>�	���� ������ 8����5� � 6����	 i �������

〈Ni〉 = 1

4

(
γ
(i)
1,1 + γ

(i)
2,2 − 2

)
1$�D$2

F
	����� 
������� U = exp[iH ] ������
�	 B�
������� �������	� �����,
�	9� ����
� �	>�� 9	�	�
���� �� ��6��������H �	�� �� �����:	� 8��6� ������,
���� �
	�����5� ��	���� � ���������� *//-�  8��6����6�	 6���	��� ������������
����4���	 �
	����� 
������	� �� ���� ργ,d ���	>�� 
��	�����4�	��	�

γ �→ SγST 1$�D&2

d �→ Sd+ d̃, 1$�D02

9���	 d̃ ∈ R2n, S ∈ Sp(2n,R)� F
	����� 
������� ���:	 ��� �
��� >��>�	 �

�����	6 6���	��� ��6
�	������	� S� ����� ����	�� ��5�� ������
�� 8��6�
��6
�	������� SJ (n)ST = J (n)�  ���	�
�	����� O�����	�� 6���	�� ��6
�	�,
������ �	��
�	 ��� ��6� :	 � ����4���
 �� 6���	�� ����������� ������
�	
�	����� ��	���������>��� γ + iJ (n) ≥ 0�

����� ���� $'� �����

�
��( �$�����)
 ���������(

����:	� ��6�	������� �����4 �
�� 	�	6	��5� �
��������� � ��5��6� ����	����
�
���� ��� � �����	� ���>�� 
����� G���4���	 ��:�	9� � 	�	6	��5� 
��	����,
����� � �	�6����� �
	����� 
��������� ���� � 8��6����6�	 6���	��� ����,
��������  ���	� ��8��6���� 6�:�� ����	N7 � 
������ *//� )0-�

-
��	��� ��5
��

G��	���� ������ �� �	��� � ������>��	� �
��������� 
�����	; � �
���	 ����,
���	�� E����
�	 �����������	 � �5:�	9� ��

 ���	�8	��6	������ �	�	���� ���,
�5� J	��� ���� 
��� ����������� �
��������  	�>��	 � ���>��	 ���	����� ������



���  ���!��� !����� ��"�����#� �&

��4��� ��� � ��5�� 6��5�� ��:�� � ����	� 
��������� �� ���	���� ������ ��,
����	 � ���	>����6 ��
54��������	6 
��	

������� �
� �������  �
54����,
��� �������	���
���	 �	 
���	�� ���� ��������	 ��
���	���� 
��	�� T =
sin2 φ� R = 1 − T = cos2 φ� G��	���� ������ '%�'% 1���� ����� ��5�� � �5�,
���� 
��
������� 
��	

����� � ������ ������ �	�>����	2 �	
�	�	������� �	��
�
	����� 
��������

UDW = exp
[π
4
(a1a

†
2 − a†1a2)

]
. 1$�D)2

 8��6����6�	 
��	����	�� 8����	� ������	� �95��� 
����7 ���	����� ������
���� �	�� 
��	��

S =

⎛
⎜⎜⎝

√
R 0 −√

T 0

0
√
R 0 −√

T√
T 0

√
R 0

0
√
T 0

√
R

⎞
⎟⎟⎠ , d̃ =

⎛
⎜⎜⎝

0
0
0
0

⎞
⎟⎟⎠ 1$�D'2

 
���
���
 ���	����� ������ '%�'% 6�6� R = T = 1/2� G��	���� ������
�	�� 	�	6	��	6 
������6� ���� 	�	�9�� ����	� 
��������� �� ���>��� �	��
�5��� 	�	�9�� ����	� �

����������� �	� 	�	6	���

��
��"��!
��

���	�
�����	 D(α) �� �
	����� 
������� � 
�������

D(α) = exp(αa† − α∗a). 1$�DD2

������ �����	 
:����� ������� D(dx, dp) = D(α/
√
2)�  ����4���
 �� ����

B�
�������� 
��	�
�����	 �
����� �	�� 
��	��

S =

(
1 0
0 1

)
, d̃ =

(
dx
dy

)
. 1$�DC2

E�
��:6�� :	 
��	�
�����	 ��	 �6�	��� 6���	��� ����������� ����
� F
	�����

��	�
������ ���:	 � �
	�����	6  	��� �	������ D(ξ) = W (Jξ)� ���	�
�����	
�	�� �
	����� �������� ���� � ����4���
 �� ���� �6�	��� �	9� >�	���� ������
8����5�� F
	����� 
��	�
������ �	����
�	 ��� 6�	������ 
��� 
:���
 ������ ��	,
��6	������	9� ���	����� ������ 1((�$2 *()- 1
��5���� ���>7 0�'�$2 ���� ����
�	�>����� � ������ 
��������� �� ����	9� N�5�4� >����4� �
5��	9� 1���	�2�



�' ������������

6
������� �����������

F
	����� >�������� �	���6����	9� 
����
�	 �6��	���	��	 ��������� �	��	9�
� �
	�����5� ������������ �� �	�� ������
 ��������� ��
9�	9��  ��:	 ��� �
��6 �����

���� �
	����� 
��������

S(ζ) = exp

[
1

2
(ζ∗a2 − ζa†2)

]
, 1$�D/2

 8��6����6�	 6���	��� 9����>��� >�������	 �	���6����	 ��� 
���
���
 ζ =
r ∈ R �
��
���

S =

(
e−r 0
0 er

)
, d̃ =

(
0
0

)
1$�D(2

V�������	� ��� ��6� ��� 
��	�
�����	 �	�� �
	����� �������� V�������	 �����,
�	9� ����
 6�:�� ������7 
��� 
:���
 6	��
6�	��� *'-� �	���� � 
������	
� ������������� �������� ��� ���������� ����� >��>����	 ����� 
�5:��� � ���6
����	� �����	 
���	�����	 � �����	� ���>�� 
�����

����! ���� $'� �����

�
��( �$
� ��
�)
 "
����
��	�(

����:	� ��6�	������� �����4 
��	9��� ��������� ���� ����5� B�
����������
��:�� � ��6�	������� �
 ���� �	��
�	 ��� �
	��O���� 8��6� 6���	��� ����,
������� ���	:����� �� ��	� ����5��

����� ��3��� 7����������8

?���� �
5��	 |α〉 ��� ���� ����5� �	�6�������� ���������	� W��������	>����

��� 	�	����6�9�	�����	9�� E�	O������	 �� ���� 
���	 ����� �4���	 �
	,
������ ����������� a|α〉 = α|α〉� 9���	 α �� 
���6	�� �	�
������ ?���� �
5��	
���	:� �� 9�

� ����5� � 6���6���	� ��	���������>�� 1���� ������� ��� ��5,
���� �������� �5���>7 � �������	 ��	���������>��2� ������� �	��
�� ��� ��6�
:	 6��� ����	 ��6	 ��������	 ��
 �6�	����� ������������� ?���� �
5��	
�����6
�	 ��	 
�
��	� ����4���	 �
	�����	6 
��	�
������ �� ���� 
�5:���
|α〉 = D(α)|0〉�  
������	 N�5�4	6 ����5� �
5����� �	�� ���	� ��
54
��,
�
���� � ��
���	���6 
�4��	6 �	�
�
����6 ��
6 �� 
����6
 �������	9�
*'-� ?��� �
5��� � �	
�	�	������ ����5� S����� 
��	������� ��� �����

�����

|α〉 = exp

(
−1

2
|α|2

) ∞∑
n=0

αn

√
n!
|α〉. 1$�C%2



���  ���!��� !����� ��"�����#� �(

E������� � ��6 6���	�� ����������� 6� �
	��O���� 
����7�

γSP =

(
1 0
0 1

)
. 1$�C$2

 	���� 
��	�
������ ����
 |α〉 �
��
�	 ���	:��>7�

d =

(
dx
dy

)
=

(
re
√
2α

im
√
2α

)
1$�C&2

?���� �
5��	 ������ ���� ���6������ � 
��	����	�� !���	���
∫
d2α|α〉〈α| = I�

V�	���� ������ 8����5� ����
 �
5��	9� |α〉 ������ N = |α|2�

����� �����

��

?��� �	�6����� �
��
�	 
��	 	�	����6�9�	�����	 
��������	 � ���4� �����,
���	 �����	9� � �	6
	���
��	 T �  �	� 
����� ��6���� �	6
	���
��� ���� �	�,
6����� ���	>��7 �����	 �	9� >�	���� ������ 8����5� N � �������	 ������	6�
�� �	
�	�	������ S����� 9���	 N 8������� ���� �	�6����� �
��
�	 8��6
4��

ρterm =
1

1 +N

∞∑
n=0

(
N

1 +N

)n

|n〉〈n|. 1$�C02

=���	�� ����������� ���� �	���� 
��	�
������ ����
 �	�6����	9� 6��� 
����7�

γ =

(
1 + 2N 0

0 1 + 2N

)
, d =

(
0
0

)
. 1$�C)2

?��� �	�6����� � N = 0 �� ���� 
�5:��� G�� 
������	9� N � ���� �	�6�����

������ 6����6���� 	����
���  ����� ��� S(ρterm) = g(N)� 9���	 g(x) =
(1 + x) ln(1 + x)− x ln x�

����� �
����!�� �����������

��	�	������ Q��	�����������R ����5� B�
��������� ������	6� �� �	���6�,
���	9� ����
 >��>����	9�� K�� ��� ���� �
5���� �	�� �� ����	6 � 6���6���	�
��	���������>��� �	���� � ��6 
���
���
 ��������	 �6�	����� ��������,
���� �5:��� ��� �� ��	��	� ��������� �	��	� � ���	������ ������������ X ��,
�	����� >��>����	� X �	�� �
 6��	���� ��: � �����	 �
5���6�  �������	 �	����
��8��6����� �	�
�>�	���� ����	��	���� �	9� 8���
 �	�� ������� �����>7 ���,
���
 
����6
 ��9��4
 �� ��
6
 1?3�2 � 
���
���
 ��������� ��9��4
 �



�) ������������


��	�
�����	 ���	������ >��>����	� � 
��5�����
 � ��������	6 ��9��4
 �

��	�
�����	 ����5� �
5����� *($� &0-�
G��	� ��

�6� ��� �� >��>������� ������� 
�5:��� |ζ ; 0〉 = S(ζ)|0〉� 9���	

ζ = reiφ �	�� 
���6	��	6 �	�
�����6� =��� ��	 �����

���� �	
�	�	������
� ����	 S�����

|ζ ; 0〉 =
√
sech r

∞∑
n=0

√
(2n)!

n!

[
−1

2
eiφ tgh r

]
|2n〉, 1$�C'2

r ������� �
 
���6	�� >��>������ � φ ���	>�� ��	�
�	� �� 
4������N��	 8����	�
X − P � � ��5��6 ���� �	�� >�������� φ = 0 ������� >�������	 ���	������ X �
����6���� φ = π ���	������ P � =���	�� ����������� ��� φ = 0 
����6
�	

����7�

γ =

(
e−2r 0
0 e2r

)
. 1$�CD2

V�	���� ������ 8����5� � �����	 >��>�����6 ������ N = sinh2 r� V��>����	
����� 
�5:�� 6�:�� 
��	�
��7I �����6
�	 ��� ��	�� 
��	�
����	 >��>����	
����� 
�5:��� |ζ ;α〉 = D(α)|ζ ; 0〉�
A��
	��6	��� �������	 � ����������	6 >��>������� ����5� 
�5:�� ��,

�������
�� �5:�	9� ������
 ��	������	 
���	�� �
�����	� ��	����	 	��
	��,
6	��� �
�	��4� ��� �� ��	9	�	������6 6�	�����
 ���	�	�� 8�� *'-� F�	���	
������ 
����6 >��>������ ����
 r = 1.15 
����
�	 ��� �����	 ���
��� �� ��	,
9	�	������6 
���6	�������6 ����:���
 �����������>�� */D-�

����� �
����!�� ��"������

?���� >��>����	 ��
6����	 �� 
����4��	6 �
�������� ����5� B�
����������
 ������� ������ ���	��
�	6� >��>�����	 ��6������� ��������� �6�	�����
������������ ���	:����� �� �5:���� 6��5�� � ����	95���>��� X1 −X2 ����
P1+P2 �� ��
������ ��	�
����� >�������� φ = 0�  �	���>7 >��>������ ���	>���

������	 ��� � 
���
���
 ����5� �	���6������ 
���6	�� r� F95��� 
����7
��
6����	9� ����
 >��>����	9� 
�5:�� ���

|ζ〉 = sech r
∞∑
n=0

[
eiφ tgh r

]n |n〉|n〉, 1$�CC2

9���	 ζ = reiφ �	�� 
���6	��	6 �	�
�����6�  �����	� ���>�� 
���� 
:����	
���� ����� ������ ��� ��5���� φ = 0� =���	�� ����������� ����	9� ����
 6�
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����7�

γSPL =

⎛
⎜⎜⎝

cosh 2r 0 sinh 2r 0
0 cosh 2r 0 − sinh 2r

sinh 2r 0 cosh 2r 0
0 − sinh 2r 0 − cosh 2r

⎞
⎟⎟⎠ 1$�C/2

3�	8��6����	� � 9������ r → ∞� ��
6����� >��>����� ���� 
�5:�� 6�:	
��7 ��
����� � �	
�	�	������ 
�4�:	��� �
� �	
�	�	������ 
��
 �����∫

R

dx|x〉|x〉,
∫
R

dp|p〉| − p〉, 1$�C(2

�� 
>�����6�� ��6 �������	� ���	����� 6����� ��
���	���6� ���	�������6�
� ��
 6������
V�	���� ������ 8����5� � ��
6�����6 �����	 >��>�����6 
�5:�� ������

N = 2 sinh2 r� V��� ���>����� 
� �	���6 � 6��5� 
������� �� ����
 �	�,
6����	9� � >�	���	� ������	 8����5� N = sinh2 r�
?���� ��
6����	 6�:�� 
�����7 
��� 
:���
 ��	��	9	�	�����	� �	����


���	�5� 
:������� �� �����6������ >��>������� ����5� �	���6��������
������� �� �����6������ ��
6������� ����5� >��>������� ���������
�	
��� �5���	: 6�	�����	 ��5�� �	���6������� ����5� >��>������� �� ���	����

������ 50 : 50 *//-�

2�����
���� �.�1 <H ���	��
 �	����
����* �	��� ����������� ?&%A=� D��
����� ��������� �	�� ���������
 ��8� ��. ��
����7 3 ���,����-�
4 ��
��������� ���
��*
 ��
	�
����7 3� �����4 4 ��
���	
9�7 	6*6 ���
�
3 �����


���*
�

γ =

(
A C
CT B

)
1$�/%2

��8�� ��
����3
.7 �8���*4� ���
�
3� �������	��3���� S1 
 S2 �3
�,�*4����
�����
���
� �� ������ 1 
 27 �� ���	��
�

γ �→ (S1 ⊕ S2)γ(S1 ⊕ S2)
T =

⎛
⎜⎜⎝

a 0 c+ 0
0 a 0 c−
c+ 0 b 0
0 c− 0 b

⎞
⎟⎟⎠ . 1$�/$2

����8�*7 ���
�
3� A,B,C �4 ���
�
3��
 
3��3��
�	��
 2× 27 A = AT , A >
0, B = BT , B > 06 1��9,�3���
�
 a, b, c+, c− ���� �4 �
3�3 
����*�� det γ =
(ab− c2−)(ab− c2+), detA = a2, detB = b2, detC = c+c−6
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K��	���	��	 �� 6�:�� ���
6�	7 ���� B�
������� ��
���	���� ���	���	���
?��6���� � �	��6
������� ?��� B
�������� �	�� ����	6 �
������6� �	>�� ��,
�������

det γ + 1 < detA+ detB − 2 detC. 1$�/&2

2�����
���� �.�� <H �
������
3��*
 ?&A=� ���
�
3 ����

���*
 γ �	��� �����
�����
��� ��8� ��. ��
����3���7 �
3� �8��
� ���
��*
 �������	��3����7 ��
���	��
�

γ �→ SγST =

n⊕
i=1

νiI2, 1$�/02

��3
� S �3���3� ���
��*2 �������	��3�4 � νi ∈ [1,∞) 	� �������	��3�� ��
�
	�-�
 �,����6

?�6
�	������	 �����>�� �4���	 ���	 �� 
��	� 
�	�������� ���������	 ���,
��>�� �4������ 6���	��� −J (n)γJ (n)γ�  ������	 �����>�� �4������ 6���	���
−J (n)γJ (n)γ ��:�� � ����� �����

�	 ��
������	� ?�6
�	������	 �����>��
�4���	 ������� ��� ������ 
� �	��	� �����>�� � 
���� ?�6
�	������� ���,
��>7 �4���� 6�:�� 
��:��6�7 �	 >�	���� ������ 8����5� � �����	 �	�6���,
��6 νi = 2Ni + 1� � 
���	��: S ��
������ �
	����� 
������	� �� 
�4����	�
	����
�� ����
 B�
�������	9� 6� 
����7�

S(ρ) =
n∑

i=1

g

(
νi − 1

2

)
. 1$�/)2

�����6�� ��� �������	��� �����4�>��� � �����	� ���>�� 
���� �����	 ���������
�������� S(γ) = S(ργ,d)�

����# �
�
� �

���
�

��
����� ����	
��� � 6��	������
 	���
��� 
�4��
 �������	9� Q � ��	�,
��>�� ��
6
 �	�� ����, ����	����� ����4 �������� ������� 
	��	9� ������


�95���	��	 ��������	9� ����4
 ��8��6�����	9�� 3������ ���������
�	 ��,
��4 �������� ��� 
��	�4�7 �� �������� 
�4�� �������� Q� ����4 ��������
6�:	 ��7 ���
6���� ���� ������ �������� � ��6 �	���	� :	 ��	 ���	�	�
�� ���

����� ������ ���
' �
��'�	� '�����
 ��
������ ����� 	�� ��.� 8'���'� ��
��� �8'�
����� ���� ��� �����	� � ������� �
����
�� ����� �����!� �� ��� ������ 
 �������
"9#� #:� $#%
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����	954� O�����	9� 
���	�
 �	:��	9� 
 
������ 	���
��� 
�4��
 ���� �
�,
�5� ������4������ 
�4��
 � �����	��	6 � �	����	 �	����� 6����� �����6�
�	�>�����6� � ���>�����6� 
�4��
 
���	9����	9� 	���
���� ����4 ��������
�
��
�	 
���	�� 6��������	 ���� ����	� � ��5���� ���� 
�4��
 �

��������	9�
����4 ���	:� ����� �� ����
 �	9� 
�4��
 
��	� �	�>��	6 �� ����4
� ��	 ���	:�
����6���� �� �	9� ����	 ����� ��4� ���	>��	� �����6������	 
��	� ����4 X
����4 �������� �	�� �	�
�6�������� F 
�4����	 Q ���4��� ���� :	 �	�� �� 
�,
�������� ����������� �� �����	���� ��� 
�4�� Q ���� >��������� �����

��
� �����	 
���
�����6� ρwe ⊗ ρsr� 9���	 ρwe �� ���� �	�>����� 
�4��
 Q �
ρsr �� ���� >���������� F�����4�����	 ����	6
 Q � �����	��	6 �����

�	 ��,

�	�� 
������ �����6���� 
��	� ����4� ?���	6 Q ���� �����	��	 ������ � ��6
6�6	���	 
�4�� ��������� ��� ���� ��� 	���
��� �
��
�	 �
	����� 
�������
U � �����6
�	 ���� :	 :���� �	 ����� 
���	�
 ��6
������� ��	 6� �����

 ��
�����	��� � ��	 ��	 � ����6 �����	 ���
����	 ��� ��� �����
�	� F������� �����,
6
�	 � �����
 �
����	9� ��:	� 
���	�
 ���� ���>����� ρwy� ��5�� ���:	 ���
�	 ����	6 �	�>�����6 ρwe �5�����	6�

ρwy = ��sr
[
U(ρwe ⊗ ρsr)U

†] 1$�/'2

E��4��� ���� :	 >��������� �	�� �� ���	 �
:	� :	 �6���� �	9� ����
 �� ��
,
�	� ������4������ � ����	6	6 Q �	�� 
�6������	 6�4�� ����	��	���� �	9�
�	�� ��
�6����� ��:	� �	�
�6�������>7 ����4
� ����4 �������� �
�����
����	6 1$�/'2 8��6����	 �	O��
�	 ��� �����

-�+��
�� �.�, 0���, ����	��� 	� �
�
���7 ������	�
� ����	�
� 
 3�������
*4�� -��� ���3�
����
� � ���	��
� Φ : B(Hwe) �→ B(Hwy)6

G	O����� �� 65��� :	 ����4 �������� 
��	�����4�� �
	������ 9����>�� � �
	,
������ 9����>���  
���
���
 �6�	����� �����	������ ��:�� ����4 ��������
6�:�� 
��	������7 
��� 
:���
 �	
�	�	������ ���
�� � ���6 65�� 
���:��	
���	���	��	�
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Hmin(Φ) = inf
ρ
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Φ : B(Cn) �→ B(Cn)

• ����4 ��	�������>�����
����4 ��	�������>����� I ��	 �6�	��� 
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E0 = I. 1$�/(2
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• ����9�������	 ����

����9�������	 ����
 �� �
	����� ��6
�	6	������ �� 
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	����	�� |i〉 �� �	�>��
� ����4 
���
�
�	 ���� |vi〉� E��5� ����5� {|vi〉}
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Ei = |φi〉〈ψi|,
∑
i

|ψi〉〈ψi| = I 1$�(&2
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Ebit
0 =

√
pI, Ebit

1 =
√
1− pX 1$�(02

Efaza
0 =

√
pI, Efaza

1 =
√
1− pZ 1$�()2

Ebit−faza
0 =

√
pI, Ebit−faza

1 =
√
1− pY, 1$�('2

9���	 X, Y, Z �� 6���	��	 ��
��	9�� G�� p = 1/2 ����4 �6�	������� 8���
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������� ��� �� ����4
 �����
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���	������� � ����	
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• ����4 �	
������
����
����4 �	
������
���� � 
�����
�����	;���	6 1 − p 
��������� ����

�4��
 �	� �6���� ��> � 
�����
�����	;���	6 p ��6�	��� ���� 
�4��

� ���� 6����6����	 ��6�	������ G���4���	 ����4
 �	
������
���	9�
�
��
�	 �5�����	�

Φ(ρ) =
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I + (1− p)ρ. 1$�(D2

 
���
���
 ����4
 +�����	9�� ����4 �	
������
���� �	
�	�	��
��
�
	�������

E0 =

√
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√
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2
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√
p

2
Y, E3 =

√
p
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W (ξ) �→ W (Xξ) exp
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−1

2
ξTY ξ

)
exp

(
iξTd′

)
, 1$�(/2
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Y + iJ (n) − iXTJ (n)X ≥ 0. 1$�((2
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φ(γ) �→ XTγX + Y, φ(d) �→ XTd+ d′ 1$�$%%2
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x �→ ρx �→ Φ(ρx) �→ py|x = ��[Φ(ρx)My] �→ y. 1$�$%'2
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9�	� ������� ����	�����
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∑
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∑
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 ���:	��	 S(Φ(ρ)) 
����	 >�	���� 	����
�� �� ���>��
 ����4
� ����6����
S(Φ(ρx)) 6�	��� 
���
���� 	����
�� � 
���
���
 �����6���� ����
 ρx� G��	�
��������	 �����	 ������	��	� χ{px,ρx}(Φ) = S(Φ(ρ))−∑

x pxS(Φ(ρx))�
����� ������ ����:	��� 1$�$%D2 ���	:� �	����	 �� 6�	������� ����5� �	�,

>�������� �

�	6
6 �� ��� ������	 
������� �� 
��	6��>�� !��	#��



$) ������������

-�+��
�� �. 1 ��*����-. /����� ����,� Φ 	��

χ(Φ) = sup
{px,ρx}

[
S
(
Φ(ρ)

)
−
∑
x

pxS
(
Φ(ρx)

)]
. 1$�$%C2

E��576� 
��9�� :	 6����6
6 �	 �����	 1$�$%C2 ����9��	 �	�� 
��	� �����
�����	�
�������	 ��� 6� �� 6�	���	 � 
���
���
 ���������6� ��� ��
���	� �4�,

��6 � 
������ ��6
������� 
��� 
:���
 ����4
Φ : B(Cn) �→ B(Cn)� �������
� �������� 
:����� ���
 (M,n)� K�6 ���	6 �	���� 8
����� ���
���� f ��,
������
�	 ��6
������ � AW �� ��
���	���	 ����� �����	 � B(H⊗n

we )� ��,
��6���� 8
����� �	���
���� �� 
�6��� 4����� 
��	
��������� �� ������� �

��	����	�� B(H⊗n

wy )� ���	��	 ���>�� ����
 �����	9� 
��	��4��	 �� 
������
���	����� 
:�7 ����4
 Φ�  
���
���
 9�� ����� �����	 6��� 
����7 ���,
����5� �	��������� ����5� ���	:����� �� B(Hwe)� ��� ������6� ���	6

���
�����6� ���	� C(1)(Φ) ��������� �����	 
��	6��>7 ��������� ����4

�������	9�� 9�� ������� �9������� ��� �� ���5� 
���
�������� ���	6��>7
C(1) ������7 �����	6� 8��6
4� �	������������

2�����
���� �.�� </���������������
�1��	��
����� ?@'7 %@A= D�� ����,�
Φ 
�	�
�*� �
4� ���9� �
����	����� (2nR, n) ��
4��*4���� � �
��
�� n → ∞
�
2���-. 	
����
�*
�

R = χ(Φ). 1$�$%/2

����	��: C(1)(Φ) ≤ χ(Φ)� �� 6��� 
���:��	9� ���	���	��� �����6
�	6��

C(1)(Φ) = χ(Φ) 1$�$%(2

B�� ����� �����	 �� � 
������ �������
 �	������	9� ����5� ���	:����� ��
B(H⊗m

we )� 
��	6��>7 ��������� ����4
 Φ ��������� �����	 
��	� C(m)(Φ)�
����
��	� �	� ��	�6
�	 �����6���� m ����������� ����5� �
��������� 
���
���6 �
������	 �����

�	 
�6����� ���>���6� ����
 �����	9� 
��	��4���6�

������ ���	����� 
:�7 ����4
 Φ� 3��
����	 
�95���	��	 K�� $�$) 
�������
��� C(m)(Φ) = 1

m
χ(Φ⊗m)� ���	6��>7 !��	�� 1
���� ��� 1$�$%C22 ������� �	��

�
 ���� 6����6
6 
� ������	 ���������� 6�	������ ���	>������ �� 
��	,
����	�� H⊗m

we � ������� �� 
��9�����7 �
4�� �� �����:	� m ��������	9�
�
������� �� 
��	6��>7 ����4
 Φ� U���� ��
��:�7� :	 �������
�	 �	������
C(m+1)(Φ) ≥ C(m)(Φ)� ���	� C(∞)(Φ) = limm→∞ C(m)(Φ) �������7 �����	6�



���  ���!��� !����� ��"�����#� $*


��	6��>7 � ���
����� 9�� ������� 6� ��4������ ������� � ������	 ���,
�5� ��������� C(∞) 
��9������ �
4�� �
������� ������	9� ���6���
 � �	��
6����6���� �����>��� 
��	6��>��� ���� 6�:�� 
�����7 ��� ����4
 Φ�
���	6��>7 ��������� ����45� ����������� � ��5���� ��4� 6��� 
���:	�


��	������� ��� �����

����	�

• ����4 ��	�������>�����
F
��6���� 6�	������� ����5� ��� ����4
 ��	�������>����	9� �� { 1

n
, |ei〉}�

9���	 |ei〉 �� �	�����6� � ������	� ���� �������6���	� �� 
��	����	��
Hwe� P��	�� i 
��	��	9� 
� ���������� �	������� � �����

C(1) = log n 1$�$$%2

• ��6��� 
���	�������
��6��� 
���	������� 6� ���� ��6� 
��	6��>7 ��� ����4 ��	�������,
>������

C(1) = log n, 1$�$$$2

�	���� � ��6 
���
���
 �����	�	 ����� �	��� �
��6���� 6�	������� �

������� { 1

n
, |i〉}� ?���� |i〉 �� ��	�	�6������	 
��	� 
���	����� �	O��
,

���	 ����4�

• ����9�������	 ����

����4 ����9� 6����6���� 
��	6��>7 �� 6�	�������	 ����5�� {pi, |i〉}�
����4�� 
�����
�����	;���� pi �������� ��� 6����6����
��� �����>7
>�	���	� 	����
�� ���>��� S(

∑
i pi|vi〉〈vi|)� E	 ��9���
 �� �����4�>7 	�,

���
��� ������	 �� 6�:�� 4���� ������7 �� 
�6��� 6����6��������
�
6	�����	�� �
� 6	���� 9����	������

• ����4 �6�	������� ���� 8��� ���� ���,8���
��� �
: ���	>��	� ��
�6������ ��� ��:�	9� � ����45� �����	�	 
���
����5� ����9�������� |v〉, |v⊥〉�
 ��	�6�	�������� �	 ��9���
 �� ����,
4���	 ��
���	���	9� �
	������ �����
� F
��6���� 6�	������� ��4���
��� �	 ����5� ��	�6�	�������� �����

������ � �5����� 
��
�������
�� 
������� �� 
��	6��>���

C(1) = 1. 1$�$$&2

	;�� 	�� ���������� ��������� �� ����� 
� 
 ��
���� Φ : B(Cn) �→ B(Cn)*�
�
&� �� '�����
��� 
������ 
��
�� ��������� �+���'�
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• ����4 �	
������
����
���	6��>7 ����4
 �	
������
���	9� ������ *D0-�

C(1) = log n+(
p

n
+1−p) log

( p
n
+ 1− p

)
+(n−1)

p

n
log

(p
n

)
. 1$�$$02

 ���	:��>�� �� 
���6	��
 p �6�	��� ��� ��� � ����	��	 ��� 0 ��� p = 1
�� log n ��� p = 0�

 �65������� 
���:	� 
���
������ 6�:�� 
�����7� :	 ��������� C(∞) =
C(1) *CD� C(� D&� D0-�
E��6�	6� ��� �	��� 
��	6��>��� ��������� ����45� B�
���������� K	6��

�	� 
������9�4 �����	�	������	 �
: � ������ LD%� ?���	95��� 
��9� ��

����
�5����� ��� 
����	6	6 ��������� ��8��6���� � �6

��� >����4� 	6������	

��	� ���	� ���� ��� O������6� �9������	���6� ����	� �����6�����  
����
*/'- 
������ ��� 
�6��4 ������������� ��	����������� ����5� >����4� � �	�

�������	��� 
�����>�� �����6����� F���	��� 
��	9��� ��9����	; ���������� �
��������6� �9������	���6� �� �����6���� ��8��6���� 
��	� ��	���� � �����

��6��	 ����4� B�
�������	 6�:�� ����	N7 � 
������ *($� &0-� ���������	
���	6��� ��6
������� �����:��	 � ����	�>��	 ��	���	9� �	���6����	9� ��,
��4
 B�
�������	9� ���� 
��������	 � ���� 
�����>�� �����6���� �� 1N ����,
��� >�	���� ������ 8����5� �� �	�>��
 ����4
2�

• ��������	 ��8��6���� � ����� S���� ���� �	�	���� ������ 8����5��
RFock = g(N); 1$�$$)2

• ��������	 ��8��6���� � 
��	�
�����	 �	��	� �������
�� (dx, 0) ����

�
5��	9� ���� �	�	���� ��6������� X �

RHM = log
[√

1 + 4N
]
; 1$�$$'2

• ��������	 ��8��6���� � 
��	�
�����	 ��
 �������
� (dx, dp) ����
 �
5�,
�	9� ���� �	�	���� �	�	�������� X,P *)D� C/-�

RSP = log [1 +N ] ; 1$�$$D2

• ��������	 ��8��6���� � 
��	�
�����	 �	��	� �������
�� �	���6���,
�	9� ����
 >��>����	9� (dx, 0) ���� �	�	���� ��6������� X *($-�

CSC = log [1 + 2N ] . 1$�$$C2



���  ���!��� !����� ��"�����#� %�

���	9��� 	��
	��6	��5� ���������� � ������������	6 ����5� B����������
� ��6
������� ��������	� 6�:�� ����	N7 � 
���� *'-�
S��6
4� !��	#� 1$�$%C2� � 
���
���
 ����45� B�
���������� �������
�	

� ��	�������	 �6�	����	� 
�������

χ(Φ) = sup
{px,ρx},��[Hρ]≤E

[
S(Φ(ρ))−

∫
dxpxS(Φ(ρx))

]
, 1$�$$/2

9���	 ρ =
∫
dxρx� �������	 ��� � 
���
���
 ����������� ����45� B�
����,

������ ���	:��>7 8��6
4� 1$�$$/2 ��
	���� �9������	��	 �� >�	���� 	�	�9��
����5� �	�>������� P : ��[Hρ] ≤ E� ��5�	 �����	 
����6
�	 
����7 �9����,
��	��� �� >�	���� ������ 8����5��
F�	���	 ����� �	�� ����� 
��	6��>7 ����4
 ��	���	9� I�

C(∞) = g(N) 1$�$$(2

���� n 6����	9� ����4
 �4
6���	9� *)'-�

C(∞) = max
Ni:

∑
i Ni=N

g(TiNi), 1$�$&%2

9���	 Ti ���	>�� �����6������� ����4
 ��� 6��
 i � Ni �� �9������	��	 ��
>�	���� ������ 8����5� � ��6 6����	� E�
��:6�� :	 
��	6��>7 ����4
 ���	:�
�� �4�>���	� �������� ��4�����	� ������ 8����5� N �����
�	� ��� �������� G��
��
 ����45� �������� C(∞) = C(1)�
����

����� ���� :	 
��	6��>7 ����45� B�
��������� ����9��� �	�� 
��	�

B�
�������	 6�	������� ����5� B�
��������� *'D-� ���	6��>7 !��	#� 1����
B�
������� 
��	6��>7 !��	#� χG2 � ��6 ����	�>��	 ������ *')-�

χG(Φ) = sup
Y≥0

S(φ(γ + Y ))− S(φ(γ)), 1$�$&$2

9���	 γ ������� 6���	�� ����������� ����
 6���6����
���	9� S(φ(γ))� F
��,
6���� 6�	������� ����5� �	�>������� � ��6 
���
���
 �� {pd, ργ,d}�  �����,
��	 ����� � 6�	������� 
�������� ���� ��6� 6���	�� ����������� γ� P�8��6����
�������� �	�� � 
��	�
�����	 d ����5� �	�>�������� ��5�	9� ����4�� 
���,
��
�����	;���� ����:� 8��6
4��

pd =
1

πn
√
det Y

exp
(−dTY −1d

)
. 1$�$&&2



%� ������������

V�	��� ���� �� �	�>��
 ����4
 6� 
����7 ρY+γ,0� {pd, ργ,d} �	�� 
����4��	6
������	� ��������*���� 1��9� 6��
������ ��
���	�2� 9���	 6��
����� 
���	9�

��	�
�����	 ����
 �	�>����	9� ργ� ����������� �	 ����
 1$�D$2� �9������	��	
�� >�	���� 	�	�9�� ����5� �� �	�>��
 ����4
 P : ��[HρY+γ,0] ≤ E 6�:��
������7 � ���	9������ >�	���	� ������ 8����5� 
���
��������� �� ���� �	�,
>������

n∑
i=1

1

4

(
(Y + γ)2i−1,2i−1 + (Y + γ)2i,2i − 2

) ≤ N, 1$�$&02

9���	 i ���	��
�	 6��� �	�>����	 ����4
� E�
��:6�� :	 ���
�	� 1$�$&02
��	�6
�	 ���5��� 	�	�9�� 
����	��� �� �������	��	 ����
 ργ ��� � �� �
:���
�� �	9� 6��
����� 1
��	�
�����	2�
F������	 ���	���	��	 
�	�	������	 � �	� ���>�� �� ��
���	���� K�� $�$)

��� ����45� ���������� � ��	��6� �������6��

2�����
���� �.�, !
��� {px1, ρx1}, {px2, ρx2} �3���3�*4 �����
���
� �
��
�3��
�� �	��9� ��*-�
����� ��� ������9� S1 
 S27 3 ����
 ρ1 
 ρ2 	� �	���
-
���
� ��� 	��� �
��3��
�6 H��3�
 ��*����-�
 ������3��* R(1)(Φ) ��� ����,�
Φ �	����
 �����,4 �	��3�2 3�
�
� ��3��	�
�� ���	�
9� (R1, R2)7 ��� �	9
���

�	�
�*4 �
��3��
�� �	��9� ��*-�
����� {px1, ρx1}, {px2, ρx2} 	��
�7 8� ?'A�

R1 ≤ I(X1 : Y |X2) 1$�$&)2

R2 ≤ I(X2 : Y |X1) 1$�$&'2

R1 +R2 ≤ I(X1, X2 : Y ). 1$�$&D2

M�
��,� �� 
���
���*2 �3�*���4 �
3�*��*� 	� ���	�.� I(X1, X2 : Y ) =
S(Φ(ρ1⊗ρ2))−

∑
x1,x2

px1px2S(Φ(ρx1 ⊗ρx2)7 3�- ��
������ 
���
���*� �3��
*���� ���� *��	 �3�
��� I(X1 : Y |X2) =

∑
x2
px2I(X1 : Y |X2 = x2)7 ��3
�

I(S1 : Y |S2 = x1) = S(Φ(ρ1 ⊗ ρx2)−
∑

x1
px1S(Φ(ρx1 ⊗ ρx2))6

K��	���	��	 �� � ���
����� �
��5� 
�95���� ��� ��� ������	� ������ ������5��
E��576� 
��9� �� 
�����	;���� ���	���	; ���	>�������� ������ 
��	6��>��
��������	� � 
���
���
 ��	�������
��	9� ����4
 �������	9� 1K�� $�$'2
���� ��	�������
��	9� ����4
 ��������	9� 1K�� $�)2�
K�� ��� � 
���
���
 ����45� � �	���6 �������� �
��� �5���	: �
��,

����� ��� ������ 
��	6��>�� R(Φ)(m) ��� ������	��� ���
����� 9�� �������
6�9� ������������7 
������ �����6���� m ��������	 ����� �
�����	� �	,
9
���������� ������ 
��	6��>�� ��������	� �	O��
�	 ��� ���� R(Φ)(∞) =
limm→∞ R(m)(Φ)�
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���� 

���	9��� �����5�� ����������� ���� �
������� � �����6���� ��8��6���� ���,
�����	� ���� ��������� 
��	6��>�� ��������	�� ������	6� �� ��	�������
,
���� ����45� ���������� ����4������� � �������	 �6�	����� �����	������
E�9����	��	 ��������� 
�����	�� �
��� 
����7 �

	����������>�� ������5�

��	6��>�� ��������	�� �� ����� �	 ����	95���	 ����	���6� ���	��������	 ��,
���� �����
�� �� ���	 ���������� �5:�	 8��6� �

	����������>�� ������5�

��	6��>��� 1�2 ������ 
�����>�� �����6���� 
�����	95����� ������5� 
���
���������
 4����	� 
�����>�� �����6���� RT � �� � ������������� 
���
��,
����� ���:	 ��� �	 ���	6��	6 9���	9� ��������� ���� ������	6 ��5:����,
����� ����5� �� ���>��
 ����4
 �������	9�I 1��2 ������ 4����	� 
�����,
>�� �����6���� RT � ������ ����	��	���� �
����������>�� 6���6���	� 	�,
���
�� ���>��� Hmin� ?

	����������>7 ��

 1�2 ����������� �����	 6��,
��� ����6� � ����	�>��	 
��	��������� ������
 ���	9� 8��6
4�6� �	���,
��������6� 1� ����4���� ��� ��5���� R(∞)(Φ) = R(1)(Φ)2 ���� �
4��

�
������� �� ����9���	 �	9
���������	9� ������
 
��	6��>�� ��������	�� �
����	95���>�� �
4��
 �
������� ��	����������	9� 1� ����4���� ��� ��5����
R(∞)(Φ) � R(2)(Φ) � R(1)(Φ)2� �������� �������	 �5���	: 
����4�� �

	�,
���������>�� �	9
������������ ������5� 
��	6��>7 ��������	��
J�����	 	8	��5� ��������� ���� �

	����������>�� �	�� � 
���
���


�6�	����� �����	����� ����	95���	 ��������	 �	 ��9���
 �� 
����� �
����
6��	6������� � 
��������� ������� �� �6���7 ��	
����	��� ��6
������� 
��,
��������� �����5� � ��

�7 ��� �� ������	 
�	�	��������� ��9����	;� E�,
�	�� �	 ���	�� �	���� ��

�7 
����	6�6� ���
�� �	�������	�� ������6� � ��,



%% ,-!����#� ��#����.�� -��
�����# � -���/��0 ��
-��!���0

��	 ���7 
��� 
�5��	 	��
	��6	�����	� �	��O����� �6�������� �
 ����	
����
 ���	� ����	9545� �� �	� �	6�� ����	���� �������	 � ���>�� &�0�

��� �������

�� 
��	���� �
���

��� � ��
��

���
�� �
��
��� ������� � ��
����� ������	�


���

R1

R2

b)

1

2

21

R1

R2

a)

1

2

21
R1

R2

c)

1

2

21

V

W

V+W

���
�	� &�$� .��������>7 ������5� 
��	6��>�� ����45� ������������ �2
��5�� ������5� 
��	���
�	 ��6
������ �� �	9� ��6	9� �������� 
��	� ��	,
���	:�	 ������	 ����4� ��6	������	 � H(p) = 0.5 � H(p) = 0I �2 ������

��	6��>�� ������	9� ����4
 "F�I �2 ������ 
��	6��>�� �5����	94	9� 
�,
4���	��� 
��	����������� ���	>��	� ����45� �	�� �5��� �
6�	 =��������	9�
������5� 
��	6��>�� �2 � �2�

 
���� ���6
�	6� ��� �����6���� ��8��6���� ��������	� � ���
����� 9��

��	������ 
���	�
 ��6
������� 6�9� ��������7 �5�����	>��	 � ����
 ����45�
��	�������
����� ��
����� �	��� �	9� ��	����
��� �	��� � 
���
���
 �������,
���� ����45� �����	������ ���������>7 ������5� 
��	6��>��� ���� ������



��� ,���!����.1 ��
���2� ��#����.�� � ���������# ��!����� ��#.��� �
-���/��0 -��
������0 %&


��	6��>�� 
������� ��� �5����	94	9� 
�4���	��� ����45� �	�� �
6� 9	�,
6	������� ������5� 
��	6��>�� ����45� ��4��������  4�>����>7 ��� ��5�	�
4�6���	 
������ 65��7 � ��������6 	8	���	 ���������� 
�6
�	 �����

���	
���	���	��	�

2�����
���� �.� H��3�
 ��*����-�
 ����
�	���� �
������	2����� ����,9�
������3���� n����& *��	 ����	�����

R(ΦA ⊗ ΦB) = R(ΦA) +R(ΦB), 1&�$2

��3
� + �3���3� ���2 �����	
��3�4� R(ΦA) + R(ΦB) = {uA + uB : uA ∈
R(ΦA), uB ∈ R(ΦB)}6
����:	� ���4���6�� :	 ������ ����4� 6��� ���� ��6� ������ ������5��
=�:�� �� ����9��7 
��	� 8��6���	 �����	��	��	 �����
 ������5� ���	9�
����4
 �� ��
���	���	� ��	���>��� 
��� ���6 ��6
����� �� �����������
������5� �	�� �����	 ��������� ?���	95���6 
���
����	6 �	9� ���	���	���
�	�� ���������>7 
��	6��>�� ����45� 1,��,1� K��	���	��	 �	�� ���
�������	
�� ���� &�$�

9���� �.� ���� �����	
��3�� R̃Q(ΦA)+R̃Q(ΦB) ���3�
9� ��*����-�
 ���
��	������� 
�3�,��9� �
���������
�5�	�� �� ���	�.�

O =
{
R ∈ Rn : ∀S⊆E ∀i∈ERi ≥ 0, 1&�&2

RS ≤ I(XA
S , Y

A|XA
SC , Q

A) + I(XB
S , Y

B|XB
SC , Q

B)
}
.

��3
� E 	� 3�
9
 ������9�7 RS =
∑

i∈S Ri <��	
3 F�6 <&6"%==6

-��3�4

 ����
��� �
6�����	 
� ��
54��������� 4���� 
�����7� :	O ����	�� ������
R̃Q(ΦA)+R̃Q(ΦB)� @�������6� �	���� :	 ��:�� �	���� 
�����>�� �����6����
���	:��� �� O �� ��� 
��	������7 ���� �
6� �	����5� ���	:����� ��
���	�,
��� �� R̃Q(ΦA) ���� R̃Q(ΦB)� E	 ��9���
 �� ��

�4�>7 O� ��������	 

����
���	:��	 �� �	9� ������
 6�:�� 
��	������7 ���� ��6������� ������� �	9�
��	�����4�5� *(C-� E��	6 ��������� 
�����7� :	 ��
���	���	 
��	������	��	

�6������ ���
������+��(
�
� ����	���� ��� ��� ���
�������.� �����' �� ��
���
pY |X1,...,XNA

= pY |X1,...,XNB
���� ���� ����	�'	���� �� NA ≥ NB



%' ,-!����#� ��#����.�� -��
�����# � -���/��0 ��
-��!���0

�����	�	 ��� ��	�����4�5� O�  �����	� ��9
6	������ ��
����� ���� ��9��,
��7 �����	 8���� :	 ���5��� O ��� � R̃Q(ΦA), R̃Q(ΦB) �� 
���6������� 1
����
K�� $�'2�
3�	�� π �����	 
	��� �������� �	� 
���5��	; �	 �����
 {1, . . . , n} � v ∈

O �� ��������� ��� �� ��	� ��	�����4	�� E9����	 �	 ����	6 1$�0(2 ��	�����4	�
�	� 6� ��
54�����	�

vi = I(XA
πi
: Y A|XA

πi+1
, . . . , XA

πn
, QA)+I(X

B
πi
: Y B|XB

πi+1
, . . . , XB

πn
, QB) 1&�02

� 6�:�� 9� 
��	������7 ���� �
6� �	����5� vA, vB � ��
54�������� ��
�,
��	�����

vAi = I(XA
πi
: Y A|XA

πi+1
, . . . , XA

πn
, QA), 1&�)2

vBi = I(XB
πi
: Y B|XB

πi+1
, . . . , XB

πn
, QB). 1&�'2

E�
��:6� �	����� :	 �	����� �	 �� ��	�����4�� ���	:��	 ��
���	���� ��
R̃Q(ΦA), R̃Q(ΦB) � ��
���������	 �������� π�

�

 ��������� pQ = δ(Q = 1)� 6�:�� �
������7� :	 �����9����	 ���	���	��	
�������� �5���	: ��� ������5� 
��	6��>�� R̃�

-��3� 72�����
���� �.�84

(⊇) 3�	�� uA ∈ R(ΦA), uB ∈ R(ΦB)� P����	�� ���	6 ����4��� 
�����,

�����	;���� ��6���� �	�>������� pA = pXA

E ,QA, pB = pXB
E ,QB ���� ��
�,

��������	 �6 ������� 
��	6��>�� R̃Q(ΦA)� R̃Q(ΦB) ����	� :	 uA ∈ R̃Q(ΦA)�
uB ∈ R̃Q(ΦB)� 3�	�� R̃Q(ΦA ⊗ ΦB) �� ������ 
��	6��>�� 
������� ��� ���,
�4��
 
�����
�����	;���� pAB = pXA

E ,XB
E ,QA,QB = pApB� ����
�6���6��

:	 ������ 
��	6��>�� ��� 
������	9� ����4��
 
�����
�����	;���� ��6����
�	�>������� 6� 
����7 1
��5���� 1$�&C2 ���� 1$�0&22�

R̃Q = {R ∈ Rn : ∀S⊆E RS ≤ I(XS : Y |XSC , Q), ∀i∈E Ri ≥ 0} 1&�D2

������������ pAB �� 
���:��	� 8��6
4� �����6
�	6� R̃Q(ΦA ⊗ ΦB) = O�
E��	6� �� 6��� �	6� &�$ �����6�� :	 uA + uB ∈ R̃Q(ΦA ⊗ ΦB)� 3� 
��,
�����	 �	O����� ������
 
��	6��>�� �������� R̃Q(ΦA ⊗ ΦB) ⊆ R(ΦA ⊗ ΦB)�
 �����
�	6� ���	6� :	� uA + uB ∈ R(ΦA ⊗ ΦB) �� ��;��� ���5��
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(⊆) 3�	�� u ∈ R(ΦA ⊗ ΦB)� �������	 ���������6� � 8���
� :	 ���
�	����� 
�����>�� �����6���� u �����	�	 ����4�� 
�����
�����	;���� ��6,
���� �	�>������� pAB = pXA

E ,XB
E ,QA,QB ���� ��
���������� 6
 ������ 
�,

�	6��>�� R̃Q(ΦA ⊗ ΦB) ����� :	 u ∈ R̃Q(ΦA ⊗ ΦB)� ����:	6� �	���� :	
u ∈ R̃Q(ΦA) + R̃Q(ΦB)� 
��� ���6 ������� R̃Q(ΦA) ���� R̃Q(ΦB) �����4�
���������	 ��� ����4��5� 
�����
�����	;���� pA, pB �������� ������	6
>��������� ����4��
 ���>����	9� pAB 
� ��
���	����� 
������	6�����

E�����	6� �� ����
 ���	������� ��5�	 
4����� �����	 ������	���� ����:	�

:���7 �����	6� ��
��
 xAS , x

B
S , xS = {xAS , xBS } �� ������	��� �	����� ��6,

���� �	�>������� �����6��������� ��
���	���� 
��	� ΦA� ΦB� ΦA⊗ΦB 
��	�
������5� ���	:����� �� �����
 S�

E�
��:6� ���
�	��� :	 ��� ������	9� 
�������
 ������5� S ⊆ E� >�	�,
��� 	����
�� �� ���>��
 ����4
 
���
����	9� ΦA ⊗ ΦB �	�� ��	 ������� ��:
�
6� >�	����� 	����
�� �� ���>��
 ��:�	9� � ����45� ��4��������

H(Y |XS, Q) =
∑
xS ,q

pxS
H(Y |XS = xS , Q = q) 1&�C2

≤
∑

xA
S ,xB

S ,qA,qB

pxA
S ,xB

S ,qA,qB

(
H(Y A|XA

S = xAS , Q
A = qA) 1&�/2

+H(Y B|XB
S = xBS , Q

B = qB)
)

=
∑
xA
S ,qA

pxA
S ,qAH(Y A|XA

S = xAS , Q
A = qA) 1&�(2

+
∑
xB
S ,qB

pxB
S ,qBH(Y B|XB

S = xBS , Q
B = qB)

= H(Y A|XA
S , Q

A) +H(Y B|XB
S , Q

B), 1&�$%2

9���	 � ����
 1&�/2 �����������>6� � �
����������>�� 	����
���

K	��� 
���:	6�� :	 
���
���� 	����
�� 
��	� ����4 
���
����� ΦA ⊗ΦB

�	�� �5��� �
6�	 	����
�� 
���
�������� 
��	� ����4� ��4����	�  ��,
�����	 ���������6� � 8����������� 
�����
�����	;���� 
��	�>��� pY |XE

=

�pA = P (XA
E = {xA

1 , . . . , x
A
n }, QA = qA) =

∑
xB
E ,qB pxA

E ,xB
E ,qA,qB � �����.������ ��<��'�

	��� pB�



%) ,-!����#� ��#����.�� -��
�����# � -���/��0 ��
-��!���0

pY A|XA
E
pY B |XB

E
1
���� G	8� $�C2 ��� ΦA ⊗ ΦB�

H(Y |XE) = −
∑
xE ,y

pxE ,y log py|xE
1&�$$2

= −
∑
xA
E ,yA

∑
xB
E ,yB

pxA
E ,yA,xB

E ,xB
E ,yB log pyA|xA

E
pyB |xB

E
1&�$&2

= −
∑
xA
E ,yA

pxA
E ,yA log pyA|xA

E
1&�$02

−
∑
xB
E ,yB

pxB
E ,yB log pyB|xBE

= H(Y A|XA
E ) +H(Y B|XB

E ). 1&�$)2

��������7 �����	6� �5���	: � 8���
� :	 ���>��	 ����4
 ���	:� ����� ��
�	9� �	�>��� < :���� ��������� ��8��6���� ��	 �
4��� �� >�	���� 	����
��
�� ���>��
 ����4
�

H(Y |XE, Q) = −
∑
xE ,y,q

pxE ,y,q log py|xE ,q 1&�$'2

= −
∑
xE ,y,q

pxE ,y,q log py|xE
1&�$D2

= −
∑
xE ,y

pxE ,y log py|xE
1&�$C2

= H(Y |XE). 1&�$/2

����:��	 �5�����	 �	�� 
�������	 ���5��� ��� ����45� ��4������� ΦA� ΦB

��� � 
�4���	��� �5����	94	9� ΦA ⊗ ΦB�

 �576� �� 945��	� ���>�� �����
� ����������� � 
��	����������� ��,
�	������� 6�:	6� 
���7 95��	 �9������	��	 �� ��8��6���� ����	6�� I(XS :
Y |XSC , Q) �����

���� � �	O����� ������
 
��	6��>�� R̃Q(ΦA ⊗ΦB) 1
����
��� &�D2�
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I(XS : Y |XSC , Q) =H(Y |XSC , Q)−H(Y |XS, XSC , Q) 1&�$(2

=H(Y |XSC , Q) 1&�&%2

−H(Y A|XA
S , X

A
SC , Q

A)−H(Y B|XB
S , X

B
SC , Q

A)

≤H(Y A|XA
SC , Q

A) +H(Y B|XB
SC , Q

B) 1&�&$2

−H(Y A|XA
S , X

A
SC , Q

A)−H(Y B|XB
S , X

B
SC , Q

B)

= I(XA
S : Y A|XA

SC , Q
A) + I(XB

S : Y B|XB
SC , Q

B),1&�&&2

9���	 ��5� 1&�&%2 ������ � �4����>�� 8����������� 1
���� ��� 1&�$)22 ����,
6���� ��5� 1&�&$2 � �
����������>�� 	����
�� ���
����	� 1
���� ��� 1&�(22�
���5��
��� 
������	 �9������	��	 � ������	6 O ������6 
��	� 1&�&2

�����6�� :	 R̃Q(ΦA ⊗ ΦB) ⊆ R̃Q(ΦA) + R̃Q(ΦB)� � ���	6 u ∈ R̃Q(ΦA) +
R̃Q(ΦB)�

�

����	��: ����4 ΦA ⊗ ΦB �	�� �5���	: ����4	6 ��	�������
��6� K�� $�)
6�:�� �������7 �	�
�	������	� 
����
��� � �	� �
��5� :	 ��� ������	9�
�����
 �����	����� ����45� ��	�������
���� ���������

R
(⊗

i

Φi

)
=
∑
i

R (Φi) . 1&�&02

���	��������	 ���	���	��	 
��	�	 ��������6 
����
�	� :	 �	9
����������
������ 
��	6��>�� ����45� ��	�������
���� ����:� ��� 8��6
4�6� �	�����,
������6�� R(∞) = R(1)� ������� �������� ���	���	��	 � ��������
 1
����
K�� $�)2 �� 
���
���
 ΦA ⊗ΦB� ��������� ��� ��:�	9� � ������5� Si ���,

������7 ����4��� 
�����
�����	;���� � 
������ pXA

i ,XB
i
= pXA

i
pXB

i
� J��,

���	� �95��	 ����4��� 
�����
�����	;���� ��	O������	 �� ASA
i
× ASB

i
��	


������� �� ������
 ������
 
��	6��>��� ���� ������	������	� �� ���	6
�
��6���	 ��� ΦA ⊗ ΦB�

�=�� �����������	�� ����
 ({fA
i }, gA, {AWA

i
}), ({fB

i }, gB, {AWB
i
}) �� ��
���

({fA
i × fB

i }, gA × gB, {AWA
i

× AWB
i
})� &��
� ����
� ���' �����������	��.� �� ����

(sAi , s
B
i ) .���� 
��
� ����
� sAi � sBi �������� ����
������ �� ����

��.� � ��'.��.� ���'

� 
� ����
����
��� ����� 
�	���� ������
 ΦA � ΦB �������� �� Si�
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E ���������>��� ������5� 
��	6��>�� �	�� ������ �������� ���������>7
6���6���	� 	����
�� ���>��� Hmin�

Hmin(ΦA ⊗ ΦB) = Hmin(ΦA) +Hmin(ΦB). 1&�&)2

G��5� �	9� 8���
 ������ ������6���� � 8����������� 
�����
�����	;����

��	�>��� pY |XE

��� ΦA ⊗ ΦB�

���  !��� �
�
��
�� 
��	 �����
� ���"��
��

przygotowanie
stanu Bella |φ+〉

Linie 1 qbitowe

pomiar Bella

σi

2 bity danychnadawca

odbiorca

pomiar Bella

przygotowanie
stanów Bella |φ+〉

A

D

C

B
wykreowany
stan splątany

a)

b)

���
�	� &�&� �2 ���	6�� 9���	9� ���������I �2 ���	6�� ��6���� �
�������I
�
�� ������5� �����
�	 ��� � �	�>��	�

����:	� �
����	 ������� ��� ���	6��� 
	4����	 ��
����� 8
����� � 
�	,
�	��������� ���	� ��������� E�����	6� �� ���	6��
 9���	9� ��������� *$D-�



��$ ����-� &�

F����� ��� �� �� ���
����� � ��5�	� ������� � �������� � 6�6	���	 �����,
6���� ��
54���	�� ���� �
������� G����
 �� �	9� ��������	9� �����
 6�
�
4�� �� 
�����>7 �����6���� ��8��6���� ��������	�� F���9��� � ��6 
���,

���
 �����>7 ������ ��� 
��	6��>��� ��������� ��
�6�9��� �
������	6
*$)-�  ���
�������6 
���
���
� 9�� ������� � �������� ��
54���	�� ����
J	���� |φ+〉 = 1√

2
(|00〉 + |11〉) 1
���� ��� 1$�)C22� ���	6�� 9���	9� ������,
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��	
��,
������� �	�� 4����� 
�6��� � ����	 J	���� ��5�	9� ����� 1& ���� ��8��6����
��������	�2 ��6
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��5� 
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�����>�� �����6���� RT �
���� &�0 ��
���
�	 �5:���	 6����� 
��	���������6� ��
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	����������>7 ������5� 
��	6��>�� ��������	�� �2 ������
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 	8	��5� 
������ �� ������
���� ����	� 
��� ����,
45�� ��� ��5�	� �������� ��
9� � ��6�	������� 	8	��5� */$-� E����	� �������
���� ��5�� 	8	��5�� ���� �5�����	��	 �����
�����	 �

	����������>�� ��


1��2 ���� �
����������>�� Hmin ��� ���	� 
��� ����45�� 6�:�� 
�����7 6����
��� ����45�� ��� ��5���� �������� Φ(ρ̄) = 1

d
I� 9���	 ρ̄ �� ���� >�	��� ��
�,

��������� �
��6���	� 6�	�������	 ����5� �	�>������� � d �� ��6��� 
��	,
����	�� ���>��� ����4
 Φ *CD-�  
���� *0$- ����������	 �� ���	 
���
����
����45�� ��� ��5���� �5���	: 6� 6�	���	 ���� ������� �����	�� E���	 ��	���	

����4��� ����45�� ��� ��5���� �����

�	 	8	�� �

	����������>�� ��

 1��2
1
���� *&C- ���� *)(-2� 
�
��	� ������
���� ����	�
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�����:���� �� �	� �	6�� ���� 
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&% ,-!����#� ��#����.�� -��
�����# � -���/��0 ��
-��!���0

��� n > 2� �	 ��9���
 �� ��6�9��	 ��6	���	� ��	 ���� ��� ��	�
��,
��7 �� �������
 �	������	9� ����5� J	���� � 
��	� �� �� ��������	9�
���	6��
 9���	9� ���������� ���������	 � ���>�� &�0�0 �����:����
���:� ��� �5���	: � ��:��6 �	 ��9���5� 
���������6 ��9����	��	6
����
 �
������� n ������������	9�� ��� ��� ���	9� ����4
 Φ 
�����7
�����������	 
������:	��	 R(n)(Φ) ≈ R(∞)(Φ)� ��	�	������	 ������

������� � 
���� *0%-�

• ��� 6�:���� �	�� �

	����������>7 �	9
������������ ������5� 
�,
�	6��>�� ��������	� R(∞)(Φ) +R(∞)(Ψ) � R(∞)(Φ⊗Ψ)H

�����4�� 
����
����� :	 �

	����������>7 R(∞) 8��������	 6� 6�	�,
��	� �����
�	 ��� � ���>�� &�0�) � 
������� � 
���� *0%-� ���	���������
�	�� ��6 �

	����������>7 ��

 1�2� ?

	����������>7 ��

 1��2 ��,
��:��� � �	�6����� R(∞) ���9�	 
�������	 ��	
��������

• ��� 6�:���� �	�� �

	����������>7 ��

 1��2H ��� 6�:���� �	�� �
�,
���������>7 6���6���	� 	����
�� ���>��� HminH

��������� ��
���	�N �� ��� 
������ �����
�	 ��� � ���>�� &�0�' � ��,
���4� ����	�
����� � 
���� *&C-� �������� �
 	8	�� �
�	�� ��� �� 8
�,
��6	�����	� �4����>�� ����45� ��	�������
���� ���� �	�� ��	���	:��>7
������5�� 
��	� �� �5:�� ��� �� ���������� �� �����
 !�����9�� *)(- �
��	 ���	 ��� �� ��	9� �
�������7� E��	�� 
�	�	������	9� 
��	�>��� �	��
�����	��	 ��9����6
 
���������	9� ��������7 ����� 
����7 ���������,
���� �
 ����45�� �� 
������ 
�65� � �	
���6 ����
6�	��
 6	�����,
�65� ��������� �� 	8	��	6 �
����������>�� Hmin ���� �

	��������,
��>�� R�
 ���� �	����	 ���6�	��7� � ����	��	��
 �� �����5� 
�	�	��������� �

���>�� &�0�'� :	 	8	�� �

	����������>�� R �����4 
������� �� 
����4����	
����45� ��	�������
����� 4�6������ �
������	 *'/-� ����	��: �

	�����,
�����>7 
��	6��>�� ��������	� ��	 �������� ��� 4�6������ �
������	 ����45�
� �	���6 ������� � �	���6 ��������� 
������� 	8	�� �
9	�
�	 ����>�����
�5:���� 
�6����� ����4�6� � �	���6 � ��	��6� �������6�� E����4� �� 
�
��� 
�	����� ��
��:��	 � 
���� *)C- 9���	 �� 
����4�� 
��4
:�4 ��	�������,

��� ����4 4�6���� �
������	 ��
54
���
���� � ����4	6 ��	�������>�����6�
���	��������� ����� ����	 � ���� ���	� �	6�����
���� :	 ������ ����� �

	�,
���������>7 6� 6�	���	 �5���	: � 
���
���
� 9�� ��6
������� ��������
��,4�3�
� 
�
��	� ����4� 4�6���	 �
������	�



��$ ����-� &&

R1

R2

(Rspl,0)

(Rprod,0)

obszar uzyskany przez
dzielenie czasu
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���	9������� ������� ����	���� ������ �����	 �
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�����7
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��	6��>�� ��	�������
����� ����45� ΦA� ΦB

16�:	 ������>��	 ��������7 ���
���� ΦA = ΦB2� G�� 
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����,
6��6�� :	 ����4� �	 
�������� 
� ��5�� ������5�� 3�	�� Rprod(ΦA ⊗ ΦB)
�����	 ������	6 
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�������6 
��	� 
������4� �����������	 �����
�	 ����5� 
���
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���4����7 ��� �����6� �
������6�� 3�	�� Rprod
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��	� ������5� S1, S2 � �������	
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�����7� :	 ����������� �	 ����5� �
��������� �	�	� � ������5��
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��� (Rspl

1 , 0) /∈ Rprod(ΦA⊗
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���
�	 ���� &�)�
G�>������	��� � ����	�
 �
���� �������	� ������ ��� ��7 ���������	�
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�������� 
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��
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��	6��>�� ��������	� ���	,
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����	9� ����4
 Φp � ���6� �������6��
S1, S2 ��
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���	9� � ����4	6 ��	�������>�����6 I� ������� �	��	9�

:����� 
��	� ����4 I ��:�� � ������5� 6�:	 
��	�4�7 �	��4����	 1 +
����
K����6���� ����5� �
�������� 
�6����� ����4	6 Φp� � I 
������ ���	���,
��7 	8	�� �

	����������>�� ��� ������� S1�

S2 : |j〉〈j|
S1 : |i〉〈i|

�
	����� 
������� ��
6

σi σi(|j〉〈j|)σ†
i

|i〉〈i|1− p

1
4
Ip

� ���
���

���
�	� &�'� ?��	6�� ����4
 Φp� F
�� ����4
 ��6�	������� � �	�>��	�

3������ S1 
��	��4� 
�4��� 4 
����6��	 1HS1 = C42 � ������� S2 +����
1HS2 = C22� ?��	6�� ����4
 
��	��������� �	�� �� ���� &�'� =�:�� �� ��6
���5:��7 ��� ������ ��	����� � ���� �� �
	����� 
��������

U =

4∑
i=1

ei ⊗ σi, 1&�&'2

9���	 ei = |i〉〈i| ����6���� σi ∈ {I, σx, σy, σz}�  ���	:��>�� �� ����
� �
����6 �����
�	 ��� 
��
�4�� �� ������� S1� 
��
�4�� �� ������� S2 �	��
6���O������ 
��	� ����4���	 ��
���	���	� 6���	��� ��
��	9�� G�
9� ����
���:	 ��� � ��
6	6 �
���������6 
��	� ����4 �� ����� S1� ?��� �	� ������ �

�����
�����	;���	6 p� �	�� �����
����� 
��	� ���� 6����6����	 ��6�	,
�����6� ����6���� � 
�����
�����	;���	6 1 − p 
����������� �	� �6����
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J��� �	� 6�:�� 
��	������7 ���� Λp⊗I� 9���	 Λp �� & +������ ����4 �	
���,
���������� F������� 6� �����
 ���5��� �� ����� S1 ��� � S2� ����
6��
����
����4���	 ����4
 ����:� ��� 8��6
4��

Φp(ρ) = (Λp ⊗ I)(ρ) = (1− p)UρU † + p
1

4
I⊗ ��S1

[
UρU †] . 1&�&D2

����:	� ����������� �����	 ��	����
��� � ��5��6 �����

�	 Φp=1�  ��6

���
���
 ���� ���>����� �� ����� S1 �	�� �����	 6����6����	 ��6�	����� �
��	 ��	��	 :���	� ��8��6���� � �	�>����� ����4
� G�� 

������	��� ����
��5�
6�:�� ���	6 
�����7� :	 �������� 6� �����
 ����� �� ����
 ���>����	9� ��
����� S2� F�
������ �� �
	����� ���>����	9� >���
�
����
��6� �	��� 95��	9� �9������	��� ��� ������5� 
��	6��>��R(∞)(Φp=1)

���� R(∞)(I)�  ��>��	 ����4
 Φ⊗n 6� ���6��� n +���5�� 3� 6��� �9����,
��	��� !��	#�� 
�4�� n +������ 6�:	 ��	>7 �� �����:	� n ���5� ��8��6����
��������	�� K� �������� :	 �	9
���������� ������ 
��	6��>�� 6
�� �
	4���7�

R1 +R2 ≤ 1. 1&�&C2

������� ��9
6	������ 
������� �� �9������	��� ��� ������
 
��	6��>�� ��,
��4
 ��	�������>����	9� I�

R1 ≤ 1, R2 ≤ 1. 1&�&/2

����:	� �������6�� :	 ���������	 
��	� ������ �9������	��� ������5�

��	6��>�� �� ����9��	 
��� 
:���
 ����5� 
���
��������  
���
���

9�� ������� S1 
��	��4� ����� �	�	� 
������� ����� 
���	��6� |0〉� ����

��	��4��� 
��	� S2 ���O� �� �������� � ��	�6�	����	� 
������� �� 
�������
�� �	����� 
�����>�� �����6����� (R1, R2) = (0, 1)� 3���6���� 9�� S2 �����	
���9�	 ���� |0〉� ������� S2 6�:	 
��������7 9� �	� �6��� 
��	��4���� ����
|0〉 �
� 
��	�����4��7 � σX |0〉 = |1〉 
��	��4���� |1〉� F������� �� ��:��6
���	6 �����6
�	 ���� ������� 
���
���� 	����
�� 
��	� ����4 6� �����>7 0�

�����>7 �����6���� ���	:� ���	6 ����� �� 	����
�� >�	���	9� ����
 ���>���,
�	9�� ?���� ��� �
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� �����6
�	6� �	���� 
�����>�� �����,
6����� (R1, R2) = (1, 0)�  
���
���
 I �9������	��	 1&�&/2 �	�� ����9��	

��	� 6�	������� ��4������	 ��� � �5����� 
��
������� �	 ����5� |0〉, |1〉�
�����
�	 ��� :	 ������� 
��	6��>�� R(∞)(Φp=1) ���� R(∞)(I) ���������	 ��

��	� 8��6
4� �	����������	� ��� R(∞) = R(1)� K����6���� �
������� 
�6��,
��� ��
��6� �	9� ����4
 ��	 �������� ������
 
��	6��>���
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9
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�	#� ��
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�	6� �9������	��	
95��	 �	9
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R1 ≤ 3, R2 ≤ 2, R1 +R2 ≤ 3. 1&�&(2

.�� 
�����7� :	 �9������	��	 �� �	�� ����9���	� ����4�6� ��� �� ����	
���
9���	9� ���������� 3�	�� ������� S2 
��	��4� �����	 ���� |Ψ+〉 = 1√

2
(|00〉+

|11〉)� ��	����� ���>7 ����
 �����6������� �	�� 
��	� ����4 Φp=1� ����6����
��
9� 
��	� ����4 I�  ���4���� �	�	� � ���	�	�� ����5� |0〉, . . . , |3〉� �������
S1 �
4��� �� ���� 
��������� �� S2 � �	���
�	 � ��6� ��5�� � ���	�	��
����5� J	��� �����6� ��������� ����	��: ����� J	��� �� ����	6��	 ����,
9�����	� ������� S1 6�:	 �� �	���6 
:���	6 ����4
 
��	����7 �	��4��,
��	 ������� � ���	�	�� ��6
�����5�� 3������ S1 6�:	 �5���	: 
��	�4�7 1
��� ��8��6���� 
��	� ����	 �	�>��	 ����4
 I�  �
6�	 
������� �� �� �	�,
���� 
�����>�� �����6����� (RS1 , RS2) = (3, 0)� �������4	 
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�	6��>�� ���	9� ��	�5���>���6� 1&�&(2 6�:�� �����6�7 
�
��	� 
���	�
��
���	�	��	 ����
 ���� ��� �� �
����� �	 ����
�	� �	9
���������� ������ 
�,
�	6��>�� R(∞)(Φp=1 ⊗ I) 
������	 ���� �	�� 8��6
4�6� �	�����������6��
F����� R(∞)(Φp=1 ⊗ I) �����4 
������� �� ���� &�D��2� ���5��
��� 9� �
������	6 
��	6��>�� ����9���6 � 
���
���
 �����6���� ����5� 
���
���,
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��>�������� ������ ������������
 �
�������� ������� S1�
E��576� 
��9� �� �����

���� �
 ���6	���� 6����� �������6� S1 �
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������	�  �	� �
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�5:�������>�� ����5�� ��5�	 �����6
�	 ���������
3� ����	� �	� ���>�� �������6� �	����	� ��� 6�:�� 
��	�����4��7 ����4

Φp=1 � ����4 Ψ ��6	������� �	 ��9���
 �� ��6���� ������5��  ��6 
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 �
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 �� ���6��� 
��	����	�� ���>���� ������ 
��	6��>�� ����4
 Ψ

�9��������� �	�� 
��	��

RA ≤ 1, RB ≤ 1, RA +RB ≤ 1 1&�0%2

 �	�����4	� (1, 0) �	�� ����9���� 9�� ������� SA 
��	��4� � �5���6 
���,
��
�����	;���	6 ����� |00〉, |01〉 ����6���� ������� SB ����� ���� |00〉�
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��5� �����9������ �������4	 
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���� ����4
 Ψ� � �54�
 �����>7
	����	�� ��������� ��� �� ���	9� ����
� ����:�� �� ��;�
 ����� �������� :	
�������� �����6
�	 ���� 6����6����	 ��6�	������ ������������ ���6�� σi
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	����� 
�������� |00〉〈00|⊗I+|10〉〈10|⊗σx+|01〉〈01|⊗σz+|11〉〈11|⊗
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	����������>��� 
������	 ���������6� �
����4
 ��	�������>����	9�� I� F����� 
��	6��>�� ��� ����5� 
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R(Ψ) +R(I) ���� �	�� � ��6 
���
���
 
��	��

RA ≤ 2, RB ≤ 2, RA +RB ≤ 3. 1&�0$2

K	��� �������6� ��� �� ������ 
��	6��>�� �
4��� �����6���� ����5�
�
��������� G���	 �9������	��	 ��� �	9� ������
 �����4� 
��	��������	 ��
���� &�/�  �	�����4�� (1, 2) ���� (2, 1) 6�:�� �����6�7 
��	��4���� �����

���
����	� ����	9� 
���:	� �������	 �
����� �	����	 ��	����
��� ��5�� 
�,
����� ����9��7 ��	�����4	� (2.5, 0) ��
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� �����.������ �� 
�.� �' �� 
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�	� &�/� G���	 �9������	��	 �� R(Ψ⊗ I)� ��9�
�����6� �����6� �����4
���������� ������ R(Ψ) +R(I)�

3�	�� ������� SA 
��	��4� � 
�����
�����	;���	6 1/8 ����� � 
������
|i〉|i′〉� ?��� |i〉 ∈ {|00〉, . . . , |11〉} 
������� �	�� �� �	�>��	 A1, A2 ����4
 Ψ �
���� |i′〉 ∈ {|0〉, |1〉} �� �	�>��	 A′ ����4
 I� 3������ SB 
��	��4� ��4� ����
���� 1√

2
|0〉(|00〉+ |11〉)� 9���	 ���� J	�� �	�� �������� 
��	� ����4 I ���� �����

B2 ����4
 Ψ� G�� ���	9� �	�>��� (i, i′) �������� �����6
�	 �����

ρi,i′ =
1

2
|F 〉〈F | ⊗ 1

2
P⊗ |iA2〉〈iA2 | ⊗

1

8
P⊗3 ⊗ |i′〉〈i′| 1&�0&2

+
1

2
|S〉〈S| ⊗ 1

8
P⊗3 ⊗ |ψi〉〈ψi| ⊗ |i′〉〈i′|

?��� ���>����� ��4��� ��	 � 	����	�� ��8��6
���	� � �����	 
���� ����4
 ����
6 +���5�� ��	����	 4 +���� �� ����	 A1, A2, B1, B2 ����4
 Ψ� Z���� 5 � 6 +��� ��
����	 A′ � B′ ����4
 I� �	>�� ����4 
���
�	 � �����	 F � �� ����� S2 ����������
�	�� ������� � �5���6 
�����
�����	;���	6� �
	����� I �
� σY � ����	��:
�
	����	 �	 ��	 �6�	����� �	����5� |0〉, |1〉� �������� �	�� � �����	 �������7
��6
����� 
��	��4��� ����� A2� 3���6����� 9�� ����4 
���
�	 � �����	 S�
�
	����� σi ������������ 
��	� ���� 
��
�4��
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�	�� ���������� �� �����	 J	��� �����������6 
��	� SB�  ���� �	� �
	�����
�� ���� ψi� V�	��� ���� �� ���>��
 ����4
 ρ̄ = 1

8

∑
i,i′ ρi,i′ 6� 
����7�

ρ̄ =
1

2

(
|F 〉〈F | 1

64
P⊗6 + |S〉〈S| 1

64
P⊗6

)
1&�002

=
1

128
P⊗7 1&�0)2



'� ,-!����#� ��#����.�� -��
�����# � -���/��0 ��
-��!���0

A����
�	 �
������� ����5� ������� ��
���	���� S(ρi,i′) = 4.5 � � S(ρ̄) = 7�
3� 
�������	 K�� $�$)� 
�����>7 �����6���� RA = 2.5� 3������ SB 
��	,
��4� ����� �	�	� ����� ����9��� 
��	� ��	9� 
�����>7 �����6���� ������ ���	6
RB = 0�
 
��������� ��	�����4���� �������������� 
��� ������ 
��	6��>�� ���

����5� 
���
������� �	�	� � ������5� ���	� 
	4�� 8
����� 
�6������� F
�,
���� ��:	� ��6	�������� ��
��
�	 �6��	���	��	6 ��	���>�� 	8	��
 ����������

����� -.������ �	����
	
$�� � �����, �	��� ������
 ����

��
��
��

 �

���	

E��6���7 ��� �	��� �����	6� 	8	��	6 �

	����������>�� �����

����6 
��,
���� ��	�������	9� 
:���� �	9� ��6	9� ����4
�  �����:������ 
������	

��4
:�6� ��� �
���������6 ���	>��	� ����4	6 Φp� �� ��5�	9� 
����4����	
�������6��

R(1)(Φp) � R(2)(Φp). 1&�0'2

����6	�� p ���	:� ��6 ���	6 �� 
��	����4
 (0, 1)� � ��5��6 �� ����	��	
����4 �
������� ��	��������� ��
6� ���	� ��	��������� ���
6�	6� �
���
���
����� 9�� ��	 6�:��� ��� ��� 
�
��	����� ����
��7 ����
6���	9� 8��9,
6	��
 ����
 ���>����	9� ����4
 �	 ��9���
 �� ��	����� 
��	�	; ��8��6����
� �����	 �	�>�����6�
 ������	��	 ��4	9� ������
 
��	6��>��� ���	� � 
���
���
 8��6
4� �	�,

���������	�� �	�� ��
���6 ������	6� .�� 
�����7 	8	�� �

	����������>��
��������� �	���� �9�������7 ��� �� ������� 
�����>�� �����6���� R1 
�����,
������ 
��	� ������� S1� ����:	� ���:	 �����	6� 6�	�� �� �����	��� � ���
,
����� 9�� ������� S2 
	4�� 8
����� 
�6������ � 
��	��4� �� ��:��6 ���	6
�	� ��6 
������� ����� ����������� � �9������	��� !��	#�� 6����6���� 
���,
��>7 �����6���� 
������� 
��	� S1 
��� 
:���
 ����5� 
���
������� 6�:��
��������7 
��	��

R
(1)
1 ≤ max

v,{pi,ui}

[
S (Φp(ρ⊗ v))−

∑
i

piS (Φp(ui ⊗ v))

]
, 1&�0D2

9���	 ρ =
∑

i piui� |ui〉 ∈ C4� |v〉 ∈ C2�

�1+�����	�� ������� �����
���� � �����	� S(
∑

i piρi) =
∑

i piρi +H({pi}) ����������	
��� ���������
 . 
����� ρi ����� ���� �� �������
��������� 
��	����� ����.�������� ����
� ����.��������� |F 〉 � |S〉�
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3����

���	 �	6��� 
�6�9� 
�����7� :	 �9������	��	 1&�0D2 �	�� �����	
���� 
4����� ������	��	 6����6���	� �����>�� R(1)

1 �

9���� �.� (�	
��
� -
���
��� �	��� ��*-�
� S (Φp(ρ⊗ v)) ��
4�� ��
	�-.
���������4 ��� �	��� ���������
� ���
��3����� ρ = 1

4
I6

-��3�4

G�� 
������	9� ����
 v �	O��
�	6� ����4 Φ̃p(�) = Φp(� ⊗ v)� E	 ��9���


�� �������>7 ����4
 Φ̃p � �4����>�� 	����
��� S
(
Φ̃p(�)

)
�	�� �����4� 8
�����

����
 �� S
����� ���� 
������ ����	 6����6
6 � 

����	 	����	6
6 <
��������� ���	6 ����	>7� :	 
���
��� �� � � = 1

4
I�  ��6 �	�
 
���:	6��

:	 
������� 	����
�� ���4
: ������	9� ��	�
��
 Δ � ����� ��� ��

∀Δ

∂S
(
Φ̃p(�+ αΔ

)
∂α

∣∣∣∣∣∣
α=0

= 0. 1&�0C2

�������� 	����
�� ����:� ��� 8��6
4� */%-�

∂S(ρ+ αδ)

∂α

∣∣∣∣
α=0

= −�� [δ log ρ] , 1&�0/2

9���	 δ �	�� 6���	��� ��	�
��
 � >�����	 �5���6 0� G�� ����4
 Φp� ���� ρ
���� ��	�
�	� δ � 

����	 � = 1

4
I 6��� 
����7 1
���� ��� 1&�&D22�

ρ = Φ̃p

(
1

4
I

)

= (1− p)U

(
1

4
I⊗ |v〉〈v|

)
U † + p

1

8
I⊗ P, 1&�0(2

δ = Φ̃p(Δ)

= (1− p)U(Δ⊗ v)U † + p
1

4
I⊗ ��S1

[
U(Δ⊗ v)U †] , 1&�)%2

9���	 U =
∑

i ei ⊗ σi� ����	��: ����4 �������� ������
�	 >���� ��������
�� [δ] = 0� 6�:�� ���� �������7 8��6
4� 1&�0/2� ���	
���6� �
	����� log ρ

�Δ 	�
� �������� 4× 4 � ������� ��
��� 0�
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:������ 
���	����� P = U(I⊗ v)U †�

log ρ = log

[
p

8
(I⊗ I− P ) +

2 + p

4
P

]
1&�)$2

= (I⊗ I− P ) log
(p
8

)
+ P log

(
2 + p

4

)
. 1&�)&2

 ����
 1&�)&2 ��������6� � 8���
� :	 I ⊗ I − P �	�� �5���	: 
���	����	6
���� :	 8
����� log � ����4���
 �� 
���	���� ��	 �6�	��� 9��
J����� 
����7 δ ���� log ρ �	 ����
 1&�)%2� �5�����	 1&�)&2 ���� ��������,

��� � �������>�� �
	����� >���
� 8��6
4� 1&�0/2 6�:�� �����7 �� �
6� ���	�	��
�����5��

�� [δ log ρ] =
p

4
log

(
2 + p

4

)
��
[(
I⊗ ��S1

[
U(Δ⊗ v)U †]) · P ]+ 1&�)02

(1− p) log

(
2 + p

4

)
��
[
U(Δ⊗ v)U † · P ]+

p

4
log

(p
8

)
��
[
I⊗ ��S1

[
U(Δ⊗ v)U † · I⊗ I

]]
+

(1− p) log
(p
8

)
��
[
U(Δ⊗ v)U † · I⊗ I

]
����:	� 
��	����6� ���� :	 ��:�� � ���� �����5� ������ �� �����	����	 ��,
������ �: ��� ��:�	9� ��	�
��
 Δ � ��:�	9� ����
 v� 8��6
4� 1&�0/2 ������
0�
����������� �	 ����	� �4����>�� �
	����� >���
 �� [A⊗B] = �� [A] �� [B]

���� � �� [Δ] = 0 �����6
�	6� �� ���
�

��
[
U(Δ⊗ v)U †] = �� [Δ⊗ v]

= 0. 1&�))2

������� 
���4�
��� ��� ���������>��� >���
 ���� �����
��� 6��:	��	 �����6��
:	�

��
[
U(Δ⊗ v)U † · P ] = ��

[
U(Δ⊗ v)U † · U(I⊗ v)U †]

= �� [Δ⊗ v]

= 0 1&�)'2
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E���6 
��	����	6� �� ����
��� ���	��	9� �����
 ��
��:6�� :	�

��S1

[
U(Δ⊗ v)U †] = ��S1

[∑
i,j

(eiΔej)⊗ (σivσj)

]
1&�)D2

=
∑
i,j

��S1 [eiΔej ]⊗ (σivσj) 1&�)C2

=
∑
i

��S1 [eiΔ]⊗ (σivσi), 1&�)/2

9���	 ��5� 1&�)/2 �����6���>6� ������ ����9������>�� ei�  ����
��� 
����	

��	�����4�	��� �����6
�	6��

��
[(
I⊗ ��S1

[
U(Δ⊗ v)U †]) · P ]

= ��

[(
I⊗

∑
i

��S1 [eiΔ] σivσi

)
· P

]

= ��

[
U † ·

(
I⊗

∑
i

��S1 [eiΔ]σivσi

)
· U · (I⊗ v)

]

=
∑
k,l

�� [ekel] ��

[(∑
i

��S1 [eiΔ] σkσivσiσlv

)]

=
∑
k,l

δk,l��

[(∑
i

��S1 [eiΔ] σkσivσiσlv

)]

=
∑
k

��

[∑
i

��S1 [eiΔ] σkσivσiσkv

]

=
∑
k,i

��S1 [eiΔ] �� [σkσivσiσkv]

=
∑
i

��S1 [eiΔ] ��

[∑
k

σkσivσiσkv

]

=
∑
i

��S1 [eiΔ] �� [Pv] 1&�)(2

= �� [Δ] 1&�'%2

= 0, 1&�'$2
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9���	 8��6
4� 1&�)(2 ������ � ∀w∈C2

∑
i σiwσi = I � 1&�'%2 � �

	4��>�� �����



���	����5� {ei}�  
������ �
��5� 6�:	6� 
�����7�

��
[
I⊗ ��S1

[
U(Δ⊗ v)U †]] = ��

[
I⊗

∑
i

��S1 [eiΔ] σivσi

]

= 4
∑
i

�� [eiΔ] �� [σivσi]

= 4�� [Δ]

= 0 1&�'&2

�

9���� �. (�	
��
� ��*-�
� S
(
Φp(u ⊗ v)

)
����,� Φp ��
4�� �
�
��� ���

�	��9� |u〉 ∈ {|0〉, . . . , |3〉} 
 �����
 H(1− 3p
4
, p
4
, p
4
, p
4
)6

-��3�4

=���6���� 	����
�� ���>��� ����4
 �	
������
���	9� Λp 
���
���	9� �5���,
�	9�	 � �������6 ����4	6 Γ �
	4����

Hmin(Λp ⊗ Γ) = Hmin(Λp) +Hmin(Γ) 1&�'02

� �	�� ����9��� 
��	� ����� 
���
����	 *D0-�  ����6 ����	 Hmin(Φ
p) 6�:	6�

��������7 
��	� 1
���� ��� 1&�&D22�

Hmin(Φ
p) = min

|u〉,|v〉
S
(
Φp[|u〉〈u| ⊗ |v〉〈v|]

)
1&�')2

= min
|u〉,|v〉

S
(
(Λp ⊗ I) [U (|u〉〈u| ⊗ |v〉〈v|)U †] ) 1&�''2

≥ min
|u〉,|v〉

S
(
(Λp ⊗ I) [|u〉〈u| ⊗ |v〉〈v|]

)
1&�'D2

= Hmin(Λp ⊗ I) 1&�'C2

= Hmin(Λp) +Hmin(I). 1&�'/2

 
���
���
 ����4
 Φp� ����4 �	
������
���� Λp ����4� �� 
��	����	�� C4�
���	6 Hmin(Λp) = H(1 − 3p

4
, p
4
, p
4
, p
4
)� ����	��: ����� � 
������ U |i〉|v〉 ���

|i〉 ∈ {|0〉, . . . , |3〉} �� 
���
����	� 4���� �
������7� :	 ����9��� ��	 
���:��	
����������	� �� �������� :	 Hmin(Φ

p) = H(1− 3p
4
, p
4
, p
4
, p
4
)�
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 ������� �� ���������� R1� ��	�� ������� S1 
��	��4� � �5���6 
���,
��
�����	;���	6 ���� � ���� ����������	�� ����6���� ������� S2 ���� |0〉�
V�	��� ���� �����6������� 
��	� S1 6� 
����7 ρ = 1

4
I � �� 6��� �	6� &�&

6����6����
�	 �� S (Φp(ρ⊗ v))� ?���� � 
������ |i〉|0〉 �
	4����� ��4�:	���
�	6��
 &�0� ���� 6���6����
�� 	����
�� ���>��� ����4
 Φp� U����� ��� 8�����

��	��������� 
�����54 
������ ����9��7 �9������	��	 1&�0D2� F���9��� 
���,
��>7 �����6���� �������

R
(1)
1 = H

(
2− p

8
,
2− p

8
,
2− p

8
,
2− p

8
,
p

8
,
p

8
,
p

8
,
p

8

)
−H

(
1− 3p

4
,
p

4
,
p

4
,
p

4

)
.

1&�'(2
E��6�	6� ��� �	��� ��	����
��	6� � ��5��6 
��	��4��	 �� ����� �
�����	�

.��������7 �����	6� 
�����>7 �����6���� ������� S1 � 
�4����	 Φp⊗Φp ���
�����

���	9� 
������4
� 6�	������� ����5� �	�>������� ������� S1 6�

����7 { 1

16
, ei ⊗ ej}� ������� S2 
��	��4� �����	 ���� |Ψ+〉� 3� 
�������	

�9������	��� !��	#� �����6
�	6��

R
(2)
1 =−

(
3

8
(2−p)p log

[
1

64
(2−p)p

]
+
1

8
(4−6p+3p2) log

[
1

64
(4−6p+3p2)

])

−H
(
1−3p

4
,
p

4
,
p

4
,
p

4

)
. 1&�D%2

 ����>7 �� ��	 6
�� ��7 6����6���� �����>��� 
�����>�� �����6����� ?���
Ψ+ �����4 ������� ����������	 � 
�6������	6 
���	�
�� �
��6�������� 
�
6�	��������� ����5� �	�>��������
E��576� 
��9�� :	 ��� ���5� 
���
������� � ���5� ���������
������

�
������	 ����4 
���
�
�	 ���� ��6� ���>7 	����
�� H
(
1− 3p

4
, p
4
, p
4
, p
4

)
� E���


�����>��� 
������	 ��� � ���>�� &�0�$� ����������6� 
���	�
��	 9���	9� ��,
�������� ��5�� 
������� �� ������
 ��5:��������� ����5� ���>�������� �5:,
���� 
��	6��>�� R(2)

S1
− R

(1)
S1
���� ������ R(2)

S1
/R

(1)
S1

��	��������	 �����4� ��

���� &�(� �����4� �������� �� ���
��
 6�:�� ���	�
�	����7 � �����

����
�
��5��

• G�� p = 0 :��	� � 	9�	6
����� ����4
 Φp ��	 �
������� ��
6
� B���	
��������	 ��	 ��9���� �
��� :���	� ����� 9��: �������� 6� �	�
�>�	���
�����
� 
�
��	� 95��� ����� ����4
� �� ����
 �����6������	9� 
��	� S1�
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• B�� p = 1� ��6
����� ��	��	 �	����	 ����� ����� ����4
 Φp�  
���,

���
 9���	9� ��������� ��� ����4� ����
�
�� � ��
54���	���� ����
�
������� 
��	� �� �����6������	 
��	� ��	 ��6
������ ������	6 ���
���45�����

•  
��	�����	 0 < p < 1� � ��	�	����6 
�����
�����	;���	6 2p(1−p)
6� 6�	���	 ���
����� 9�� ����� �	�	� � ����45� ��4������� �
����,
��� ��
6� @����6�� :	 �	�� �� ����4 
�	������ F�������� ������ 95��	�
����� ��
9�	9� ����4
� ��� ���4���� 
����7 ����
 �����6������	9� ��6
����4	6� G����� �	� ��	��� ���� � �
����
 � ���� �
������� 6�:	 ��,
�����7 ��6
����� ���4��� 
��	� ����4 
�	������  4�>��	 �� ���
����
6� �
4�� �� ������ 
�����>�� �����6���� ������� S1�
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p

R1    R1
  (2)     (1)

R1  - R1
  (2)     (1)

���
�	� &�(� P����� 1����� ���94�� �	�� �> [2 ���� �5:���� 1����� 
��	�������

���� �> [2 
�����>�� �����6���� 
��	� ����4 Φp ��� ������� S1 � 
���
���


:���� 
���
������� �45� �������� R(1)

1 ���� ����5� J	��� R
(2)
1 �  �	���>��

�� 
������	 � 8
����� 
����6
 ��
6
 p�

����� ���
 �$
������� ��(��
���  %��� � ����

�	
,


���
 ��$'�
�	
 
	�$���'����
� �

E��6�	6� ��� �	��� 
����4��	6 ����4
 Φn,n′� ��5�	9� �	9
���������� ������

��	6��>�� R(∞) (Φn,n′) ��	 6�:	 �����7 ����9����� 
��� 
:���
 �
������� 2,



��$ ����-� '*

��������	9��� ���	��������� 
���:	� ������� 
����
�	� :	 � �95��	� ���
����
������	 �������	��� ������
 R(∞) ��6�9� �
��6�������� � ������������	6
��	������������� ����5� �
���������
����4 Φn,n′� � ��5��6 �����	 ���	� 6��� 
������ ���5:����	9� �������

A ���� n ������5�,
�6�����5� Bi�  	�>��	 ������� A ��4��� ��� � n′ ���,
�������� ����� 2,�������� �� ������� Bi 6�9� 
��	��4�7 
� �	���6 +����	�
������� ��:�	9� 
:���� ����4
 �������� �	�� n′ 	�	6	����� �������� �	� 
�,
��5��	; w� �	 �����
 ������5� 
�6�����5��  ��������� ������� ����� ���
�������6� �������6�,
�6������6�� 3����
��	 �� ��:�	� ����� �	�>����	� i
������� A 
���
������� �	�� ������� �������,
�6����� Bwi

� F������ ���
:	 � ���	:��>�� �� ����
 ����� i ������� A� ���� 
��������� �� ������� Bwi

�	�� 6���O������ 
��	� �	��� � �
	����� 
��������� {I, σx, σy, σz}�  �����,
��	 �������	 �������	 �� � �5���6 
�����
�����	;���	6�  
���
���

9�� ������� Bi ��	 �	�� �������� ���������� �	�� �
	����� I� ���� ���� ��
�	9� ������� 
�������	 �	� �6���� F������� 6� �����
 �� ����� 
�������,
���� �� ������5� Bi ���� 	����	�� |w〉� 65����	� � ���������	� ���������
3� ���� &�$% 
��	��������� ���	6�� ����4
 Φn,n′ ��� n′ = 3, n = 5� F�����
��� �� �� ���O9
������ � ��5�	� ����	 1, 2 � 3 �����4� 
���
����	 ��
���	�,
��� �� ������5� B1, B2, B4� A����	�� �
��
���� ���� ���O9
����� 6� 
����7
�	����� w = (1, 2, 4)�
G����� ������� ������� ��	����
���� � ��5���� ��6
������� ������ ���


�
��	� m ��
� ����4
 Φn,n′=1� ����4 Φn,n′=1� ��5�� ��� �����4�>�� ����,
���7 �����	6� 
��	� Φ� 
������ ����� �	��� ����� �	�>������ ������
���,
��	;����� :	 ������� Bi �������	 
���
����� �� �	� ����� � ����6 
���,

���
 
:���� ����4
 ������ p = 1/n� Φw �������7 �����	 ����4� � ��5,
��6 ������� �	�� ������� Bw� .����9�����	 Φ

⊗m
w̃ = Φw1 ⊗ . . .⊗ Φwm � 9���	

|w̃〉 = |w1, . . . , wm〉 = |w1〉 ⊗ . . .⊗ |wm〉� ������
�����	;���� ��������� ��,
����	9� � 
�6�����5� �	�� ����	 ��6� �� ������� :	 pw̃ = pm� E��576�

��9�� :	 
���
���� 	����
�� � �����	 Φn,n′=1 
�� ���
���	6 w ������ 0�
��� ������ 	����	�� w ���� ���� ������ �� �	�>��
 ����4
 6�:�� ���4����	
���	>��7 ���� ������ �� ���>��
 ����4
� ?��� �����6
�	6��

∀|e〉∈H⊗m
A ,|φi〉∈H⊗m

Bi

S
(
Φ⊗m

w̃ (e⊗ φ1 ⊗ . . .⊗ φn)
)
= 0. 1&�D$2

�>���
��	 � �� ���� #�5�7� .���� 
�������� �
'���
���
� 
�
��������� �+� ��������
��.'������
��� �+
��� ��	��������

�6�
��
����� ����� ��
�������� �� 
� �� ����� 2�8+���
� �� ������� 
�����
��� 	�
�
������ 
 +���� 
��������
�	�
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aktywni nadawcy-pomocnincy 

A

B1

B2

B3

B4

B5

lista aktywnych 
nadawców-pomocników

���
�	� &�$%� ?��	6�� ����4
 Φn,n′ ��� n = 5 ������5� 
�6�����5� Bi �
n′ = 3 ����� ���	:����� �� ������� A�

�������	 ���	�	����7 ��� �����	 ����� 
�����>7 �����6���� R(m)
A (Φn,n′=1)

��� ������� A� 3������ Bi ��
�	���� ������� A 
��	��4���� �����	 �	�	� �
�	� ��6 
������� m,��������� ���� �
������� P�� 
�����>7 �����6���� ������
0� ���� &�$$ 
����
�	 ��5��6� �����6�� � �
����	� ���O9
������ 
��	��4��	 ��
����� �
�����	�

9���� �.� !
��� ����, ����	��� Ψ(ρ) =
∑

w pwΨw(ρ) ⊗ |w〉〈w| �3
�,� 3
�
���������
�5�	��� pw *�� ����, Ψw7 �
3� �3�� ���
�
�� �	
3���*� �	��
�
�	2 |w〉 3 
���
���*47 3 �	9
�� ����,�� �� ��	����
� �� �3��
��
�6 ��*���
��-. /����� ����,� Ψ *��	 ��
��
�3��� �
3�3�

χ(Ψ) ≤
∑
w

pwχ(Ψw) 1&�D&2

F9���-. 3�����3
 � �
3������7 ��� 	� ���� �
��3��
�� �	��9� *��	 ��	��
����� ��� ��3��	�
�� Ψw6

-��3�4
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stany splątane 
pomiędzy 
kopiami kanału

kopie kanału

B1

B2

A

���
�	� &�$$� �5����	94	 
�4���	��	 m = 3 ��
� ����4
 Φn=2,n′=1� ��	���,
���	 	��
�� �����
�� ����	 ��
54���	���	 ���� �
�������

G��5� �	6��
 �
������� ��� �� 
������� ����
��5��

χ(Ψ) = max
{px,ρx}

S
(
Ψ
(∑

pxρx

))
−
∑
x

pxS (Ψ (ρx)) 1&�D02

= max
{px,ρx}

S

(∑
w

pwΨw

(∑
pxρx

)
|w〉〈w|

)
1&�D)2

−
∑
x

pxS

(∑
w

pwΨw (ρx) |w〉〈w|
)

= max
{px,ρx}

∑
w

pw

{
S
(
Ψw

(∑
pxρx

))
+H({pw}) 1&�D'2

−
∑
x

pxS (Ψw (ρx))−H({pw})
}

≤
∑
w

pw max
{px,ρx}

S
(
Ψw

(∑
pxρx

))
−
∑
x

pxS (Ψw (ρx)) 1&�DD2

=
∑
w

pwχ(Ψw), 1&�DC2

9���	 � ����
 1&�D'2 ��������6� � ����9������>�� 	����	� |w〉� E��576� �	��,
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��	 
��9�� :	 ��� 
������	� 6�	������� ����5� �	�>������� {pi, ρi} 6�6��
χ{pi,ρi}(Ψ) =

∑
w

pwχ{pi,ρi}(Ψw) 1&�D/2

�

9���� �., ��*����-. /����� χ ��� ����,9� ����	����� 1����1 3 ��*-�
��
������3��� *��	 ����	����6

-��3�4

 
���
���
 ����45� ���������� � �	�>��	6 ���������6� ���5� ����5� �	�,
>������� �	�� 
�������� �
��6�������� 
���	9� �	����	 ����4�� 
�����
���,
��	;���� �����6���� 
�����	95����� ����5� �	�>�������� 3�	�� ex1 � ex2 ����,
����� 	����	�� ��������	 ����4��	 ��
���	���� 
��	� ����4� Γ1 ���� Γ2 ��,
��6���� px1,x2 ������� 4����	 
�����
�����	;���� �����6���� 
��� {ex1, ex2}�
��5�	 ����9� χ(Γ1 ⊗ Γ2)� �����

χ(Γ1 ⊗ Γ2) = χ{px1,x2 ,ex1⊗ex2}(Γ1 ⊗ Γ2) 1&�D(2

= S(Γ1 ⊗ Γ2(ρ))−
∑
x1,x2

px1,x2S(Γ1 ⊗ Γ2(ex1 ⊗ ex2)).1&�C%2

E�
��:6�� :	�

S (Γ1 ⊗ Γ2(ex1 ⊗ ex2)) = S (Γ1(ex1)⊗ Γ2(ex2)) 1&�C$2

= S (Γ1(ex1)) + S (Γ2(ex2)) , 1&�C&2

��� �5���	:�
S(Γ1 ⊗ Γ2(ρ̄)) ≤ S(Γ1(ρ̄1)) + S(Γ2(ρ̄2)), 1&�C02

9���	 ρ̄� ρ̄1� ρ̄2 �� ��
���	���	 >�	���	 ����� �	�>����  ��������� 
���:��	
���	�����	 �� ����
 1&�C%2 �����6
�	6��

χ(Γ1 ⊗ Γ2) ≤ S(Γ1(ρ̄1)) + S(Γ2(ρ̄2)) 1&�C)2

−
∑
x1,x2

px1,x2(S(Γ1(ex1)) + S(Γ2(ex2)))

= S(Γ1(ρ̄1))−
∑
x1

px1S(Γ1(ex1)) + 1&�C'2

S(Γ2(ρ̄2))−
∑
x2

px2S(Γ2(ex2))

≤ χ(Γ1) + χ(Γ2). 1&�CD2
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�	����� χ(Γ1 ⊗ Γ2) ≥ χ(Γ1) + χ(Γ2) ���:	 ��������� �� 4���� �
������7
������ px1,x2 = px1px2 � 9���	 ����4��� px1 � px2 ����9��� ��
���	���� χ(Γ1)
���� χ(Γ2)�

�

2�����
���� �.� �9
�� ��
��
�3��
� ��� �
2���-�
 	
����
�*
 R(m)
A (Φn,n′=1)

������� A �� ���	�.�

R
(m)
A (Φn,n′=1) ≤ n

m

m∑
i=0

pi(1− p)m−i

(
m

i

)
min(2i,m), 1&�CC2

��3
� n *��	 �
�3�4 ������9��������
�9�7 m *��	 �
�3�4 ���

 ����,� Φn,n′=17
p = 1/n6 +
�3�� m ��
�-�� 
9��
�87 
�� �34�	���� �	��� ���4	��� �
3���,���
�4 �
3�3 ��8���� 3 ������9�6

-��3�4

���� �����
 
��	������� ��� �����

����� 3��
�	�� �������	6� �9������	,
��	 95��	 �� 
�����>7 �����6���� RA(Φ

⊗m
w̃ ) ��� 
������	9� w̃� F��:	 ���� :	

�����>7 �� ���	:� �	����	 �� �	9�� ��	 ���� ������� Bi ���4 ��� ������� ��,
�����6� ������ ��������� li ���	9� ������� 4���� ���	>��7 ������ 	����	��
w̃� 3� 
�������	 �9������	��� ��� RA(Φ

⊗m
w̃ ) 
���6� �9������	��	 95��	 ��

R
(m)
A (Φn,n′=1) =

1
m
RA(Φn,n′=1)�

.�� ��������7 R (Φ⊗m
w )� �����6� 6�4� 8��6���� ����	9� F�5: ��6����

�����:�7 m ��
�� ����4
 Φ� �����	6� 
��	� ������ ���6���7 ��� n ����4�6�
Γi� 
��� ���6 �������� �5�����:��>7�

Φ⊗m
w ≡

n⊗
i=1

Γi 1&�C/2

� �	���	 ������������ ����5� �	�>������� �� ���� ���>������  	�>��	 ��,
��4
 Γi ��4��� ��� �	 ���������� �	�>7 �������������� 
��	� ������� Bi ����
���� �	�>7 ���	:����� �� A� ��5�	 6��� �
4�� �� 
������	6 �� ������� Bi�
����	��: ���� 
��	��4��� 
��	� Bi �	�� 
�������� �� ����4 Γi 6�:�� 
����	7
��� �� ����4 $,��,$ � �	�>��	6 ���������6�  	�>��	 �� �	�� �����������	

��	� ������� A�  	�>��	 ����4
 6� ���6��� 2li ���5��  ��>��	 ����4
 Γi

6� ���6��� m +���5�� ����4� Γi,Γj �5:����	 ��� ���	��	6 1i 
= j2 ��	 ���	��
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A

B1

B2

Φ1 Φ2Φ1

Γ1

1 1 2

���
�	� &�$&� �5�����:��>7 Φ⊗m
w ≡ ⊗n

i=1 Γi �� 
����4����	 ����45� Φ⊗3
1,1,2

� Γ1 ⊗ Γ2� ������	 ����� �� ���
��
 ��������� ���	��	 ��
�	 ����4
 Φ� �����

��	������ ���������� ����4 Γ1� 
�9�
����� ����� 8������� ������� �����
�
�����	 
��	��4��	 
��	� ������5� B1 � B2� � �54�
 
��	��������� 	����	��
��������� ��
���������� ���	� �	�������� ����4
 Φ�

����� �	�>��������  
������	��	 ����45� {Γi} �� �	����	 ��
���	���	 
��	,
9�

�����	 ����� �	�>������� � ���>�������� ?��� ������ �5�����:��>7 ��


��	������	;� ���� &�$& ��
���
�	 �
����� �
��� ����	9�
 �6���� 
��	����	�� �	�>��� � ���>��� ����4
 Γi �������� 95��	 �9����,

��	��� �� �	9� 
��	6��>7 ����������

χ (Γi) ≤ min(2li, m). 1&�C(2

3� 
�������	 �	6� &�' �����6
�	6�

χ

(
n⊗

i=1

Γi

)
=

n∑
i=1

χ(Γi). 1&�/%2

������������ ����������	 1&�C(2 �� �5������ 1&�/%2 ���� ����������� � �5�,
����:��>�� ����45� 1&�C/2 �����6
�	6��

RA

(
Φ⊗m

w

) ≤
(

n∑
i=1

min(2li, m)

)
. 1&�/$2
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?��������6� �	��� � �	6� &�)� ��������	��� Ψw = Φ⊗m
w � pw = pm�

χ(Ψw) = R (Φ⊗m
w ) ���� � �9������	��	6 1&�/$2 
������� ���

RA(Φ
⊗m) ≤ pm

∑
w

(
min(2l1(w), m) + . . .+min(2ln(w), m)

)
1&�/&2

=
∑

l1+...+ln=m

m!

l1!·. . .·ln!p
m
(
min(2l1, m)+. . .+min(2ln, m)

)
1&�/02

=n

m∑
l=0

(
m

l

)
pm min(2l,m)αl 1&�/)2

A����	�� w� ��5�	 
������� �� ����	� ��6	� ���O9
����� {l1, . . . , ln}� �����4�
�	����	 �	 �����	 1&�/02 � �	�	� ������ ���	������� �� 1&�/)2 ��������6� �
��6	���� ��9���	6 ������5� Bi ���� 
�������	��� αl =

∑
l2+...+ln=m−l

(
m−l

l2,...,ln

)
�

����
�6���6�� :	 ∑
k1+...+kn≤m

(
m

k1, . . . , kn

)
= nm, 1&�/'2

�� 
������� �� αl = (n− 1)m−l �����

RA(Φ
⊗m) ≤ n

m∑
l=0

(
m

l

)
min(2l,m)pm(n− 1)m−l 1&�/D2

= n

m∑
l=0

pl(1− p)m−l

(
m

l

)
min(2l,m), 1&�/C2

9���	 � �5�����
 1&�/D2 ��������6� � 8���
� :	 ��� p = 1/n �����6
�	6�
(n − 1)p = (n − 1)/n = 1 − p� ��������	��	 R(m)

A (Φ) = 1
m
RA(Φ

⊗m) ��;���
���5��

�

F9������	��	 95��	 �� R(m)
A (Φn,n′=1) 
��	��������	 � K�� &�& �	�� ����,

9��	 ��� m ∈ {1, 2, 5} 
��	� �����

���	 
������4�� ������� A 
��	��4�
� �5���6 
�����
�����	;���	6 ��������	 	�	6	��� � �����������	� 
��	�
��	9� 2m �����	� 
��	����	�� �	�>��� Φ⊗m� 
������ 9�� ������� Bi 
��	��,
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n
m

RA(Φ)

���
�	� &�$0� B5��	 �9������	��	 �� 
�����>7 �����6���� R(m)
A (Φ) � 8
�����

m,������ ��
�� ����4
 Φ� ���� ������ ������5�,
�6�����5� n�

4��� �� ��:��6 ���	6 ��
���	�����

m = 1 : |0〉 1&�//2

m = 2 : |φ+〉 1&�/(2

m = 5 : |0L〉 = 1

4

[|00000〉+ |10010〉+ |01001〉+ |10100〉 1&�(%2

+|01010〉 − |11011〉 − |00110〉 − |11000〉
−|11101〉 − |00011〉 − |11110〉 − |01111〉
−|10001〉 − |01100〉 − |10111〉+ |00101〉],

9���	 |0L〉 �� �4��� �����	 � 5,+�����	9� ���
 ���	�����	9� *C&-�
.�� ����	>7� :	 �6�����	 �
 �9������	��	 �	�� 8��������	 ����9��	 �


��	����������� ��	����
����� ��������� 
�����7� :	 ��:�� � ���� 
�������
�� �5���>�� � 8��6
�	 1&�C(2� ����
���� 	����
�� 
��	� ����4 Γi ������ 0
�� ������� :	 �	9� 
��	

�����>7 ���	:� ����� �� 	����
�� >�	���	9� ����

���>���� 3��	:� ���	6 �
������7� ��� ��	�����>��	 ������ ��� min(2li, 2)�
G�� m = 1 �
���� �	�� ���������� @�������	��	 ��� m = 2 �����
�	 ���

���:	��

$� l = 0� �����6������� ���� J	��� 
�������	 �	� �6���� 	����
�� ����

�����	9� ������ 0�

&� l = 1� �
	����	 
������	 ���	:��	 �� �����
 {I, σx, σy, σz}� �������	
�� �������6 +����	 ����
 J	���� 
�������� �����6�7 ��������	 4 �����
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J	���� ����	��: 
�����
�����	;���� ��������� ��:�	� � �
	����� 
��,
������� �	�� ����	 ��6�� 	����
�� >�	���	9� ����
 ������ 2�

0� l = 2� ���
���� �� �
������� ��� �� �	�
�	�����	9� ������������ ��9
,
6	��
 
:��	9� ��� l = 1� �����	����	 ���� >�	��� ��4��� ��� � �5�����

��
������� �	 ���������� ����5� J	��� � �	9� 	����
�� ����
 ������
2�

������	 ���
6�����	 6�:�� 
��	
�������7 ��� ����
 |0L〉 � 5 +�����	9�
���
 ���	�����	9� 1m = 52� ���
����6� ���
����� � ��5�	� ����4 Γi ����4�
�� ���� |0L〉� �� 
�������� �
������� 
��	� �	���� π 1�	���� 6� l 	�	6	�,
�5�2� 3�	�� Λ

(j)
p=1(ρ) ������� ����4 �	
������
���� ����4����� �� j,�� +���

����
 ρ� ����4 Λ(j)
p=1(ρ) �
������� ��
6 � 
�����
�����	;���	6 p = 1�

����	��: ������� A � �5���6 
�����
�����	;���	6 
��	��4� ��������	
����� �	�>����	� >�	��� ���� �� ���>��
 Γi ��� ���	9� π 6� 
����7�

ρπ =

(
l⊗

i=1

Λ
(πi)
p=1

)[|0L〉〈0L|], 1&�($2

9���	 πi ������� �����>7 i �	9� 	�	6	��
 �	����� π� .�� 
�����7� :	 ���
��:�	9� l � 8��6
�	 1&�C(2 �������� �5���>7� 6
��6� �
������7� ��� ���
���������� π �������� S(ρπ) = min(2l, 5)� E�����	 �� ��6�9� ���
����	���
��	�
 
���
���5�� ����	9� �� �	9� ��������� �����4 
:��� 
��9��6 ��6

,
�	���� ��
����� ��� ����	6
 ������	����	9� =���	6������ ��� 
��9��6

��6�	������� �����4 � ������
 .� G�� ��:�	9� l ∈ {1, . . . , 5} 
��9��6 9	�	,
�
�	 ����� ���������� l 	�	6	������� ��6������� �	 �����
 {1, . . . , 5}� ��:��
� ���� ��6������� �� ���� �	���� 
������ π� 3����
��	 
��9��6 �
�������
��� ��� ���������� π �������� ���
�	� S(ρπ) = min(2l, 5)�
3� 
�������	 
��	����������� ��9
6	��5� 4���� �����9��7 �����	�� :	

��� ������	9� w 
��	��������	 ��������	 ������ 8��6
4� 1&�/$2� ����	��:

�����54 �	�� �
��6���� ��� ���������� 6�:������ w� � �	6� &�) ��������
�5���>7� ��5�� 
��	�4��� ��� �� �5���>7 � ����:	��
 1&�/&2� K� 
����
�	� :	
�
����� 
������4� ����9��� 
�����>7 �����6�����

R
(m)
A (Φn,n′=1) =

n

m

m∑
i=0

pi(1− p)m−i

(
m

i

)
min(2i,m). 1&�(&2
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 9���	9� ��������� �� 
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��	� �	�� ��� :	 � 
��	����	;����	 �� ��������	9� ���	,
6��
 9���	9� ���������� ��	 6�6� �
��� �� �����	��� � ������������ ���,
>��� ����
 �
�����	9�� �� ��5�� ����4� �
	����� 
�������� E �	O����� ����4
�
�
	����	 
������	 ���������	 �� �� �������� 8��96	����� ����
 �
�����	9��
3�	���	:��	 �� �	9�� 9���	 �������	 �������� �
	����� 
�������� ���	�
�	6�
:	 �� ��:��6 ���	6 ���� �����	 �����8��6����� � �5���	 �
:� ���5� ����5�
����9��������� K��� �4����>7 
�������� ����� �����	 � 5 +�����	9� ���

���	�����	9�� ������ ����5�� ��5�	 6�:�� ����9��7 
�
��	� 
������� �����,
8��6���� ������	9� ����
 �����	9�� ���	:� ����� �� ������ +���5�� ��5����
�� �����8��6���� �������� ��	 ���	:� ����6���� �� ��� 
�4�:	���� @:��	����>7
����
 �
�����	9� �� �
��6�������� 
�����>�� �����6���� 
����9� �� ���� ��,
6�9���	 ��� ���� ��������4 ��
���	���� �
:� ��6	���� ��9���	6 ��6����
6�	����6� �	9� ���>�� ��4��������
?��	6�� 9���	9� ��������� ��	 6�:	 
��	������7 �9������	��� m ���5�

	����
�� �� m,+������ ���� �
������ �� ������� Bi� E��	6 �6 ���:	� li �� m�
��6 6��	���� ������ 	����
�� ����
 ���>����	9� � ��6 6��	���� ������ 
���,
��>�� �����6�����  
���
���
� 9�� ������ ������5�,
�6�����5� n = 1 �
�
m �	�� 6�4	� ���� �
������ ��>7 ������ ��	��	 6��	� ��: 2li ���5� ��8��6�����
�	���� 9�� n > 1 � 
�6��� 
��������� ���6
�������� ������ 	���
�������
65������ :	 ���� �	 ������	6m �����>�� li ����	���
�� ��� � ���������m/n�
B�� m � n ����� ������
��� ��
���	���� 
��
������ ������ :	 ���� �
������
�� ������� Bi ��	��	 6��	� ��: 2li ���5� ��8��6���� 6��	�	�

����! �
�
�� � 
	�$��
 �
�

�
�	, �����
�����
����

�� �$
����

�� � �.��
�� ���������	

E	����	 � �	� ���>�� ������ ������� 	8	��
 ��������� ��� �	9
������������
������5� 
��	6��>�� R(∞)(ΦI) + R(∞)(ΦII) � R(∞)(ΦI ⊗ ΦII)� 3��	:� �
,
��� 
����	>��7� :	 � �����������6 
���
���
 ������5� R(∞) ��	 6�:��

��	������7 
��� 
:���
 8��6
4 �	�������������� ��� R(1)(Φi) � R(∞)(Φi)
��� i ∈ {I, II}� G��	� 
��4
9���7 ��� �����	6� ����4�6� ΦI = Φn=10,n′=9 �
ΦII = Φn=10,n′=1� ��5���� ���
��
�� �����4� �
����� � ���>�� &�0�0�
E�����	6� �� �
�����	���� ��� ��� ����45� ΦI � ΦII � ������� 
��	6��>��

8��������	 �
	4����� R(1) � R(∞)� ���� ��� ��� �� 
	��� �6������ �
 
���,

��	� ��	 ���	 ��� �
�������7 �� ���
���� �
����	� � ���>�� &�0�$� K�6 ���	6
�5���	: ���������� 9�� �9�������6� ��� �� 
�����>7 �����6���� ��� �������
A 1������� Bi 
	4��� ���� 
�6�����5�2�
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J����� 
�� 
��9� ��6��� 4����	� 
��	����	�� ���>��� ������5� Bi ��,
������� � ����6 6�6	���	� 4���� ��
��:�7� :	 6����6���� 
�����>7 ����,
9��� 
������ �����6���� ����5� 
���
������� ������ R(1)

A = n′�
��������6� ��� �	��� 
�����>�� �����6���� R(2)

A � 
�4����� Φ
⊗2
I ���� Φ

⊗2
II �

9�� ������� Bi 
��	��4��� �	�	� � �	� ��6 ���� J	����  ����	� ���
����
�� 
�4��� Φ⊗2

I ���� Φ⊗2
II 6�:	6� 
����	7 8��6����	 ��� �� ����4� $,��,$�

A����
�� ���>��� � ��
 
�4������ 
��� �����6�>�� 	����	�� ���>����	� w�
������ 0 1
���� 8��6
4� 1&�D/22� E��	6 
�����>7 �����6���� �	�� �5��� 	�,
���
�� >�	���	9� ����
 �� ���>��
 
�� ���
���	6 w� ��� 	����
�� >�	���	9�
����
 ����� 
����������� �� ������5� Bi� �������	 ��� ������>6� �� ���	,
>��	� 
����6
�	6�� :	 ������� A 
��	��4� � �5���6 
�����
�����	;���	6
��������	 	�	6	��� ���� ����������	� �����������	� 
��	� ��	��	 
��	����	��
�	�>���� ������
�����	;����� :	 
������ ���	����� �����6���� ���� ���5�
��������� ������5� Bi �������	 ������� ��
������	� ������ p = 1/

(
n
n′
)
�

E 
�����
�����	;���	6 1−p ������ ��������� ������5� �5:��� ��� � ��


���
������ �����6���� � �� ���6��	� ��� 	�	6	���� 3������ A ��	�
�	 �
����	� ���
���� �����>7 � 9���	9� ��������� � 6�:	 
��	��4�7 �� ���6��	� 2
��������	 ���� ��8��6����� �������	 ������ 
�� 
��9� ��6��� 4����	� 
��	,
����	�� ���>��� ��������� � ����6 6�6	���	 ������5� Bi ���� ���	6��
9���	9� ��������� �����6
�	6�� :	 � 
�����
�����	;���	6 p ������� A

��	��4� � 
�����>��� 2n′ ����6���� � 
�����
�����	;���	6 1 − p �����	
� 
�����>��� �� ���6��	� 2(n′ − 1) + 2 · 2� 3� 
�������	 ����
 &�D/ �����,
6
�	6� �����

���	 �9������	��	 �� 
�����>7 �����6���� � �����:���6 
��,
�����	� RA ≥ p2n′ + (1 − p)

(
2(n′ − 1) + 2 · 2)� E��	6� ��� 6����6������

�	9
������������ 
�����>�� �����6���� ���������

R
(1)
A = n′ < n′ + (1− p) ≤ 1

2
RA ≤ R

(2)
A ≤ R

(∞)
A , 1&�(02

�� 
��	�4��� ��� �� R(1) � R(∞)�
����:	6� �	���� :	 R(∞)(ΦI)+R(∞)(ΦII) � R(∞)(ΦI ⊗ΦII)�  ��6 �	�



�������6� �	����� R(∞)
A (ΦI) +R

(∞)
A (ΦII) < R

(∞)
A (ΦI ⊗ ΦII)�

E�����	6� �� ����������� � 95�� �����>�� R(∞)
A (ΦI) + R

(∞)
A (ΦII)� ����,


�6���6�� :	 
�����>7 �����6���� 
��	� ����4 �	�� �9��������� � 95�� 
��	�
��9����6 ���6���
 
��	����	�� �	�>��� � 
��	����	�� ���>��� ����4
� ?���� ���
������� A � ����4
 Φn,n′� 6�6��

R
(m)
A ≤ 1

m
min(2n′m,nm) = min(2n′, m). 1&�()2
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(∞)
A (ΦI) ≤

min(2 · 9, 10) = 10 ���� R(∞)
A (ΦII) ≤ min(2 · 1, 10) = 2� �� 
������� ��

R
(∞)
A (ΦI) +R

(∞)
A (ΦII) ≤ 12�

G� �������	��� �9������	��� ����	9� ��� R(∞)
A (ΦI ⊗ ΦII) 
:��	6� ��,

���

���� 
�����54� ��	�� ������� A 
:��� ����� ����� ���	:����� �� ����4

ΦI � ���� 
��	� ����	 ���	:��	 �� ����4
 ΦI 
��	��4� � �5���6 
�����
���,
��	;���	6 �	����� � ���� ����������	�� ����6���� 
��	� ����� ���	:��� ��
����4
 ΦII �����	 ���� |0〉� 3������ Bi 
��	��4��� �����	 �	�	� � �	� ��6
���� J	���� ��	����� ���>7 ����
 ����	 ����� ���	:��� �� ����4
 ΦI ����6����
��
9� ����� ���	:��� �� ����4
 ΦII � U���� ��
��:�7� :	 ��	���	:��	 �� �	9�
��5��� ������� �� �������� ��:�� � ����� ����4
 ΦI ������� A 6���O�
�	
���� ���	9� 
��
�4��
� ?���� �� 
�������	 ���	6��
 9���	9� ����������

�����>7 �����6���� 
������� 
��	� A �������� �	�� � ��6���	6 ����������,
�	� 
��	� ��	9� 
��	����	�� �	�>��� ����4� ΦI 1
���
�6���6�� :	 ����4 ΦII

�	�� 
������2 � ������ 18� F����6
�	6� ���	6�

R
(∞)
A (ΦI) +R

(∞)
A (ΦII) ≤ 12 < 18 ≤ R

(∞)
A (ΦI ⊗ ΦII). 1&�('2
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��	����������� �����5� ��	

��4� ��� �����	�����7 ������
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�������� P��	�	�
���� �	��
�5���	: 8���� :	 �����	6� 6�	�� �
��� �� �����	��� � 	8	��	6 ε,�

	����������
< ������ ������������
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��	� ����������	

� �	� ���>�� ����4� 6�:�� �����6�����7 ��8��6���� ��������� � ��	��	���� �	�,
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 0 ⊗ 0 > 0� 9���	 ����4� ��4����	 ��	�����>��	 6��� �	���	 
�,
�	6��>�� �������	 1
��5���� *0D- ��� ��	����
��� � ��	��6� 
��	������6�2�
3� 
�����	� ����� 
���7 ���������� � ����	
��� ��������	9� 	����������

	����
��� ��5�� �� ������� ����� 
���������	� ���	� ��9
6	�������
G�� ��5�� �6�	����� �������� X, Y � ����6 ��6�6 ��>���
� ���	94�>7

������������ ��	O������� �	�� �����

dist(X, Y ) =
1

2

∑
e∈sup(X)

|P (X = e)− P (Y = e)| . 1&�(D2

Fm ������� �6�	��� ������ � ����4����	 �5���6�	���6 �� ������	 2m 	�	,
6	�����6�

9���� �./ D�� �
��
��* 3�
����* ������* X7 
����*�� dist(X,F2) = ε ���
�
4�� 3� ���4� 1 − H(X) = (2/ ln 2)ε2 + O(ε4)6 D�� ε ∈ (0, 0.5) 3�����3

1−H(X) ≤ 4ε26

-��3�4

G��5� �	6��
 ������ ������6���� � ����������� � ��	�	9 K�������

�

��������� �
���N
9�,��� ���	
��	�
 ������-�
 �	�� 8
������ ��5�� �	����
�	 	�,
���
�� � ��	���	:���� Q�4����� N�5�	4 ������>��R� ?4��� Q��������	R 6� ���5:,
��7 �
����� ���
���� �� 
���
���5�� 9���	 ������>7 �����6
�	 ��� �� ��
�	�
	8	��5� ����������� @:��	����>7 �6�	��	� �����	� ���� N�5�4� ������>�� �

���	��	 	��������� 6�	��� �
�
����� ��	
��

 H∞ *)� (/- ��	O������� �����

H∞(X) = min
x∈
��X

− log p(x) 1&�(C2
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-�+��
�� �.� 1
���N
9�,��� ���	
��	�
 ������-�
 ?%A 	� �����*�
fext : {0, 1}n×l �→ {0, 1}m7 �	9
� ��� l �
�3���8���� n��
	����� N
9��, X1, . . . , Xl

3 H∞(Xi) ≥ k ���,�
��

dist (fext (X1, . . . , Xl) , Fm) ≤ ε. 1&�(/2

M����*� fext ��3����� *��	 l�N
9�,���� ���	
��	�
�� 3 �������
��
 �� �
�
�
����4 ��	
��
2 
32�� k7 n��
	���� ��*-�
��7 m��
	���� ��*-�
�� 
 �����
�,�-�
4 �	�	��	��3�4 
32�� ε6

2�����
���� �. <H 
�	�
��
� ���	
��	�
� ?%A�= !
��� m < k < n �2�4 �
�3�
���
 ��	�
�����
 �
�3 ε > 06 ;�-�
 3�����3
 k > log n + 2m + 2 log(1/ε) +
17 �9��3�� 
�	�
�*� 2�N
9�,��� ���	
��	�
 fopt : {0, 1}n×2 → {0, 1}m 3 k�
�
	����
 �������
��
 �� �
�
����4 ��	
��
2 H∞ �
�3 �����,�-�
4 �	�	��
�	��3�4 ε6 ���	�. ���	
��	�
� ��8� ��. ��3���3��� � �3��
� �
���
�*�������
��� 25n

222k 6

����:	� ���� 
:����	 
�95���	��	 ����� J	��� *$$- 
�������

|ψα,β〉 = 1√
D

D−1∑
l=0

exp

(
2πi

D
αl

)
|l〉|l + β〉, 1&�((2

9���	 α, β ∈ {0, D− 1} �� ���	���6�� ?���� ���	:� �� 
��	����	�� CD ⊗ CD�
G�� ����
 |μ〉 = ∑

i μi|i〉� 9���	 {|i〉} �	�� ���� ������������ �����	 ���,
������ ������� |μ∗〉 = ∑

i μ
∗
i |i〉 � D = 2d�

�
���	6 ���>��� ��� �������� ������ ���� ���	 ������� ����45� {Γ(δ)
A } �

{Γ(δ)
B } ���	��������� 
��	� δ� ����4� {Γ(δ)

A } � {Γ(δ)
B } 
�������� 4 ������5�� �

��5���� ��:�� �������
�	 �	��� d,+�����	 �	�>��	�XA
1 , . . . , X

A
4 1X

B
1 , . . . , X

B
4 2�

P�� ���>��� 6��� ���6��� 1 +���� � �� ��������	 
��	�� Y A� Y B�  	�>���
XA

i � X
B
i �� �����������	 
��	� ������� Si� ���6��� �	�>7 ����45� ���	:�

�� 
���6	��
 δ � �����

���� �
��5�� d = �2 log(1/δ) + 12�� F����� ��,
��4� �
�	���� ��� �� 
������6 ���	6���	 1
���� ���� &�$)2� E �	9� 
����

�������	 �
����� ����� ����4 ΓA � �������	��	6 6�	����� � ��5��6 ����4�
�5:��� ����  
�	�����6 ����
 ����4 �����
�	 
�6���� 
���	������	 MI

���� MII � MI �	�� 
�6���	6 4�����6 �� �	�>����� X1, X2� ����6���� MII

�� �	�>����� X3, X4�  
���
���
 ����4
 ΓA 
�6���� ���������	 �� �
����	 {|ψα,β〉}� ����6���� � 
���
���
 ����4
 ΓB � ����	 {|ψ∗

α,β〉}�  �����

�6���5� ��������	 �� ��
���	���� 
��	� mI � mII � �����6
�	6�� :	 6���
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M
I

M
II

f op
t

X1

X4

X3

X2

Y=|fopt(mI,mII)〉m
II

m
I

���
�	� &�$)� F95��� ���	6�� ��� ��	�������
����� ����45� ����������
ΓA � ΓB� Xi �� d,+
�����	 �	�>���� MI ���� MII �	
�	�	��
�� ���������	

��	� ����4 
�6���� 
���	������	 ��5���� ����� �� mI � mII � fopt �	�� ���,
������6 	���������	6 ������>�� � �4�>����>����� �
������� K�� &�0�

B

ΓA

ΓB

X1

X4

X3

X2

X1

X4

X3

X2

B

B

B

A

A

A

A

���
�	� &�$'� ����4� ΓA � ΓB 
���
���	 �5����	9�	� ����	 ��	������	 ����,
����� ����� �
�����	 |ψ0,0〉 
��	��4��	 
��	� ΓA ⊗ ΓB�

��	 
����7 
��� m = (α, β)� E6�	��	 �����	 �������	 � ������6� 
�6��,
�5� �������� 2d,�����	 �	�>��	 ��� 	���������� ������>�� fopt�  ��>��	 fopt
6� ���6��� �	��	9� ���
�  ���	:��>�� �����>�� fopt(mI , mII)� ����4 
���
,
�
�	 ���� ���>����� |0〉 �
� |1〉� P����	��	 	���������� fopt � ��
���	�����
�4����>����� �������	 
������	 
5N��	��
 �576� �� 945��	9� �	6��
 ����	���	� ���>��� ����� �
����������>�� 6�,

��6���	� 	����
�� ���>���� E�����	6� �� 
��������� :	 ��� δ > 0 6���6����
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	����
�� ���>��� Hmin(Γ
(δ)
A ) ���� Hmin(Γ

(δ)
B ) �	�� ��	 6��	���� ��: 1 − δ� 3�,

���
��	� ������
��� 
���
��	� 9�� ������� ������� Si 
��	��4��� ����� |ψ0,0〉
1
���� ���� &�$'2� �������	6� 95��	 �9������	��	 �� Hmin(Γ

(δ)
A ⊗ Γ

(δ)
B ) � 
�,

����� Γ(δ)
A ⊗ Γ

(δ)
B = 1� J����	 �� 
�������7 �� ������
� :	 ��� δ < 1/2 �����,

��� �
����������>7 6���6���	� 	����
�� ���>���� Hmin(Γ
(δ)
A ) +Hmin(Γ

(δ)
B ) >

Hmin(Γ
(δ)
A ⊗ Γ

(δ)
B )�

9���� �.0 !
��� �
3�3 ����, Γ(δ)
A �2�4 �������� �	��� �
����	��� � ���

�	��
� |μA
1 〉 ⊗ |μA

2 〉 ⊗ |μA
3 〉 ⊗ |μA

4 〉7 ��3
� |μA
i 〉 	� �	�� �������� �
3�3 Si6  ���

���
�3�
� ��� Γ
(δ)
B 6 19��3�� ��� 3�
������ ��������7 3�
43����� 3 ���
���


������������ �
3�3 ����, ���
�
9�7 3�����3
� H∞(MA
I ) = H∞(MA

II) =
H∞(MB

I ) = H∞(MB
II) ≥ d7 ��3
� d �3���3� 
�3�
�
 ��*-�
� ����,�6

.����9����� �	6�� 6�:�� 
�����7 �5���	: � ��� ����4
 Γ(δ)
B

-��3�4

E��6�	6� ��� 
���
����	6 H∞(MA
I ) = d� �������4	 6�:�� 
�������7 �

�	� ��6 �
��5�� 3�	�� 
�6��� 
���	������� MA
I �����	 ���������� ��

�����	 
���
�����6 |μ〉|ν〉� 9���	 |μ〉 =
∑D−1

j=0 μj|j〉, |ν〉 =
∑D−1

k=0 νk|k〉 ��
d,+������6� �����6� �����������6� ��
���	���� 
��	� ������� S1 � S2� ��,
��:	� �������	 
������	� :	 ����4�� 
�����
�����	;���� P (mA

I = (α, β)) =
|〈ψα,β|μ|ν〉〉|2 �����6���� � �����
 
�6���
 MA

I 
��� �����>�� m
A
I = (α, β)

�
	4��� pα,β ≤ 1
D
� ������ ����	��	���� �	9� 8���
 �	��� H∞(MA

I ) ≥ d� E�,

��:6�� :	�

p(α, β) = |〈ψα,β|μ〉|ν〉|2 1&�$%%2

=
1

D

∣∣∣∣∣
D−1∑
l=0

exp

(
2πi

D
αl

)
〈l|〈l + β|

D−1∑
j=0

μj|j〉
D−1∑
k=0

νk|k〉
∣∣∣∣∣
2

=
1

D

∣∣∣∣∣
D−1∑

j=0,k=0,l=0

exp

(
2πi

D
αl

)
μjνk〈l|j〉〈l + β|k〉

∣∣∣∣∣
2

1&�$%$2

=
1

D

∣∣∣∣∣
D−1∑
l=0

exp

(
2πi

D
αl

)
μlνl+β

∣∣∣∣∣
2

1&�$%&2

=
1

D

∣∣〈μ∗|Uα
β |ν〉

∣∣2 , 1&�$%02



��$ ����-� )&

9���	 Uα
β =

∑D−1
l=0 |l+β〉〈l| exp (2πi

D
αl
)
�	�� �
	����� 
�������� F����	����	� ��


�������	 �4����>�� �������
 �������	9� �����6
�	6�� pα,β = 1
D
|〈μ∗|Uα

β |ν〉|2 ≤
1
D
�

�

 �
����
 � �	6� &�C 6�:�� ����	����7� :	 	��������� ������>�� fopt

���
�	 � �
����
 � �6�	��	 �����	 �
	4������	 ��6�9���	 H∞ ≥ d� E�,

��:6� �	����	� :	 ��� d > 4 �������� d/2 > log d� ?��� �����6
�	6�
d = �2 log 1/δ + 12� �
	4������	 ��� ε =

√
δ/2 ��4�:	��� K�� &�0�  �	�

�
��5� 
��	������>6� ���� :	 �����	�	 	��������� ������>�� fopt� ��5�	9� ���,
>��	 �	:� � �����������	� ���	94�>�� ε =

√
δ/2 �� ����4��
 �	�������	9� F1�

3� 
�������	 �	6� &�D 6���6���� 	����
�� ���>��� ����4
 �9��������� �	��

��	�� Hmin ≥ 1− ε�
���	��N6� �	��� �� 	����
�� ���>��� Γ

(δ)
A ⊗ Γ

(δ)
B � ��� �
: �����4� ��
�,

6����	� �����:�7 �����	6� 
���
��	�� � ��5��6 ������� ������� Si 
��	,
��4��� ����� |ψ0,0〉� ��	����� ���>7 2d,+�����	9� ����
 �	�� �������� 
��	�
����4 Γ(δ)

A � ����6���� ��
9� 
��	� ����4 Γ
(δ)
B � ?��
���� �� �����4� 
��	����,

����� �� ���� &�$'� ����:	� �������6�� :	 	����
�� ���>��� 
�4��
 (Γ(δ)
A ⊗Γ

(δ)
B

��� �	9� 
������4
 ��	 6�:	 
��	������7 1�
A��������� ������>�� fopt �	�� 8
����� �	�	�6����������� �	>�� ������ 
�,

6���5� ��� ����45� Γ
(δ)
A � Γ

(δ)
B �� ����	 �5��	� m

A
I = mB

I ���� m
A
II = mB

II � ��
fopt(m

A
I , m

A
II) = fopt(m

B
I , m

B
II) � ���� �5���	: � ����� �����6��	 �� ���>�����

����45��  
���
���
 �����6���� ����5� �
��������� ��	�����>��	 ���������
mA

I = mB
I ���� m

A
II = mB

II � �� 
����
�� 
���:��	 ����
����

p(mA
I , m

B
I ) = p(αA, βA, αB, βB) 1&�$%)2

=
1

D2

∣∣∣〈ψ∗
0,0|UαA

βA
⊗ UαB†

βB
|ψ0,0〉

∣∣∣2 1&�$%'2

=
1

D2

∣∣∣∣∣ 1D
D−1∑
k,l=0

〈k|〈k| exp
[
i
2π

D
(αA − αB)l

]
1&�$%D2

× |l + βA〉|l + βB〉|2 1&�$%C2

=
1

D4

∣∣∣∣∣
D−1∑
l

exp

[
i
2π

D
(αA − αB)l

]
δβA,βB

∣∣∣∣∣
2

1&�$%/2

=
1

D2
δαA,αB

δβA,βB
. 1&�$%(2
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X1

X4

X3

X2

A

A

A

A

���
�	� &�$D� ������
���� ����4
 Γ̃� ����	 ���94	 ��
�������� �����6 ����,
����6� ����6���� ��	������	 ���������6� ����	 ��������	 �������
�� �
	,
����	 CNOT ���������	 �� ���>��
 ����4
�

S��6
4� 1&�$%'2 �����6
�	 ��� � �	� ��6 �
��5� ��� 8��6
4� 1&�$%02� ��,
��:��� ����� 6�:�� ���	�
�	����7 ���� 
�95���	��	 ��6���� �
������� *$$�
('� (D-� ?
������	 
�6����� 
:����6� ����45� Γ

(δ)
A � Γ

(δ)
B 
�
��	� 
�6���M

A
I

�	�� ��6�	����	 �� �
������	 
�6����� �	�>���6� ����4
 Γ
(δ)
B ���	:���6� ��

������5� S1 � S2� .����9����	 ���
6�����	 6�:�� 
��	
�������7 ��� 
�,
6���5� MA

II � M
B
II �

?���� ���>��� ����45� Γ
(δ)
A � Γ

(δ)
B �� ����	 �5��	� �� ���� ���>����� Γ

(δ)
A ⊗

Γ
(δ)
B 6�:�� ��
���7 � 
������ p|00〉〈00|+ (1 − p)|11〉〈11|� F�������	 �	��� :	
	����
�� �	9� ����
 ��	 6�:	 
��	������7 1 ���
�
E��6�	6� ��� �	��� ��9����	��	6 �

	����������>�� ������5� 
��	6,

��>�� ��������	�� ���4
:�6� ��� �
 
����4��	6 ����45� Γ̃
(δ)
A , Γ̃

(δ)
B ��������

������ 6���O����� ��
���	���� ����45� Γ
(δ)
A � Γ(δ)

B � �������	 ��� ��:	��
�65����� �������	 ����� ����4 Γ̃(δ)

A � 9��: ����4 Γ
(δ)
B ������
�	 ��� �����9���,

��	� ����4 Γ̃(δ)
A 
��	��������� �	�� �� ���� &�$D� ������� �� ���	�� �	�>���

� �	��� ���>��	� ��:�	 �	�>��	 ��4��� ��� � ����� d,+�����	� � ����� 1,�����	��
����4 �	� �	O��
�	6� � �����

���� �
��5��

Γ̃
(δ)
A

(
ρ1 ⊗ e

(i)
1 ⊗ . . .⊗ ρ4 ⊗ e

(l)
4

)
= CNOTi ◦ . . . ◦CNOTl

(
Γ
(δ)
A (ρ1 ⊗ . . .⊗ ρ4)

)
.

1&�$$%2
ρ ������� ����� 
��	��4��	 �����6� ��������6�� ����6���� e(.) ���� 
��	,
��4��	 �����6� ���������6�� CNOT0(ρ) = ρ ���� CNOT1(ρ) = XρX†� E�,
�����6� �	���� :	 � 
���
���
 �����6���� ����5� 
���
�������� ���������
������ 
��	6��>�� Rprod = R(1)(Γ̃

(δ)
A )+R(1)(Γ̃

(δ)
B ) �9��������� �	�� ��	�5���,

>���6� RS =
∑

i∈S Ri ≤ 2δ� ����������6� ��� ��:�	9� 
�������
 ������5�
S� F����� �	� 
��5���6� � ������	6 
��	6��>�� 
�������6 
��	� 
�����54
�����6����� ��5�� ���������
�	 ����� �
�����	� Rspl = R(1)(Γ̃

(δ)
A ⊗ Γ̃

(δ)
B )�
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E�
��:6�� :	 RS ≤ I(XS : Y |XSC) ≤ Hmax −Hmin 9���	 Hmax �� 6��,
��6���� 	����
�� ���>��� ����4
� 3� 
�������	 ��6���
 
��	����	�� ���>���
����45� Γ̃

(δ)
A ���� Γ̃(δ)

B � � ��
 
���
������ 6�6� Hmax ≤ 1� J����� 
��

��9� ������ ��������	 6���6���	� 	����
�� ���>��� ����45� ΓA � ΓB �����,
6
�	6� Hmin ≥ 1 − δ� �� 
������� �� RS(Γ̃

(δ)
A ) ≤ δ� RS(Γ̃

(δ)
B ) ≤ δ ����

RS(Γ̃
(δ)
A ) +RS(Γ̃

(δ)
B ) ≤ 2δ�

?
����N6� �� ��� �����	� 9�� �� 9�� �4���� ��� ����� �
�����	�  ��6 �	�
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:�6� ��� �����

����6 
������4	6� ��:�� � ������5�� 
������	 ���
��:	�� 
��	��4� �����6� ��������6� ����45� Γ̃

(δ)
A � Γ̃

(δ)
A ���� Ψ0,0� ���	� �����

��������� ����4
 Γ̃
(δ)
A 
��	��4��� �	�� ��4� ���� 	����	�� 0� ����� ���������

����4
 Γ̃(δ)
B 
:����� �	�� � ���	:��>�� �� 
����	� � 6�9� ��� ��7 
��	��4��	

	����	�� 0 ���� 1� ��� 6�	��>6� �
: ������ ��
��:�7� ���>��� ����45� Γ
(δ)
A �

Γ
(δ)
B � � 
���
���
 �����6���� ����5� �
��������� �� ����	 ��6	� �	>�� ��������
������ �� ���>��
 ����4
 Γ̃

(δ)
B �
	����� �3FK ������������ 
��	� ���>��	

����4
 Γ̃(δ)
A � ��4� ���
���� �
������� ��� �� �����6���� 
��	� ��������� �������

����4 "F�� ��������	 ����	 ����4
 Γ̃B ��
�������� �	�>���6 ����4
 "F��
����6���� ����� �
	����� �3FK 6�	����� � ����	 ����������	� ���>��

����4
 "F�� F����� 
��	6��>�� ����4
 "F� �	�� �
����� �����	 ����� �
��������	� �	���� ��8��6���� 8��6
4� R1 +R2 +R3 +R4 ≤ 1 *C%-�

��% &������ ����
��

���	��������	 ��:	� ������ ���
���� ���	 
������ ���� �
9	�
�� �����	 ��	,
�
��� ����; ��� 	8	��	6 ��������� ������5� 
��	6��>�� ��������	�� �����,
:���� 
���:	� �������� ����	��	��	 �� ���>�� � ���� 
����	65��

• ��� �������� �

	����������>7 �	9
������������ ������5� 
��	6��,
>�� ����:��� � �	�6����� RT H

•  �����������	 ���	6��
 9���	9� ��������� ���� ��6���� �
�������

������ 4�6�7 ���������>7 R� ��� 6�:�� 
���7 ����> ���
��
�����
�������	������� ��	�������
����� ����45� ����������� ��� ��5����
�	� 	8	�� ��������H

• =�	��>6� ������ 
��	����7 ���� :	 ���	���	��� � ���������>�� 
��	6,
��>�� ��������	� ��� 
	����� ���� ����45� ���������� 1����45� 4�,
6������ �
������	� ����45� ��	�������>�������2 ��	 
��	����� ��� ��
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������ ����45� � ��	��6� �������6�� ����	 ����� ����45� ��	�������,

����� ������
�� ���������>7 RH

• ��� �����	�	 �����4� 8��6
4� �� �����	 1��9� ��9��2 �9������	��	 95��	
R∞H F9������	��	 ����	 
������4��� ������6�7 
���	�
�� �
��6���,
����� ��� �����������	9� 
������:	��� R(n) ≈ R(∞)�

• ����	 ����� �������	 �� 
:��	���	 � �
��6��������R(n)� �4��� �����	
� ���������� ���5� ���	��������� ����� ��������	� ����� G���� *0'-H

• ��� �
:� �
4�� �� 	8	�� �

	����������>�� 6� ��	���>7 ��
6
H
• ��� 	8	�� �

	����������>�� ��

 1��2 �����	 �����

�	 � 
���	 � 	8	�,
�	6 �
����������>�� HminH
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�������4 �	� �	�� 
�5�� 
��������� :	 	8	�� �������	� ��������� ������5�

��	6��>�� ��������	�� �����9����� �� �����:��	9� � 
���
���
 �6�	�����
�����	������ 6�:�� �����	�����7 � ����������
6 �
: ���>� 
��� ��	���6
�����	 �	��������

���	4�:	��
 �
������� � 
�
��	���6 ��������	 ����	
��� �� ����� ����5�
B�
��������� 
������ �6���7 �9������	��� ���� ��
���>�� �6
�	6	�������	
�
����	 � ���>�� &�0� E ��
9�	� ������� 
��
������� �
 �6���� 
��	�>����
�
������� 
	��	 ��
���>�� 8��6���	 ���� �
������ :	 ��6 	8	�� ������,
��� ����	 ��� 6��	� ����	����  
���
���
 ����45� B�
��������� ��	 6�:��

����6�7 � 6��� ���	���	��� � ���������>�� ������5� 
��	6��>�� 1
����
K�� &�$2� ����	9� 
���:	� �
��������� �������	 ������ �������>��� �	�� ���

�95���	��	6 K�� &�$ � ��6 �	���	� :	 ��	�6
�	 ��	���� ����� ����45� ��	,
�������
����� ��� ��	�������
�	 ����4� �����	��	 � B�
�������	�  ��:	 ���
�� �	���� � �	��9����� � 
	4�	� �������	������� ������
 
��	6��>�� 
���
��,
���� �5����	9�	 ����45� ��	�������
����� .�������� 
��	6��>�� ��������	�
B�
��������� ��	�������
���� ����45� ���������� �����	 ����������� �
��6 ��������	 �4�>��	 � ����	�>��	 4�6���� ������ �������>���

�1+
����� 
���
������� �� ��	��

���� �
��.�� � 
 �+
����� ��
������������	 ������
�
����
�	 ����� �����!� 
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E����� �������>�� �	�� 
�95���	��	6 ���	���	��� � ���������>�� 
��	6��,
>�� ��������	� 1K�� &�$2� �������
���	9� ��� ����45� �����	������ E���6

��	����	6� �� �	� ����	954��	9� 
��	������	���� �
5���6� �� 
����4�� 
�,
���
���� �����	9� ���	���	��	 � ��������>�� ��	 
��	���� ��� �� ����4� B�
�,
������	 ���	� � ���
�������6 
���
���
 ����45� $,��,$� ���
����6� ���
����4� B�
�������	 $,��,$� Φ1 � Φ2� ��� ��5���� 
����6 ��
6
 ������ ��,

���	���� σ2

szum (Φ1) � σ2
szum (Φ2)� E��4���6�� :	 σ2

szum (Φ1) < σ2
szum (Φ2)�

�������� � 
���
���
 ��
 ����45� ������� 
���	9� ����	6
 ��6	6
 �9��,
����	��
 σ2

we �� >�	���� �����
�� 6��� ���	6��>�� 
��������	 � ��6 6�,

6	���	 
��	� ��	9� �� C1 = 1
2
log

[
1 + σ2

we

σ2
szum(Φ1)

]
� C2 = 1

2
log

[
1 + σ2

we

σ2
szum(Φ2)

]
1
���� ��� 1$�&022� �� ��� �����	� 9�� ������� 6� �����
 �� ��
 ����45� �	�,
����	>��	H V�	���� 6��� � ��5�	� 6�:	 ��������7 �������� ������ �5�����
σ̃2
we = 2σ2

we� ����	��: 
����6 ��
65� �
����������� 
��	� ����4� Φ1 � Φ2

�	�� �5:��� ������� 6�:	 ��
��6�������7 �������� 6���� ���������
��� ����,
��� �	� ���>7 �� ��������� ��6
�����5� 
��	��4����� 
��	� ����4 � 6��	�,
���6 
����6�	 ��
6
�  
���
���
 9�� σ2

szum (Φ1)+2σ2
we ≤ σ2

szum (Φ2)� ���,
�	
���6 
��
�����	6 �	�� ������������	 ��4	� �����
�	� 6��� �� ��6
�������

��	� ����4 Φ1� � 
������4��� 
���
������ �
��6
6 
����
�	 ��� �
	4������
8��6
4� σ2

szum (Φ1)+ σ̃
2
we (Φ1) = σ2

szum (Φ2)+ σ̃
2
we (Φ2)� 9���	� σ̃2

we (Φi) �� 6��

������	���� �� ��6
������� 
��	� ����4 Φi 1
��5���� ��9� W���	� O����9
��9�����6W*&'-2� E� ��:��6 ���	6 ������� ����9� 
��	6��>7 C̃ > C1 + C2�
 ����6� ���	6� :	 �
��6����
��� �������� >�	���	� 6��� �� �	�>��
 ����4

Φi� ������� 6� �
4�� �� 4����� 
��	6��>7 
�4��
 Φ1 ⊗ Φ2� ������ ��	6

4�6�	 � �
�����6 
���
���
 ���������>7 
��	6��>�� ��������	��

 �576� �	��� �� 8��6
4 �
��
������ ������ 
��	6��>�� ��	�������
�	9�
����4
 B�
�������	9�� 3� 
�������	 �5������ 1$�)&2 6�:	6� ��
��:�7� :	

�����>7 �����6���� RS ��� 9�

� ������5� S ���	:� �	����	 �� ������	9�
�9������	��� �� >�	���� �����
�� 6�� P� �������� �� �� ������
� :	 ��,
������	 ������ 16��� ����42 �����
�	 ��� �	��	9� � ������5� ��	 6�9�� �

���
���
 ����������� ����45� ��6
������������ ��������7 6����6���	�

�����>�� �����6���� ����9��	� 
��	� ���	9� ������� *&(-� S��� �	�� 
���,
����� ���5��� � 
���
���
 ����45� �����	����� ��� � ����45� B�
����,
������ �����	6� ������7 ������ �������>���
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#�� )�!��
�� ���
������ ��� ��������� �
�(���

���
���

3� ����
�	 
��	�����6� ���	6�� ��6
�������� ��5�� ��	��������	 �����	 
�,
�����4 ��� � ����	�>��	 ��
�6�9��	9� �
������	6 4�6���� ������ �������,
>��� 1�2 ������� ���
�	 ��6
����� ��������� � 
��	�
�����	 d 
������	9�
����
 B��������	9� ργ,d=0� ���� 
������ �����6���� 
��4
9
�	 ��� ��8��	�	6
6��
�������6 {pd, ργ,d}� 9���	 pd ���	 �	�� ����	6 1$�$&&2I 1��2 ���� ργ,d

��	��4��� �	�� 
��	� ����4 ��6
��������� ΦI 1���2 �������� �	���
�	 ��6
,
����� 
�
��	� 
�6��� ��
���	����� ���	������ �� ���>��
 ����4
 Φ(ργ,d)�
 ������������� � ��6 ��������	 
���
������� 
�6��� ���������� 
��	�
�������� 6�:�� �����	 �
�������7� 
��� 
:���
 	�	6	��5� �
���� ������	��
�� 
�6���
 ��
���	���	9� �����
 ΩM ��6
�
������ �������
��
����:	� ���
������7 �����	6� n,6����� ���� B�
������� ργ,d ���� m,

	�	6	����� ���5� ��6
�
������ ���	������ ������������ ΩM � ΩM �������

�����5� �����
 ���������� ���	������ ������������ Ω� ��	O��������� ��

��	����	��� �� ��5�	� ���	:� ρ� J����	6� �������7 ������	��	 ΩD = Ω\ΩM �
E������6� �	���� ��� 
��� 
:���
 6���	��� ����������� γ ���� �	����� 
��	,
�
������ d ����
 ργ,d 6�:�� ������7 ����4��
 9����>�� 
�����
�����	;����
�����5� ξM �5�����	��	9� 
�6���
 ���������� ���	������ � ΩM �  ��6
�	�
 ��
���6� pξM ���� ��4�� 8
�����  �9�	�� Wρ(ξ) 
� �6�	����� ξD ����,
������� ��� �� ���	������ �	 �����
 ΩD�

pξM =

∫ +∞

−∞
d2n−mξDWρ(ξ). 10�$2

���������� 
���:��� 8��6
4� �9����	 �	 ����	6 1$�'(2 �����6
�	6��

pξM =

∫ +∞

−∞
d2n−mξD

1

(2π)2n

∫ +∞

−∞
d2nηe−iξT ηχρ(η) 10�&2

=
1

(2π)2n

∫ +∞

−∞
d2nηe−iξTMηMχρ(η)

∫ +∞

−∞
d2n−mξDe

−iξTDηD 10�02

=
1

(2π)2n

∫ +∞

−∞
d2nηe−iξTMηMχρ(η)(2π)

2n−mδ(2n−m)(ηD) 10�)2

=
1

(2π)m

∫ +∞

−∞
dmηMe

−iξTMηMχρ(ηM , ηD = 0). 10�'2

E6�	��	 
�6������	 ηM � ηD ������� ��� �� ���� ��6��� ���	������ ����,
�������� �� ξD� ξM � ����:	� �����������>6� � δ(x) = 1

π

∫ +∞
−∞ dy exp(−ixy)�
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������ 8
����� �������	��������	� χ ����
 B�
�������	9�
ργ,d 1
���� ��� 1$�'C22 �����6
�	6��

χρ(ηM , 0) = exp

[
−1

4
ηTM γ̃ηM + iηTM d̃− c̃

]
, 10�D2

9���	 γ̃ ���� d̃ 
������	 � γ � d 
�
��	� 
�
�����	 ��
���	����� ���
6� � ��	�,
��� ���������� � ���	������6� ����������6� ���	:���6� �� ΩD� ?���
���
�����8��6��� S�
��	��� ��������6� 9����>7 
�����
�����	;���� �����5�
ξM 
�6���
 ���	������ ΩM �

pξM =
1

πm
√
det γ̃

exp
[
−(ξM − d̃)T γ̃−1(ξM − d̃)

]
. 10�C2

������������ �� ����
 10�C2 γ �→ γΦ = φ(γ)� d �→ dΦ = φ(d)� �����6�6�
9����>7 
�����
�����	;���� �����5� 
�6���
 ���	������ ΩM �� ���>��

����4
 Φ�
E�
��:6�� :	 ��5� 10�C2 6� ���� ��6� 
����7� ��� 8��6
4� �
��
����

9����>7 
�����
�����	;���� ��9��4
 �

��������	9� ��������� ����4 B�
�,
������ � ��
6	6 ������6 6���	��� ����������� γ̃� F��	������ �� �������,
���6� �� �������	��� 
�����>�� �����6���� 
��	� ����4 Φ � ���
��������6
���	6���	� 3�	�� Y ������� 6���	�� ����������� ��9��4
 
:��	9� �� 6�,
�
����� ����
,��>���� ργ,d=0� E��4���6�� :	 ��9��4 6��
�
���� 6� ����4��
B�
���� �� 
��	�>��
 
��	� ����4 Y �����8��6
�	 ��� �� 
������ YΦ = φ(Y )�
γΦ ����	�� � ����	 ��
6 �
��������� 
��	� ����4 Φ ���� ��
6 ��������
� ������ ��	���������>�� ��5�	� 
���	9� ργ,d=0� ����������� � �������>�� ��,
���������� φ(.) ���� �	 ����
 1$�$02 �����6
�	6��

R =
1

2
log

⎛
⎝det

[
ỸΦ + γ̃Φ

]
det γ̃Φ

⎞
⎠ . 10�/2

 
���
���
 ����4
 �	���6����	9� �	����
���	9� 
��	�����4�	��	 φ(γ) =
XTγX + Z� ��������	 � 
��	�
�����	 dx 
������� �� 
�����>�� �����6�����

R =
1

2
log

(
1 +

σ2
syg

σ2
szum

)
, 10�(2

9���	 Y = σ2
weI� σ

2
syg = [ỸΦ]1,1 = X2

11σ
2
we ���� σ

2
szum = [γ̃Φ]1,1 = [XTγX+Z]11�

�������	 �
�����6� ��� �
 � ������	6 
����6
 ��9��4
 �� ��
6
 RSN =
σ2
syg/σ

2
szum�
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50:50

a

b

I

I

���
�	� 0�$� �5:������ 
�6��� ��6�������� ��6��� �������
�� ������,
���� �	�� �� 6����	 a� 6�� b �� ����	 
��	 � �����	 �
5���6� I �������
�	�	���� 6�	����� ����:	��� >����4� � ���	� �����	�

#�# )
���� �
�
��

��

 �	� ���>�� ��

�6� ��� �� 1���2 ����
 �
����	9� 
���:	� ���	6��
� � ��,
�4����	� �� 6	�����	 
�6���
 ������	� �������
�� 
��� 
:���
 �5:�����	9�

�6���
 ��6������	9� ���� ������
 
�6����� ����4��	6 
�����
�����	;,
���� 
������	� � �	� �
��5� �����>��� � 8
����� �������	��������� ����
�
�� ��5��6 ��4 
��	
��������� 
�6���� E��6�	6� ��� �
 �5���	: 
�����>���
�����6���� ��8��6���� ��������	� �	 ��
�6�����6 ���	6���	 ��6
��������
E��6���7 ��� �����	6� ����� ��	����6 �5:������6 
�6���	6 ��6���,

����6� G��4���� ������� 
�6���
 6�:�� ����	N7 � 
���� *'-� ����6����
� ���>�� 0�'�) �
����� �	�� 6��	� ��
6
 ��� 
�6���
 ��6������	9� ����
�	9� �
4�� �� 
���6	��� �����6����� ?��	6�� �5:�����	9� 
�6���
 ��6�,
�����	9� 
��	��������� �����4 �� ���� 0�$� �5:������ 
�6��� ��6�������
������� ��� �� 6�	������ 6��5� a � b �� ���	����
 ������ '%�'%� =�� a ��
����	6� �� ��5��6 6�	����� �	�� �������
�� QI b �� ����	6 � �����	 �
5���6
|β〉� 
��� ���6 ���4���6�� :	 β 
����6
�	 �����>7 ������������� �
:�� ���
��������7 ����	6 b ���� 6�� ����	9� 
��� ��������	9��  
�6����	 ��6���,
����6 6�� b 
	4�� 8
����� ������	9� ���������� �	8	�	�����	9�� 
��������	9�
8��� 6�	����	� �������
�� Q� F
	������ ���������� ����	� �

�����������
���	���� 6��� 
����7�

ĉ =
1√
2
(â+ ib̂), d̂ =

1√
2
(b̂+ iâ). 10�$%2

��6��� ����:	��� >����4� Ic = ĉ†ĉ, Id = d̂†d̂ �� 6����� c � d ���� � ��
�,
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��	���6 
��	��������	6 �����5� 
������ �� 
�6��� ���	�������

Id − Ic = ĉ†ĉ− d̂†d̂ = i
(
â†b̂− âb̂†

)
. 10�$$2

E9����	 � ��4�:	��	6 ����	6 b �� 6�� ����	9� 
��� ��������	9�� �� 
�������
���

Id − Ic = |β| (âe−iθ + â†eiθ
)
, 10�$&2

9���	 θ �������	 �	�� � 8��� 6��
 b�  ����6� ���	6� :	 �
����� ���	6��

������ �� 
�6��� ������	� �������
���

Q(θ) =
1

2

(
âe−iθ + â†eiθ

)
. 10�$02

��6��� Q 6�:�� �
�������7 �� ������������ ��
���	���	9� 
��	�
������
8����	9� �� 6����	 a ���� 
�6���
 ���	������ ���������	� X �

#�%  !��� �
�
��
�� � 	���

��� ��"*����

��	�	������	 � ��6 ��������	 ������� 
������	 ��� �	 
���������	 ���	>��	�
��� ����45� � �6�	����� �����	������ ���
�� �� ���	6���	 9���	9� ������,
���� E �	9� ��9���
� ��� 
4����7 ������ �	��
��� 
���:	� �65����� �������	
�	9� �	�������� � �
����
 � ����� B�
�������	 *D� $(- ���� �����9 
�6���

J	��� � �6�	����� ���94��� *)$-�
?��	6�� 9���	9� ��������� 
��	������� ��� �����

����� 1�2 ������� � ��,

������ ��
54���	�� ��
6����� ���� >��>����� |ψr〉 9���	 r ������� 
���6	��
>��>������I 1��2 ������� �����
�	 �� ����6 
��
�4����	 �
	����� 
��	�
���,
��� D (dx, dp)� 
� ���6 1���2 ����4� 9� �������� 
��	� ��	���� ����4 �	���6�,
����I 1�#2 �������� 
��	
������� �5�����	��� 
�6��� ���	������ X1 −X2

���� P1 + P2� 
�6��� �	� �	�� 
�95���	��	6 
�6���
 J	��� �� 
���
��	�
�6�	����� ���94���� G�� 
���6	��
 >��>������ r ���� 
��	�
������ (dx, dp) ��,
���� 
�6���
 6��� ����4�� B�
������� � �����>�� >�	���	�� E(X1−X2) = dx�
E(P1 + P2) = dp ���� ��������� σ2(X1 −X2) = σ2(P1 + P2) = e−2r� 3� 
��,
�����	 �����
 
�6���
� ������� 6�:	 ���	>��7 �����>7 
��	�
������ (dx, dp)�

��� ���6 ���4����>7 � ���� �� ����� ��>��	 ���� � 
���6	��	6 >��>������ r�
������>7 �����6����� 
��� >�	���	� 6��� σ2

we �
:��	� �� 6��
����� ����
 |ψr〉
�������

R = log
(
1 + σ2

wee
2r
)
. 10�$)2
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.�� 
��5���7 
�����>�� �����6���� � �
�����6 ��:	� ���	6���	 � 
��	6,
��>��� ��	���	9� ����4
 �	���6����	9� Cid = g(N) 1
���� ��� 1$�$$(22�
6
��6� �
�������7 4����	 �9������	��	 P �� >�	���� 6�� ��������������
� 
���	��	 ��6
�������� ��	�6
���	 6�� �
:��� �� 
���9�������	 ����5� >��,
>������� ���� �� ��� 6��
������ F9������	��	 ��� � �	�6����� >�	���	� ������
8����5� 
���
��������� �� �	��� 
:���	 ����4
� �������

σ2
we + sinh2 r ≤ N. 10�$'2

F
��6�������� 
����6
 ��9��4
 �� ��
6
 �	 �����	 10�$)2 ��� 
������	9�
N 
������� �� 
��	6��>�� ���	6��
 9���	9� ��������� � 
�������

CGK = log
(
1 +N +N2

)
. 10�$D2

=�:�� 
�����7� :	 � 9������ N → ∞ �������� CGK = 2C(I)� B������
N → ∞ ��
������ �����6���� ����5� 6����6����	 �
��������� �������	
��� � 
���
���
 �6�	����� �����	������ �����

�	 �
��� �������	��������	

�����	��	 
��	6��>�� ��������	�� E��� 
��	6��>�� � ���	6���	 9���	9�
��������� ������� ��7 ����
����� 
�������� �� r = 0.7809� �� ��
������
>��>�����
 ��
6����	6
 �� 
����6�	 6.78dB� ?��� >��>����� ��	��	 �5�����
>�	���� N = 1.884 8����5��
3� ����	� 
��5���6� �	����	 ���	6�� 9���	9� ��������� � ���6� 
��,

����4�6� ����4�����6� � �
����
 � ����� B�
�������	 1
��5���� ���>7 $�&�D
���� ���>7 0�'�&2� ��������	 � 
��	�
�����	 (dx, dp) ����5� �
5����� � �	,
�	���� �	�	�������� X,P ���� ��������	 � 
��	�
�����	 (dx, 0) >��>�������
����5� 
�5:�� � �	�	���� ��6������� X � ������>7 �����6���� 
���������
� 
�	�����6 
���
���
 ������ RSP = log(1 + N) *)D� C/� ($- � �	�� ���
�����	 6��	���� �� CGK � G�
9� � 
������45� ����9� 
�����>7 �����6����
RSC = log(1 + 2N) *($-�  ����>7 
���6	��
 >��>������� 
���:	� ��5�	� CGK


��	��:��� RSC � ������ r = 0.5493 �� ��
������ >��>�����
 ��
6����	6

�� 
����6�	 4.77dB�
K�
��� �6
�	6	������ ��
6����	9� �����9
 
�6���
 J	��� � �6�	�,

���� ���94��� 
��	9� �� 6�	�����
 6��5� �	�>������� �� ���	����
 ������
50 : 50 1
���� ��� 1$�D'22�  ��:	 ��� �� � �����

���� �����8��6���� ���	�,
����� �������������⎛

⎜⎜⎝
X1

P1

X2

P2

⎞
⎟⎟⎠ �→

⎛
⎜⎜⎝

X ′
1

P ′
1

X ′
2

P ′
2

⎞
⎟⎟⎠ =

⎛
⎜⎜⎜⎝

X1−X2√
2

P1−P2√
2

X1+X2√
2

P1+P2√
2

⎞
⎟⎟⎟⎠ . 10�$C2
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50:50
A1: (X1,P1)

A2: (X2,P2)

XHD

PHD

���
�	� 0�&� �	�������� �����9
 
�6���
 J	��� � �6�	����� ���94��� 
�,

��	� 6�	�����	 6��5� �	�>������� �� ���	����
 ������ '%�'% ���� 
�6���
��6��������

3� �����	 ����	� �

����������� ���	���� 
6�	������	 �� �	�	����� ��6�,
�����	 �����
���	 ��
���	���� 
�6��� ���	������ ���������	� X = X ′

1


�	����	� ������ � ���	������ ���������	� P = P ′
2 ��
9�	� �������  �	�

�
��5� �	��������� �	�� �5�����	��� 
�6��� �� 6����� �	�>������� ���	�,
����� (X1−X2)/

√
2 ���� (P1+P2)/

√
2�  �
54������� 1/

√
2 
�
�� ��� 
��	�

��
���	���	 ���������	 �����5� 
�6���
�

#�+ $�
���

�������� �� ��5�	 ������� ��� ��
���	���	7 � ��6 ��������	� ���

• ��� �����	�� ����4� B�
�������	 
���������	 ���	�����7 ��
�6�9���
�
������	6 ��������� 
��	6��>�� ��������	�H

G�� 
����4��� ������ ����45�� ��
�����	 � �
����
 � 1�2 ���	����
������ ���� 1��2 ���6�� XP � ����	���� �������	 ��
���	���� � ���,
>�� 0�'�$ ���� ���>�� 0�'�0� B45���6 �9������	��	6 ��� ���	������ 	8	��

��������� �	�� 
����	6 � ����9�����	6 ������������� ������	9� 
�,
���6
 >��>�������  	 ���������� 8��96	����� �����4� 
����� 6���,
6���� �����>7 r ����	���� �� 
�������� ����������

• ��� 
��	������ ��� 
�����>7 �����6���� 
������� ������ �����������

�
������� �� ��	 ������ 
������45� 
���
������ � �
����
 � ����� B�
�,
������	H

3��	:� �
��� ��
��:�7� :	 ������������	 �
������� ��	 �	�� � 
���
���

����45� B�
��������� �	����6 >�����	6 
���������6 �� 4�6���� ��,
���� �������>��� ��� 
������� � 
���� *(0-� 	8	�� ���� 6�:�� �5���	:

�����7 
:������ �	���6������� ����5� >��>�������� F�� 
��	�>���



$�& ����-� *(


��5������	 �� � ���>�� 0�'�& 
�� ���	6 
����6
 >��>������ ����	��,
�	9� �� �4�6���� ������ �������>��� G��������� 
�����>7 ����9���

��� �����6���� ��
�6�9��	� �����6� �
������6� ������	 ��6 �	���,
����� � 
�����>��� �����6���� � ��
���6 
�������	 ��	����	� ��6
��,
����� >����4������	��

• ��� ������ �9������	��� �������	 � ���4����>��� �
����
�� 
�6����,
�	� � �
����
 ������������	9� �
4����� �� �����
������ 	8	�� ����,
�����H

 ���>�� 0�'�)� �� 
����4����	 �����	����� �����>�� ����������� 	8	�,
�����>�� �
����
�� 
�6�����	�� ���4����>�� �	�������� ���6	� XP �

���� ����� 
������ �����6���� 
��	� 	�	6	��� �
�����	� 
�������� ���,
�
��� �	�� �
4�� ��
6
 �� 	8	�� ���������� F6������ �	�� �5���	:
�	����� 6����� 
����6	6 ��
6
� � ��6�9���6 � ���	� �6
�	6	�,
����� 
����6	6 >��>������ ����5� �
���������  ����� ������ ��� ��7
�
��6�������	 �
9	�
���� :	 
��� ����9���6 ��	���	 
����6�	 >��>���,
��� �
����
�� 
�6������ �	�� ������������� ���4����� ��� ���	�����7
	8	�� ��������� �	� ����	����>�� 
��	����� ��� �� 
����	�	���� �����5��

�������	 ��� ��������	 ���������6 ����45� �����	������ � �	�
 ���	,
6����������� 4�6���� ������ �������>��� ���������7 �����	6� �	����	 
���,
��>7 �����6���� 
��������� 
��	� �	��	9� � ������5�� 
������ 9�� ��
9�

	4��7 �����	 ���� 
�6������ ������������ �� ��:��6 ���	6 >��>������� ���,
�5� 
�5:���

��#�� /�	�$�	� 
	'��	, �
�
�	� �
�
�� $��
$����	 
 $
�

.��
���	���

 �	� ���>�� �������6�� ��� ���������
��� ���	���� ������ < �	�	� � ���
�,


�����	������ 	�	6	��5� �
�������� < 6�:�� ���	6��������7 � ������,
����
6 ��
�6�9��	 �
������	6 4�6���	 ������ �������>��� ��	�	������	 �

�����������	 ���	����� ������ ���:	 ��� �	�
�>�	���� � �	������6� �	�	��6
,
������� >����4������	� � ���������6 �
���9���	6 ����	� >����4���������
*0(- ���� �	�� ���
�����6 
��	�>��	6 �� 6��	������� �
�������� ��	�� �	�	,
��6
����������� *C$� 0C-�
 
��
�������6 ���	6���	 ��>������	��� 6�6� ��5�� ������5� 1S1

� S22 ��6
���
������ ��� � ��6 ��6�6 ��������� F��� ������� ���������� �

�&�'����� 
� �' �� ����	���'@ ��.� ���
'���������'��� XP .����
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A’

|α〉

ψ

θ

r

A 1

A 2

���
�	� 0�0� J
���� ����4
 Φθ ���� ���O9
����� 
���������� ���	�����7
��
�6�9��	 �
������	6 4�6���	 ������ �������>���

����4
 ��	�������
��	9� Φθ
�� ������� ������� S2 6� �����
 �� ��	���	9�

����4
 �	���6����	9� I� U�6���	 ������ �������>�� �������	 
������	 ��

�������	 
�����>�� �����6���� ��8��6���� ��������	� ����9��	� 
��	� �������
S1� =5���� >��>�	 �������6�� :	 ��� 
��������� �9������	; P �� 6�� ��,
���
�� �������6 ��������� R(1)

1 (Φθ⊗I) > R
(∞)
1 (Φθ)+R

(∞)
1 (I)� F������ ���

:	 ��������	 ������ �����
�	 ��� S2 ����6� �� �
������	 � ����4 ��6
����,
����� I 
�������� ��������7 
�����>7 �����6���� ����9��� 
��	� S1�
?��	6�� 
�4��
 Φθ ⊗ I �����
�	 ��� �� ���� 0�0� ����4 Φθ ��4��� ��� �

���	����� ������ � �����6������� T = cos2 θ� �� ��5��6 6�	����	 �� 6���

��������	 �� ������5� S1 � S2� F������� 6� �����
 �� �	��	9� � 6��5�
���>������� ���	����� ������� G�
9� 6�� ���>����� �	�� �������� ����4 �	,

����
�	 �����������	� Φθ(ρ1 ⊗ ρ2) = ��S1

[
UDW (ρ1 ⊗ ρ2)U

†
DW

]
� ����:����	

��� � �	�6����� �
	�����5� ������������ �����⎛
⎜⎜⎝

X1

P1

X2

P2

⎞
⎟⎟⎠ �→

(
XΦθ

PΦθ

)
=

(
sin θX1 + cos θX2

sin θP1 + cos θP2

)
. 10�$/2

E�����	6� �� �������	��� 
�����>�� �����6���� R(1)
1 (Φθ⊗I) ������� S1�

9�� 
��	��4� �� ����� �
5��	 ργ=I,d
�� 3������ S2 �� ��:��6 ���	6 
��	��4�

��
6����� ���� >��>����� |ψr〉〈ψr|� F������� �����
�	 
�6��� J	��� ���	�,
����� XΦθ

−XI , PΦθ
+PI 1
���� ���>7 0�)2 �� ���>��
 Φ⊗I� ���	>����� � �	�

�
��5� ��6
����� �� S1�  9������ ������ ������� ����5� |d|2 → ∞ ����
�����6������� T → 1� 
��� ���������
 
��
����� |d|2(1 − T ) = const� ����4

�θ ∈ [0, π) �� �������� �����������'	��� ������
�A���
�� ���'	� 

�	 ���'����� ���'	� 
 ����
'�� ��� (dx, dp) 
���' ������ ργ=I,0�



$�& ����-� **

Φθ �	����
�	 �
	����� 
��	�
������ �� 6����	 
���������6 �� ������� S2

*C0-� Φ(ργ=I,d ⊗ ρ2) = D(dx sin θ, dy sin θ)ρ1D(dx sin θ, dy sin θ)
†� ���	�
�����	

�� 6��
�
�	 ���� >��>����� |ψr〉〈ψr|� �� � 
��������
 � ����������6 
��	�
�������� 
�6���	6 J	��� ���	 ������ �����9�� ���	6��	6 9���	9� ���������
��� �6�	����� ���94����
����	��: ������� S2 ��	 
��	��4� :������ ��6
�����5�� ���	6�� Φθ⊗I

6�:	6� ��������7 ��� ����4 $,��,$ � ���������7 � 
��	�>��� 
��	��������	9�
� ���>�� 0�0� �����6
�	6� ����������� 1
��5���� ��� 1$�$&&22� :	 
��	�
,
�����	 ����5� ���������� 
��	� S1 6� ����4�� 
�����
�����	;���� 1
�,
�5���� ��� 1$�$&&22�

pd =
1

2πσ2
we

exp

(
− |d|2
2σ2

we

)
, 10�$(2

�� 
������� �� �	�>������� 6���	��� ����������� ��9��4
 ���� ��
6
 � 
�,
���7�

Y = diag
({

2σ2
we, 2σ

2
we

})⊕ diag ({0, 0, 0, 0}) 10�&%2

γ = γSP ⊕ γSPL, 10�&$2

9���	 γSP �� 6���	�� ����������� ����
 �
5��	9� � γSPL ��
6����	9� ����

>��>����	9�� 3� 
�������	 ����
 10�$/2� �����6
�	6� 6���	��	 �����������
��
6
 γΦθ⊗I ���� ��9��4
 YΦθ⊗I �� ���>��
 
�4��
 Φθ ⊗ I � 
�������
YΦθ⊗I = diag

({
2 sin2 θσ2

we, 2 sin
2 θσ2

we, 0, 0
})

10�&&2

γΦθ⊗I =

⎛
⎜⎜⎝

cos2 θch2r + sin2 θ 0 cos θsh2r 0
0 cos2 θch2r + sin2 θ 0 − cos θsh2r

sin θsh2r 0 ch2r 0
0 − sin θsh2r 0 ch2r

⎞
⎟⎟⎠ .

 �����
 
�6���
 J	��� �����6
�	6� �����	����	�

ỸΦθ⊗I = diag
({

sin2 θσ2
we, sin

2 θσ2
we

})
10�&02

γ̃Φθ⊗I = diag
({

(cosh r − cos θ sinh r)2 , (cosh r − cos θ sinh r)2
})
.10�&)2

������������ 
���:��	 ������ �� ����
 10�/2 �����6
�	6� 
�����>7 �����,
6�����

R
(1)
1 (Φθ ⊗ I) = log

[
1 +

sin2 θσ2
we

(chr − cos θshr)2

]
. 10�&'2
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��
-��0

������>7 �����6���� R(1)
1 (Φθ⊗I)� ��� ��� 6�:�� ��4� ��� �
����	��7� ��:� �

9������ T → 1�σ2
we → ∞� σ2

we(1 − T ) = const �� 
�����>�� �����6���� ���	,
6��
 9���	9� ��������� R(1)

1 (Φθ⊗I) → log(1+e2rσ2
we sin

2 θ)� G��	� �����	6�
���4���7 �9������	��	 P �� >�	���� ������ 8����5� �� 
:���	 ����4
�{

S1 : σ2
we ≤ N1

S2 : 2sh2r ≤ 2N2
10�&D2

A����	6� 10�&'2 
��� ����
 �9������	; �	:� �� �����	��

T = th2r. 10�&C2

�5�����	 �� 4���� �	 ���� 
���6	��� ����4
 1�����6������� T = cos2 θ2 �

���6	���6� ��9��4
 1>��>�����	 r2� B�� �� �5�����	 10�&'2 ��4�:��	 �� �9��,
����	��� 10�&D2� � ���	:��>�� �� �����6������� T �����6
�	6� ��� 
���
�����
T > N2/(N2 + 1) ���� T < N2/(N2 + 1)�  
�	�����6 � ���� 6����6
6
����9��	 �	�� � 

����	 σ2

we = N1, sh
2r = N2� �� 
������� �� 
�����>��

�����6����� Rmax
1 = log

[
1 +RN1/2(

√
N2 + 1−√

TN2)
2
]
� G�
9� 
���
��	�

�	�� ������	� ���	�	�
����� K
��� 6����6
6 �	:� �� �����	� 10�&C2 � ����9��	
�	�� ��� σ2

we = N1�  ��6 
���
���
 6�6��

Rmax
1 (Φθ ⊗ I) = log(1 +N1). 10�&/2

E	 ��9���
 �� 10�&C2 
���:��	 ����:	��	 ��	 ���	:� � �
��5� ����� ��

���6	��
 >��>������ r ���� �����6������� ���	�����4� T �
=���� � 
�6���� �����9�� �� ���	6��
 9���	9� ���������� 6�:�� ��

���	����7 �	����� ��

 Rmax
1 (Φθ ⊗I) ∝ log(1+N2

1 )� E��576� �	���� 
��9��
:	 6����6���� 
�����>7 �����6���� Rmax

1 (Φθ ⊗ I) ����9��� �	�� � �������	�
9���	 �������>7 	�	�9�� 
��������	� �� S1 �	�� �������� 
������ 9�� ���	6��
9���	9� ��������� ���4��� ��6
������� 
��	� ����4 ��	�����
K	��� ��������6� �9������	��	 95��	 �� �	9
���������� 
�����>7 �����,

6���� R(∞)
1 (Φθ)� E��4���7 �����	6� ����	 ��6	 �9������	��� P ��� � 
���,


���
 R(1)
1 (Φθ ⊗ I) 1
���� ��� 10�&D22� 3� 
�������	 �9������	��� !��	#��

4����� 
�����>7 �����6���� ��� ��
 ������5� �
	4����

R1(Φθ) +R2(Φθ) ≤ max
ρ1,ρ2

S(Φθ(ρ1 ⊗ ρ2)) ≤ g(Nwy). 10�&(2

?���
��� ������
 6��� ��� ���	����� ������ �����6
�	6��

Nwy = sin2 θN1 + 2 cos2 θN2. 10�0%2



$�& ����-� �+�

F9������	��	 �� �	�� ����9���	 � �������	 �
:��� 6���� 9�� ������� S2

�
:��� ��4� �����
�� 6�� �� ��
���
������	 �	���6����	9�� >��>����	9�
����
 
�5:�� *(0-�
 
���
���
 n 
:�7 ����4
 Φθ �9������	��� P 
����6
�� 
����7�{

S1 :
∑n

k=1N
(k)
1 ≤ nN1

S2 :
∑n

k=1N
(k)
2 ≤ nN2

10�0$2

3�	�� ρG �����	 n,6�����6 ����	6 B�
�������6 � >�	���	� ������	 8����5�
N � �	�
���� ����
 ρG �� 6��
 k ����	�� N (k) 8����5� � �����	 ���������

��	� ρ(k)G � E������� �5����� *'C-�

S(ρG) ≤
n∑

k=1

S(ρ
(k)
G ). 10�0&2

����������� �	 ����
 10�0%2 ���� � 8���
� :	 ���� �	�6����� 6����6����
�	
	����
��� �����6
�	6��

S(ρG) ≤
n∑

k=1

g
(
sin2 θN

(k)
1 + 2 cos2 θN

(k)
2

)
. 10�002

F
��6�������� �������� 6��� 
��� �9������	����� 10�0$2� 
������� � ����	,
95���>�� ���

max
ρ
(n)
1 ,ρ

(n)
2

S
(
Φ

(n)
θ

(
ρ
(n)
1 ⊗ ρ

(n)
2

))
≤ n g

(
sin2 θN1 + 2 cosθN2

)
= n g (Nwy) .

10�0)2
����	��: R(n)

1 (Φθ) + R
(n)
2 (Φθ) ≤ 1

n
max

ρ
(n)
1 ,ρ

(n)
2
S(Φ

(n)
θ (ρ

(n)
1 ⊗ ρ

(n)
2 )) ������
,

�	6�� :	�
R

(n)
1 (Φθ) ≤ g(Nwy). 10�0'2

=���� R(1)
1 (Φθ⊗I) ���� R(∞)

1 (Φθ)6�:	6� ��5��7 �� ��9����	��� ������,
���� ����	��: R(∞)

1 (Φθ) 
��9������ �
4�� �
������� 6����� ��
��6� ����4

Φθ� 6�:	6� 65��7 �
��� � ��������� 
��	6��>��� 3������ S1 ��	 6� ��,
���

 �� ����4
 I� ���	6 R

(∞)
1 (I) = 0�  �������� ����� :	 �������	6� ����	

θ,N1, N2� ��� ��5���� ��������� R
(1)
1 (Φθ ⊗I) > R

(∞)
1 (Φθ)� 3� 
�����	� �9��,

�����6� ��� � 
���
��������� �� ������
� 9���	 	8	�� �������� �����

�	
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��
-��0

��������	�� ��� 
����6
�	6�� :	 ������� S2 � 
	4�� ���������
�	 ����	 ��,
���� 1sinh2 = N22 ���� 
��
���6� ��� 
� �����	� �������	� � 	����	6
6
R

(1)
1 (Φθ ⊗ I) 1
��5���� ��5� 10�&C22� ��5�� �
 
����6
�	 
����7

cos2 θ = N2/(N2 + 1). 10�0D2

 ��������� 10�0D2 �� ����
 10�0%2 �����6
�	6� �9������	��	 95��	 �� 
���,
��>7 �����6���� 
��	� ����4 Φθ 1
���� ��5� 10�0'22 R

(∞)
1 (Φθ) ≤ g(Nmax)�

9���	 Nmax = (N1 + 2N2
2 )/(N2 + 1)� G��	� 
����6
�	6� ��� 

������	���

R
(∞)
1 (Φθ) = g(Nmax)� E ����	9� 

���
 ����	��� �	�� �� ���9����� 
���,

��	�� 9��: ������� ���������� 
�����>7 �����6���� R(∞)

1 (Φθ)� P����� Q =

R
(1)
1 (Φθ⊗I)/R(∞)

1 (Φθ) ����9� 6����6
6 � 

����	 N1 = 2N2(N2+2)� 9���	

����6
�	 
����7 Q = log(1 + 2N2(N2 + 2))/g(4N2)� G�� N2 → ∞ 6�6�
Q → 2�  ����6� �
 ����� 4�6���	 ������ �������>�� ���� 	8	�� ����������
P����� Q ��� N1 = 2N2(N2 + 2) �����4 
��	��������� ����� 
�9�
����� ��
���� 0�)��2� 3��	:� ���5��7 
��9�� :	 ��� ��:�	� �����>�� N2 6�6� �� ���,
��	��� � ����6 
���6	��	6 θ � ��6 ��6�6 � ���� �	�������� ����4
 Φθ�
.�������� 6�:�� ���	�����7 
�������� �� N2 = 1.73� �� ��
������ >��,
>�����
 ��
6����	6
 ����
 9.46dB� E 
��������	9� 

���
 ����	��� ���	,
�	�
���	 �	�� ���������	 ������
Q ��� 
������	9� 
���6	��
 θ� 3� ���� 0�)��2

��	��������� �����4 
��	��	9 Q ��� ����
 ���;������� �����>�� �����6����,
��� T = cos2 θ ��� N1 = 1000� .�������� ����9��� �	�� �
 ���	>��	� ��: �

���
���
� 9�� ����6�6� ��� �����	� 10�0D2� V��>�����	 ����
 5.7−7.7dB� ���
��5���� 
������ ��� 	8	��� �	:� � ����	��	 �	���������6 
��� 
:���
 ��	�����
�	����� 	��
	��6	���������

���� 0�' ����� ��� ��
���	���	7 �� 
�����	� � ��� �
:�6 �������	 
�,
��6	��5� N1, N2, θ 6� 6�	���	 4�6���� ������ �������>��� E����6�>7 �	9�
������
 
������ �� �
��6���� ���5� 
���6	��5� 
�4��
 ��>���������	9��
3� ���
��
 
��	��������	 �����4� �����	 �	6��������	 Q = 1 ��� �5:����
�����>�� N1� ?����
��� �� N2 = 0 � 
��
������ ��� ��	�
��
 N2 = ∞ ����,
���6� � ������ RSPL > RΦθ

S1
� E	 ��9���5� 
����������� ���	�	�
�	 ��� ��,

��	� 6�4��� N2�  ��� � N1 → ∞, θ → 0 ����:�6� ��� �� ���	6��
 9���	9�
���������� ��	9� ������	6 �	�� 
��	�
����	 ��� 6���6���	� �����>�� θ� ���
��5�	� 
������ ��� 	8	�� � ��	�
��
 θ = 0�
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���
�	� 0�)�  
4�� �
������� �� 
�����>7 �����6���� ��8��6���� ��������	��
�2 ���������	 Q = R

(1)
1 (Φθ⊗I)/R(∞)

1 (Φθ) � ���	:��>�� �� �9������	��� P ��
>�	���� ���>7 8����5� �� 
:���	 ����4
 ��� ������5� S1 � S2 1cos2 θ = th2r2�
�2 �����	 ����	�
 �2 ��� N1 = 1000�

2.0

1.5

1.0

0.5

5

0.1 0.2 0.3 0.4 0.5
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N2

15
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0
b)

a)

���
�	� 0�'� G���	 �9������	��	 ��� ������
 RSPL > RΦθ
S1
� �2 �5:��6� ��,

�����6� ����� 
��	��������	 �����4� �����	 Q = 1 ��� N1 = 103, 106, 109I �2
�9������	��	 ������
 Q > 1 ��� N1 = 103 �������	 � ������	� ������
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��
-��0

��#�� 0	���
�	�
 ��
�)
 ����
��( 
 ��%����� ��
���

�	��	, ������	

�	� �
���)����� ��� 	 �� �
�
�	


�
�
�� $��
$����	

 ��5� 6�	������� ����5� �������� � �������� �
��5� �
4��� �� 
���,
��>7 �����6���� 
�����	95����� ������5�� ����������� 
������	 �	 ���	,
6��
 �
��������	9� � ���>�� 0�'�$� �����	6� ���:��� �� ��9����	��	� ����	,
95���	 ��������� 
��9� �� ���
���	� � ��5���� 4�6��� �	�� ������ �������>���
?�

�6� ��� ����� �� �����6���� ����5� B�
��������� � ��8��	�
 6��
�����,
�	9� ���� 
�����>�� �����6���� ������� S1� 3������ S2 ��	 
��	��4� :���	�
��8��6���� � �����	 �����	 ����� �	�	� 
������� �����  	 ���������� �6����,
���� 
���
������ ���4���6� �9������	��� P �� >�	���� 6�� �����
�� ���
������5� � 
������� {

S1 : N1

S2 : N2
10�0C2

���5�����7 �����	6� �����

���	 
������4��

• 3������ S1 � S2 
��	��4��� ����� �
5��	� S1 ���
�	 ��6
����� � 
��	,
�
�����	 (dx, dy) �������	9� ����
�  ����>�� 
��	�
������ 6��� ����4��
B�
��� 1
���� ��� 1$�$&&22 � 6���	��� ����������� Y = diag ({2σ2

we, 2σ
2
we})�

9���	 σ2
we = N1� 3������ S2 
��	� ��4� ���� ����4� ����� �	�	� ��,

����� ���� �
5���� F������� �����
�	 
�6��� �	�	�������� �����6
,
��� � �	� �
��5� >�	���� �����>7 ���	������ ������������ XΦθ

� PΦθ
���

������ �

��������	� ����4 Φθ� ������>7 �����6���� ������ *)D� C/� ($-�

RSP = log(1 + sin2 θN1). 10�0/2

.����9����� ����� 6�:�� �����6�7 ��� ����4
 �4
6���	9� � �����6�,
������ T = sin2 θ *)'-� RSP ���	:� ����� �� ��������� �9������	; ��� S1�
���	6 ������
�	 ������ �������>���

• 3������ S1 � S2 
��	��4��� �	���6����	 >��>����	 ����� 
�5:���  
��
 
���
������ >�������	 �������� ���4
: �	� ��6	� �������
��� 
�,
��	��6� X � ����6	��� >��>������ ��	 �6�	����� ��� 
������ 
���	�
 ��,
6
�������� S1 ���
�	 ��6
����� � 
��	�
�����	 dx� ����6���� ��������
�����
�	 
�6��� ��6������� ���	������ XΦθ

�  ����>�� 
��	�
������

����6
�� ����4�� B�
���� 6���	�� ����������� ��9��4
 �	�>����	9�
6� 
����7 Y = diag ({2σ2

x, 0})� ������>7 �����6���� ������ *(0-�

RSC =
1

2
log

[
1 +

σ2
x sin

2 θ

sin2 θ e−2R + cos2 θ e−2r

]
, 10�0(2
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9���	 R � r ��������� >��>�����	 ����5� 
����������� ��
���	����
�� S1 � S2� �����6 ��
6
 � RSC ���	:� �� 
���6	��
 >��>������ r
������� S2 �� �������� :	 4�6��� �	�� ������ �������>��� F9������	���
P ��6
����� σ2

x/2 + sinh2R ≤ N1 ���� sinh
2 r ≤ N2� B�� 
:�����,

��� S1 �����
�	 �
��6�������� 
����6
 ��9��4
 �� ��
6
� � 9������
N1 → ∞, N2 → ∞ 
�����>7 �����6���� ��:� �� RSC → log(1 + N1)�
 �����������	 >��>������ 
������ 
������7 ����	 �	 ������6� 	�	�9��
����������6� � �����6���� 
��	� Φθ�

• 3������ S1 
��	��4� ����� �
5��	 ���
��� ��6
����� � 
��	�
�����	
(dx, dy)� ������� S2 
��	��4� ��
6����� ���� >��>������ �������� ��,
���
�	 
�6��� J	��� � �6�	����� ���94���� ������54 �	� �����4 ���4��,
��	 �
����� � ���>�� 0�'�$� K
��� 
��������6� ����� 
������� 
�����>7
�����6�����

RSPL = log

[
1 +

sin2 θσ2
we

(cosh r − cos θ sinh2 r)

]
, 10�)%2

9���	 r �� 
���6	�� >��>������ ����
 �����6������	9� 
��	� S2� ��5��
�	 ��9���
 �� �9������	��� P �
	4��� 2 sinh2 r = N2�  
���
���

��
���	���� �
:	9� N2 �
��6�������� RSPL 
������ ����:�7 ��� ��
Ropt

SPL = log(1 + N1)�  ����>7 �� �	�� �5��� 
��	6��>�� ��	���	9� ��,
��4
 �	���6����	9��  �����������	 �
������� 
������ 
������7 ����	�

������	 ��� � 
�
��	���6 

����	� �	 ������6� � �����	� K
 �5���	:
���	��
�	6� 4�6���	 ������ �������>���

 	 ���������� �
������� ��:	� 
���
������ ������� S2 6�:	 ��6
������7
��� � �������� 
�
��	� ����4 ��	�������>������ �	����:	 ����� � 
���
���

�����6���� ����5� �
�������� 
:���	 �	9� ����4
 �������� 
�����>7 �����6����
��� ������� S1�
F���4���7 ��� �����	6� ���:	 �� �����

������ �9������	; �� 
�����>7

�����6���� ��� S1�

• F9������	��	 �������	 �	 >�	���� ������ 8����5� ����5� �	�>�������
�� ������� S1�

Rmax
1 = g(N1). 10�)$2

 ������� ��� 6����6���� 
�����>7 �����6���� 
��������� 
��	� S1

� 
���
���
� 9�� ��6
���
�	 ��� �� � �������� 
��	� ��	���� ����4
�	���6������ 3�	 6�:	 ��� �����7 
��	�������	 
��	� :��	� 
�����54�
P��	�	�
�	 ���� ��� ������ ���� 
�����54 ����:� ��� �� �	9� �9������	����
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c)

���
�	� 0�D� E������	��	 
�����>�� �����6���� ����9����� 
��	� 
������4�
�
����	 � ���>�� 0�'�& � 
�4����	 Φθ ⊗ I � ���	:��>�� �� >�	���	� ������
8����5� �� 
:���	 ����4
 ��� ������� N2� �2θ = π/4, N1 = 106I �2 θ =
0.2, N1 = 106I �2 θ = 0.5, N1 = 103�

• F9������	��	 �������	 �	 >�	���� ������ 8����5� �� ���>��
 ����4
 Φθ�

RΦθ
1 = g(sin2 θN1 + cos2 θN2). 10�)&2

F����� ��� ��� �� ���
���� 9�� ������� S2 ��	 6�:	 ��������7 �	 �
��,
����� 
�6����� �	�>���6� ����45� Φθ ���� I� @��9������ �	9
���������

�����>�� �����6�����

 
���
���
 �����6���� ����5� 
���
������� 6
��� ��7 �
	4����	 ���
�9������	���� �������� ���� R1 ≤ min(Rmax

1 , RΦθ
1 )�

3� ���� 0�D ����������	 �	�� ���������	 
�����>�� �����6���� ����9�,
�	� 
��	� ������� S1 � ���	:��>�� �� �9������	; N2 �� 6�� �����
�� ���
������� S2� ��� �5:���� 
���6	��5� ����4
 Φθ� ���� 0�D��2 
����
�	� :	
����� �
�������� ���� ���	:� 
���	>7� ��� ���	6��������7 4�6���	 ������ ��,
�����>��� �	�� ��>7 6�4��  ����
�����	 	8	��
 ���	:� �����	 �� �9������	;
�� 6�� P ���� 
���6	��5� ����4
� �� ����7 �� ���� 0�D��2� E6���� 
���,
6	��
 θ 
������� �� ���
����� 9�� 
��� ������ �9������	����� P 	8	�� ��	
�����

�	� ���� 0�D��2 
��	������� ���������	 
�����>�� �����6���� � ����,
���6 ����	��	 N2�  ����6� �� ��6� :	 ��� 6�4��� N2 ���������	� 	8	�����	
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�
�>�5� 
�	�	��������� 
��	�>7 �������	 �	�� � �����6���� ��
6�������
����5� >��>�������� F��	��
�	6� �
��� �	���� �������� �����	��� , �����>7
RSPL ����9� 6����6
6 ��� 
	��	9� 
����6
 �
�������� G����� ������ ���>��
�
������� ���:	 ��� �	 ������	6 ��6���� �
������� �	 >���������	6 
������
�����6���� 
��	� Φθ� � �� �� ��6 ����	� ���� ���>����� ����	 ��� ����� ������	�
�
������ �	 ����	6 6��
� �� ��5�	9� �������� ��	 6� �����

� ��������
�� �� ������
 ��
6
 � �
���
 
�����>�� �����6�����  
���
���
 �����6����
�	���6������� ����5� >��>������� ���
���� 
�	�	��
�	 ��� �����	�� K
���� �
9������ N1 → ∞� N2 → ∞� 
�����>7 �����6���� RSC ����:� ��� �� 9������
Rmax

1 � ��� �����4� �� 
������	 � 
���� *(0-� E�
��:6�� :	 �� 
��	�>��	 ��,
6�9� 
	��	9� 6���6���	9� 
����6
 >��>������� ��� 
��	������7 
�����>7
����9��� ��� �����6���� ����5� �
5����� � ���4�� >��>������ 
����	��� :	��
����:�7 ��� �� Rmax

1 � � 
��5�����
 � 
������4	6 ���������
����6 �����
�
�����	 �	�� �
:��

��� ��
�6����� �	 ����
�	 �� ���>�� 0�'�$� ����4 Φθ ���	�
���
�	 � ���,
������6 
��	�>��	6 �� �	�	��6
������� >����4������	�� 9���	 6�:	6� �
�,
���7 ��� � �����

����6 ��	����
��	6� 
	��� 9�

� ������5� ��
54���	��
������ >����4�������� �� ��5�	� 
���4������ ����	 ������	 9	�	������ ����5�
�
5����� *&D� 0C-I ������� 
���
�� �� ��6 ��6�6 6����	I ��
54���	����
������ �������������� �	�� �� �	�����	�
����	� �����6���� �� ��
5��	9�
��������� �������4� �
���	 � ����� >��>����	 �	��� � ��
6����	 6�9� ���
�,
����7 ���	 ��	�
��� ������
 � �	�	��6
������� >����4������	� 
��� ���6�
�	 ��9���
 �� ����� >��>������� 4����	���	 �����	 ��� 
��	�>��	 ���������
���	
��
6����	 ����� >��>����	�

��#�� &�(��
�  %��� � ����

�	
, �	����������
�


.�
��
 ���
����


 �	� ���>�� 
��	��������� �������	 ����4 Φ 
���������� ���	�����7 ��
�,
6�9��	 �
������	6 4�6���	 ������ �������>��� ��5�	9� ������� �	��� �	���
�������� �� 
�	����� ��
� ���� �����9�� �� ���	6��
 9���	9� ��������� �
�6�	����� ���94���� ?��	6�� ����4
 Φ �����
�	 ��� �� ���� 0�C� ����4 ��4���
��� � 0 �	�>7 �	���6������� � �	��	9� �	���6����	9� ���>����  	�>��� AX

� AP �� �����������	 
��	� ������� S1� ����6���� �	�>��	 A2 
��	� �������
S2� ����4 �	����
�	 
��	�����4�	��	� Φ (ρXP ⊗ ρ2) = ��X,P

[
U(ρXP ⊗ ρ2)U

†]�
9���	� U = exp [−i (xXp2 − pPx2)]� ��5�	 � �	�6����� ���	������ ��������,
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��
-��0

50:50

AX

AP

A’
ψ

r

U

A2

���
�	� 0�C� J
���� ����4
 Φ ���� ���O9
����� 
���������� ���	�����7
��
�6�9��	 �
������	6 4�6���	 ������ �������>���

���� 6� 
����7� ⎛
⎜⎜⎜⎜⎜⎜⎝

XX

PX

XP

PP

X2

P2

⎞
⎟⎟⎟⎟⎟⎟⎠

�→
(
X2 +XX

P2 + PP

)
. 10�)02

K	�������� �	�������� �
	������ U � �����	 Φ ���
�	 �� ��������	 ���	��
���6	� XP 1��� ���6	� �����
������ 
��	�����4�	���� (x1, p1, x2, p2) �→
(x1, p1 − p2, x1 + x2, p2) 2 *$%-�

U = exp[−i(xXp2 − pPx2)] 10�))2

= exp[
i

2
xXpP ] exp[−ixXp2] exp[ipPx2]. 10�)'2

J��6�� XP 6�:�� �
�����6���7 � �
����
 � ����� >��>����	� �	�	���� ��,
6������� � �
���� �������� ?��	6�� �
�����6���� 1����� 
�� ����� ��9�
6	��
�	6	��,���
�	� XP 9��	2 �����4 
����� � 
���� *)%-� � ������ 	��
	,
��6	��5� ����������� ��� �� 
��	��������	9� ��6 
��	�>��� 6�:�� ����	N7
� 
���� *()-�  �	� ���>�� �����	6� ���4���7 ��	��� �	�������� ���6�� XP
���4������ �� ���>�� 0�'�) ������� �
4��
 �� 
��	6��>7 ����4
 ���	�����4,
�	; ���������� � ��	�������� �	�������� �	� ���6���
E��6���7 ��� �����	6� ��� �����	 ��	����
��	6� � ��5��6 ������� S2

6� �����
 �� ��������	9� �	���6����	9� ����4
 ��	�������>����	9� I�
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��	� ��5�� ��6
���
�	 ��� � ��������� P��	�	�
�	 ��� ����� 
�����>�� �����,
6���� ����9��	 
��	� ������� S1� 3������ S1 
��	��4� ����� AX � AP �	�,
��6����	 ����� 
�5:�� >��>����	 ��
���	���� ��9� ���	������ ������������
X � P � G�� ��
 ����	 
���6	�� >��>������ ������ R� 3������ S2 
��	��4�
�����6� A2 � A′ ��
6����� ���� >��>����� |ψr〉〈ψr| � 
���6	���	 >��>������
r� S1 ���
�	 ��6
����� ��������� � 
��	�
�����	 X � P ����5� 
��	��4�,
���� ��
���	���� �����6� AX � AP � �������	 ��� � ���>�� 0�'�$ 6�6� �
���
�� �����	��� � ��8��	�	6 6��
�������6� ������	6� ���� �� 
������ 6���	,
��� ����������� ��9��4
 Y ���� 6���	��� ����������� γ 6��
�����	9� ����

�	�>����	9� ��� 
�4��
 Φ⊗ I�

Y = diag
({

2σ2
we, 0, 0, 2σ

2
we

})⊕ diag ({0, 0, 0, 0}) 10�)D2

γ = γSC−X ⊕ γSC−P ⊕ γSPL, 10�)C2

9���	 γSC−X , γSC−P �� 6���	��	 ����������� �	���6������� ����5� 
�5:��
>��>������� ��
���	���� ��9� ���	������ X ���� P � γSPL �� 6���	�� ����,
������� ��
6����	9� ����
 >��>����	9� � σ2

we ���	>�� ��������� 
��	�
������
�����6��������� ����5�� =���	��	 ����������� ��9��4
 ���� ��
6
 �� ���,
>��
 Φ⊗ I 6��� 
����7�

YΦ⊗I = diag
({

2σ2
we, 2σ

2
we, 0, 0

})
10�)/2

γΦ⊗I = γSPL + diag
({
e−2R, e−2R, 0, 0

})
. 10�)(2

 �����
 
�6���
 J	��� �����6
�	6��

ỸΦ⊗I = diag
({
σ2
we, σ

2
we

})
10�'%2

γ̃Φ⊗I = diag
({
e−2r + e−2R/2, e−2r + e−2R/2

})
, 10�'$2

�� 
������� �� 
�����>�� �����6���� ������� S1 � 
�������

R
(1)
1 (Φ⊗ I) = log

[
1 +

σ2
we

e−2r + e−2R/2

]
. 10�'&2

U���� ��
��:�7� :	 ��� R → ∞ �����6
�	6� 8��6
4� �
��
���� 
�����>7
�����6���� � ���	6���	 9���	9� ���������� F9������	��� P �� >�	���� ������
8����5� 
���
��������� �� 
:���	 ����4
 
����6
�	6� � 
�������{

S1 : σ2
we + 2 sinh2R ≤ N1

S2 : 2 sinh2 r ≤ 2N2
10�'02
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a) b)

Q

Q

���
�	� 0�/�  
4�� �
������� �� 
�����>7 �����6���� ��8��6���� ��������	��
�2 ���������	 Q = R

(1)
1 (Φ ⊗ I)/R(∞)

1 (Φ) � ���	:��>�� �� �9������	��� P
�� >�	���� ������ 8����5� �� 
:���	 ����4
 ��� ������5� S1 � S2� �2 �����	
����	�
 �2 ��� N1 = 100�

R
(1)
1 (Φ⊗I) ����9� 6����6
6 
��� �9������	����� 10�'02 ���� 2e2R = −e2r +√
e4r + 4e2r(N1 + 1) + 4� 
��� ���6 �������� sinh2 r ≤ N2� =����6
6 ��
�����	6� �������7 
��	� Rmax

1 (Φ⊗ I)�
���5���6� �	��� �����>7 Rmax

1 (Φ ⊗ I)� 
������	 ��� � ���>�� 0�'�$� �
95���6 �9������	��	6 �� 
�����>7 �����6���� R(∞)

1 (Φ)� ����6 
��	� 6����,
6���� 	����
�� g(Nmax) ����
 � >�	���	� ������	 8����5��

Nmax =

(√
2N2 +

1

2
+
√
N1 + 1

)2

− 1

2
. 10�')2

 ����>7 Nmax �	�� 6����6���� >�	���� ������ 8����5� �

��������� ����4

��� �9������	����� 10�'02 � ������ �	�
�>�	���� � �	����� 10�)02� ���� 0�/��2

��	������� ������ Rmax

1 (Φ ⊗ I)/R(∞)
1 (Φ)� 3� ���� 0�/��2 �����
�	 ��� �����	

������
 � ���>�� �2 ��� N = 100� =�:	6� ��
��:�7� :	 	8	�� ��������� 
�,
����� ��� ��� N2 > 0.63� �� ��
������ >��>�����
 ����
 ��
6����	9� ����

6.33dB� 3� �������	��	 ����
 >��>����	9� � 
���6	���	 >��>������ 12.73dB�
������� S1 ���������
�	 4.21 8����5� � ��:�	� ������ 3� ��;�
 
��	����4
�
���� ��� N2 = 6 1>��>�����	 ����
 14.15dB2 ������� S1 �
:��� �� 
���9���,
����� ����5� >��>������� 9.45 8����5� � ��:�	� ������
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 �����, �
� �
$��� �� �����������)
2

�	���������	 6��	�	 
�4��5� 	��
	��6	��������� � ��5���� 
����4 �����
B�
�������	 ����4� ��	�������
���� 
������ 
��9������7 �	�������	 �9��,
����	��� ������������� ��6 	�	6	��5� �
�������� ���� 
���������	 ��� 
��,
���� �����6���� ���45�	���� .�����
��� ����9��	 � 	��
	��6	���	 
�����>��
�����6����� ���	:� ���5��7 
��9� 6���� �� ����	 ��9����	��� ���� ������ �� 	�	,
6	����� �
��������� �9��������� ���4����>7 �	�������� ���6	� ����������
1� �����6 
���
���
 ���6	� XP 2� ��
6 �	�6����� �
��������� 
��	�
N�5�4� ����5� ��������� ������ � ��
6 ���������	 ��	�������4�>�� 8����	,
�	����5� ���� ��
6 
��������� 
������ �����6���� >����4� �� � � �����	9�
����4
 B�
�������	9��  �	� ���>�� �����	6� ���������7� ��� ��6�	����	
��:	� �������� �
4����� �� 	8	�� ��������� � ��	����
����� �
������� �
���>����� 0�'�$ ���� 0�'�0� ������� �� ��6 ���	>��7 ��6�9���� ��������	 ��,
�4����>�� �
����
 
����	��	9� �� ���	������ 	8	��
� E�����	6� �� ����
���
	��
	��6	�����	� �	�������� ����4
 Φ �
��������	9� � ���>�� 0�'�0� E���,
���6� �
� ��� �9��������� ���4����>7 �	�������� ���6�� XP 
������� ��

�������� ���45�	;�  �����	� ���>�� ���6�	6� ��� ������	� �95���6 6��	,
�	6 ��
6
� ��������6 � ����4	6 �	�6�����6 1
���� ��� 1$�$%&22� � �����

��	9� 
�����6� ���	 8��6
4� �� 
�����>�� �����6���� ������� S1 ��� 
�4�,
�5� Φ⊗ I ���� Φθ ⊗ I�
�����	6 
��	6��>�� ��������	� ���������� ����45� B�
��������� �
��,

����������� ��
6 �	�� ��
���� 3�	 �� ����	 ��	���	 8��6
4� �� 
��	6��>7
��������� ���	� ��� ��� 
����������� 
���
���5�� ��� ����4 �	�6������
3�	 �����6� �5���	:� ��� ����� B�
�������	 �� � ��6 
���
���
 �
��,
6���� 6�	������� ����5� �	�>�������� E �	9� 
����
 ����	���	 �����	 
�,
�4
9�����	 ��� ��>7 9�
��6 ����������	6 �� 
�����>7 �����6���� ��� ����5�

���
������� ��������6 �	 >�	���� ������ 8����5� �� ���>��
 ����4
 1
�,
�5���� ��� 10�)&22�  ��	��������>�� 6�:	 ��� �����7� :	 	8	�� ���������
6�:�� ���	�����7 �5���	: ��� ������	9� 
����6
 ��
6
 � ����� ���� 
���
6��	����6 
���6	���	 >��>�������

����4 Φ 6�:�� ��
����7 � �
����
 � 3 ���6�� XP 1
���� ��� 10�)'22�
����:	� ����������� �����	 �
�����6���� ���6�� XP �
����� � 
���� *)%-
1��9� 6	��
�6	��,���
�	� XP , XPMI2� �	�������� ����4
 Φ 
��� 
:���

���6	� XPMI ��������� �����	 
��	� ΦMI �

K����8��6���� ���	������ ������������ 
��	� ���6�� XPMI �
����� �	��



���� 
!���4 �-
�������!5 6 �"�-! �-!����#� � -���/��0 7�5

��
-��0

8��6
4�6��

Xwy
1 = Xwe

1 −√
αX0 −

√
βXA, 10�''2

Pwy
1 = Pwe

1 − 1− T√
T
Pwe
2 +

√
α/TP0 +

√
TβPB, 10�'D2

Xwy
2 = Xwe

2 +
1− T√

T
Xwe

1 −
√
α/T p̂0 +

√
TβXA, 10�'C2

Pwy
2 = Pwe

2 −√
αP0 +

√
βPB, 10�'/2

9���	 α = (1−T )(1−η)/(1+T )η, β = (1−T )/(1+T )� X0, P0 �� ���	�����	
���������	 6�	����	 �� ������� 
�6��������� �������� >��>�����6� �����6�

�5:�� � 
���6	���	 >��>������ s� θ �� 	8	������>7 �	�	���� ��6������	�� G��
T = 1

2

(
3−√

5
)
���� s→ ∞, θ → 1 ����� 10�''2,10�'/2 
��	������ �⎛

⎜⎜⎝
Xwe

1

Pwe
1

Xwe
2

Pwe
2

⎞
⎟⎟⎠ �→

⎛
⎜⎜⎝

Xwe
1

Pwe
1 − Pwe

2

Xwe
2 +Xwe

1

Pwe
2

⎞
⎟⎟⎠ . 10�'(2

G��	� ���4���7 �����	6�� :	 ���45�	��� �
��������	 
��	� 	�	6	��� �
����
������	� �� 
�6������	 6�4	 � 
��5�����
 � ��6�� ��5�	 �� �������	 � 	8	�,
�����>��� 
�6���
 ��6������	9� ���� ���;�����6 >��>�����	6 ����5� 
�,
6����������
J��6�� XPMI 6�:��� � �
����
 � 10�''2,10�'/2� 
��	������7 ���� ����4

B�
������� ΓXP �
����� 6���	���6��

X =

⎛
⎜⎜⎝

1 0 1 0
0 1 0 0
0 0 1 0
0 −1 0 1

⎞
⎟⎟⎠ , Y =

⎛
⎜⎜⎝

σ2
1 0 0 0
0 σ2

2 0 0
0 0 σ2

2 0
0 0 0 σ2

1

⎞
⎟⎟⎠ . 10�D%2

����:	� σ2
1 = α+βe−2s, σ2

2 = α/T +βTe−2s� .
�����6���� ����	 ��� ��	����
� 9������ θ → 1 ���� s → ∞� G�� 

������	��� �����	6� 
����6���7� :	
��������	 ���6�� XPMI � 
:��	 �� �	�������� ����4 Φ� ����4��� � �
����
 �
�	� ��6 �	���� 
���6	��5� θ � s�
?�4������ �	 ���� ����4� ΓXP �9����	 �	 ���	6��	6 ����4
 Φ �����6
,

�	6��

ΦMI (ρXP ⊗ ρ2) = ��AX ,AP
[ΓXXPP

◦ ΓXXP2 ◦ ΓPPX2(ρXP ⊗ ρ2)] . 10�D$2
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P��	�� 
��� �����	 Γ ������� ������4�����	 �	��������	 
��	� ���6��XPMI �
3� �	� 
�������	 ����7� :	 ����4���	 ����4
 ΦMI ����:��	 � �	�6����� 6�,
��	��� ����������� ���

φMI(γ) = φ(γ) + σ2
XP I, 10�D&2

9���	 σ2
XP = σ1 + σ2� σ2

XP 
��9������ ��4��� 
��������	 �� ���6	� �	����
,
������ ������4�����	 xXp2 ���� pPx2� ����4 ΦMI 6�:�� ���	6 
��	������7
���� �4�:	��	 ���9�����	9� ����4
 Φ � ����4	6 Φcl �
�����������6 ���,
������ ��
6 B�
������� � 6���	��� ����������� σ2

XP I 1
���� ��� 1$�$%$22�

ΦMI = Φcl ◦ Φ. 10�D02

�����

��� �����9�����	 ��� � ���>�� 0�'�0� �����6
�	6� 8��6
4� �� 
�����>7
�����6���� ��� ������� S1 � 
������ 1
��5���� ��� 10�'&22�

R
(1)
1 (Φ⊗ I) = log

[
1 +

σ2
we

e−2r + e−2R/2 + σ2
XP/2

]
, 10�D)2

9���	 R � r �� 
���6	��� >��>������ 6��5� ���	:����� ��
���	���� �� �����,
�5� S1 � S2� σ2

we ������ ��� �� >�	���	� 6��� �
:��	� �� ��������	�
E��6�	6� ��� �	��� �
4��	6 �9������	; �
����
�� 
�6�����	� 1	8	����,

��>7 �	�	���� ��6������	�� ��
6 ��	6��2 ���� ����� �� 	�	6	����� �
����,
�����  ��6 �	�
 ���������6� �	 ����������	9� 
��	�>��� 1
���� *'-2� ��5�	

��	9� �� ��6� :	 
��	� ��:�� ��	���� �	�	���� ��6�������� �����

����
� ������6 
�4����	 1
���� ���� 0�C2 �������6� ����4� �	�6����	 1
����
��� 1$�$%&22 � �����6������� T = cos2 ω ���� >�	���	� ������	 8����5� �
�����	 �	�6�����6 NT � ����4 ���� �
������� �� 
�4��
 >�	���� NT sin2 ω
8����5� ��
6
� E������6� �	����	� :	 �	�����	 ��
6
 
���������	9� ��� �
�5:���� 6�	������ �����	9� 
�4��
 �� ����4
 �	�6����	9� 6�:���	 �	�� �	
��9���
 �� �������>7 ����4
 Φ ���� ���� ���	����� 6����� ��
6	6 ������,
��6 � ��:���� 6�	������ 
�4��
�
 ����
��� ������	��� 
�����	 �� ���� ��5�	 �
: ������>6�� ������	6�


�����>7 �����6���� ��� ������� S1 � 
�4����	 Φ ⊗ I 
��� 
��9�����	��

��
6
�

Rszum
1 (Φ⊗I) = log

[
1 +

σ2
we cos

2 ω

(e−2r + e−2R/2) cos2 ω + (1 + 2NT ) sin
2 ω

]
, 10�D'2

9���	 R� r � σ2
we 6��� �����	��	 ��� �	 �����	 10�D)2 ����6���� NT ����

T = cos2 ω �� 
���6	��� ����4
 �	�6����	9��
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���	��������� �
 6��	� ��
6
 � �����������
 �� 
�4��
 Φθ⊗I 
�������
���

Rszum
1 (Φθ ⊗ I) = log

[
1 +

σ2
we sin

2 θ cos2 ω

(cosh r − cos θ sinh r)2 cos2 ω + (1 + 2NT ) sin
2 ω

]
,

10�DD2
9���	 θ �	�� 
���6	��	6 ����4
 Φθ�
���� 0�( 
����
�	 ���������	 Rszum

1 (Φθ ⊗ I) ��� N1 = 1000 � θ = 0.25
� ���	:��>�� �� ������ 8����5� � ��
6�����6 �����	 >��>�����6 ��� �5:,
���� 
���6	��5� NT � ω�  ����>�� 
���6	��5� N1 ���� θ ������� ���� ���
�6���6�������7 
����6 >��>������ ����	���� �� 
�������� 	8	��
 �

	�����,
�����>�� 1
��5���� ���� 0�'2 ���� 0�(��2 
��	������� 
���
���� NT = 0 ����
Tω = 1; 0.95; 0.9; 0.85 < �����

�	 �
��� ����� �4
6�	��	� ������>7 �����6�,
��� Rszum

1 (Φθ ⊗ I) �����4� �	�������� � �9������	��	6 ��������6 �	 >�	����
������ 8����5� �� ���>��
 ����4
�

RΦθ
1 = g

(
cos2 ω(sin2 θN1 + cos2 θN2)

)
. 10�DC2

 ����6�� :	 �
: ������ ����
 85% 
������� �� �����
 	8	��
 �

	�����,
�����>��� ���� 0�(��2 
��	������� ���������	 8
����� Rszum

1 (Φθ ⊗ I) ���
Tω = 0.95 ���� NT = 0; 2; 10; 20� A8	������	 �� ����
 �
�����	9� �������	
�	�� 0; 0.1; 0.5; 1 8����5� ��
6
� ������>7 �����6���� �	�� ������ ���:���� ��
�	� ������ ���45�	;�
���	����
�
�	6� �	��� 6�:����>7 	��
	��6	�����	� �	��O����� 	8	��
 ��,

������� � ����	�>��	 �����
���� ��	���	 >����5� �	���������� *'� /D-� G��

�6���
 ��6������	9� 
����6���7 �����	6� 	8	������>7 �������� � ���,
��>�� η = 99%� ���� 
����6 ��
6
 ��	6�	9� � 20dB 
���:	� 
����6
 ��
6

>�
���	9� ������	9� ����������� V�	���� ������ 8����5� 
���
������� �� �����,
6���� N1 = 1000 
������ �� ������� �
�����6���� 
�6���
 ��6������	9�
1>�	���� ������ 8����5� � �����	 
��������	� �� ���������� ������	9� ������
�����	 4·1062� 3��������	 �������	 ����� �����>7 >��>�����	 �	���6����	9�
����
 
�5:�� */D- �	�� ����
 10 �J 1��
������ �� >�	���	� ������	 8����5�
2.0252�
E�����	6� �� �65��	��� 
�4��
 ΦMI ⊗ I � >��	��	 �����5� ��
����,

������ � 
���� *()-� G� �	�������� ���6�� XPMI 
��4
:��� ��� ��6 ���,
��6� >��>�����6� � >��>�����
 ����
 5.6dB ���� �	�	�����6� � 	8	������,
>�� �������	� 98%�  �	� �
��5� 
������� �����>7 ��
54�������� TP =

�B
����� '
�. � �� 
 ��������' ������	� ��������
�	 ���� �� ��������� � ������
��� �� 
������ 	�
����� .���� ��� ������+� �������������� 	����������
�	� 3�����
����
�
����
� �� �������� η = 99% '��
�'	� 
� ����� ��� �������� >�A�
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4

6
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NTh=0

b)

NTh=2
NTh=10

NTh=20

���
�	� 0�(� ������>7 �����6���� Rszum
1 (Φθ⊗I) ��� N1 = 1000 � θ = 0.25� �2

���	:��>7 
�����>�� �����6���� �� �����6������� Tω ����4
 �	�6����	9�� 
���,
��>7 �����6���� 
��5��
�	6� � �9������	��	6 95���6 �� 
�����>7 �����6�,
��� ����5� 
���
������� RΦθ

S1
= g

(
cos2 ω(sin2 θN1 +cos2 θN2)

)
I �2 ���	:��>7


�����>�� �����6���� �� >�	���	� ������ 8����5� � �����	 �	�6�����6 NT ���
T = 0.95�
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SNRwy/SNRwe = 0.4� 9���	 SNRwe(wy) �	�� ������	6 
����6
 ��9��4
 ��
��
6
 ��� �	�>����	� ������ ��9��4��	� (xwe

1 , pwe
1 ) ���� ���>����	� ������

����N���� (xwy
2 , pwy

2 )� �����6 ��
6
 �
��������� 
��	� ���6�� ������ σ2
XP =

5�  ��������� �� �����>7 �� ����
 10�D)2 ���� 
��5��
��� 
������� ��,
��� � �9������	��	6 ��������6 �	 >�	���� ������ 8����5� �� ���>��
 ����4

1
���� ��� 10�')22 ��	 6�:	6� ����	����7 �����
������ 	8	��
 ���������� E
��
9�	� ������� �����������	 ����5� >��>������� � >��>�����
 10dB �	��	����,
��	 
������ 
�����7 �����>7 σ2

XP = 0.098�  �	� ���
���� 	8	�� ���������
�����

�	�
J�����	� �
��6�������	 
��	������� ��� ���
���� ��� 
�4��
 Φθ⊗I� �����,

6
��� �	���������� 
����6 ����� � 
�4����	 ����
 5% ���� 
���������	 ��:	�

���6	��� �	�	����� ��6������	9� �����6
�6� cos2 ω = 0.94, NT = 0.09�
G�� 
�4��
 � 
���6	��	6 θ = 0.25 	8	�� ��������� 
������ ��� �
: ��� >��>���,
��� ��
6����	9� ����
 7.8 �J 1>�	���� ������ 8����5� � �����	 >��>�����6
������ 2.12� ������� �� 
���

�����7� :	 �����	�	 ��	���	 6�:����>7 	��
	��,
6	�����	� �	��O����� 4�6���� ������ �������>�� 
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